# Agricultural Statistics

# CROPS AND LIVESTOCK of the STATE OF COLORADO 1932

With Revisions for 1931



BULLETIN No. 90

December, 1932, and February, 1933

# THE COLORADO CO-OPERATIVE CROP REPORTING SERVICE

United States Department of Agriculture

Bureau of Agricultural Economics (Division of Crop and Livestock Estimates)

Nils A. Olsen, Chief, Washington H. L. Collins, Agricultural Statistician, Denver

J. T. Paulson, Assistant Agricultural Statistician, Denver

#### In Co-operation with

The Colorado State Board of Immigration Division of Agricultural Statistics

Edward D. Foster, Commissioner

Tolbert R. Ingram, Deputy and Statistician

Board Members: The Governor, Ex-Officio; Fred M. Betz, Lamar Thomas Lytle, Montrose; Neil W. Kimball, Golden

#### TABLE OF CONTENTS

Page
General review of 1932 crop season, production, etc 3- 6
United States crops; acreage, production and value, with Colorado's percentage of national totals
Farm value of crops, by counties
Acreage, production and value of all crops, 1932 and 1931
Per cent of harvested area devoted to principal crops 14
Percentage of crops grown with and without irrigation
Average yields of principal crops for five-year period
Acreage, yield and production of individual crops, 193217-29
Number and size of farms, and farm tenures
Detailed acreage of crops harvested in 1932
Average annual prices received for farm crops32-33
Number of farms reporting principal crops
Farm value and gross and cash income from farm crops, $1927-193235\cdot 36$
Carlot shipments of farm crops
Estimated price received for farm and livestock products, by months38-47
General review of livestock situation January 1, 1933 48
Cattle and sheep feeding and wool production49-50
Creamery butter production and corn and hog ratios
Colorado livestock assessment totals, 1910-1932 52
Stockyards receipts of Colorado livestock
Numbers and value of all Colorado livestock. 54-64

#### COLORADO AGRICULTURAL STATISTICS FOR 1932

Value—Colorado farm crops produced in 1932 are valued at \$39,719,000, compared with \$59,823,000 in 1931, and \$124,442,000 in 1930, according to the annual crop report of the Colorado Co-operative Crop and Livestock Reporting Service. This valuation is placed on the total production of all crops and based upon annual prices secured by weighting monthly prices to growers by estimates of monthly marketings.

Production—Yields in 1932 in Colorado were uniformly lower than in 1931, and this together with the general decline in prices resulted in the very low valuation of 1932 crops. The total acreage harvested in 1932 was 5,898,840 acres, or 87.5 per cent of 1931 and 81.7 per cent of the peak acreage harvested in 1930. The acreages of corn, spring wheat, sorghums, broomcorn and hay crops were larger than last year, with a reduction in the acreages of winter wheat, oats, barley, rye, dry beans, potatoes and sugar beets. Crop production in 1932 was 78 per cent of the short 1931 production and only 46 per cent of 1930. Of the important crops only spring wheat, tame hay, wild hay, apples and peaches show a larger production than the previous year. Truck crop yields were generally higher than in 1931.

Weather Conditions—During the 1932 crop season, weather and irrigation water conditions were comparatively favorable over the western half of Colorado and nearly all crops in that area made average or above average yields. Yields in eastern Colorado the past two seasons have been very low and in direct contrast with 1930, when crop production was the largest on record. During the year 1930 Colorado had unusually abundant rainfall and all previous rainfall records were broken for the months of July and August combined. The drouth which started early in 1931 continued during the entire 1932 season. In addition there was an extreme deficiency of irrigation water east of the mountains for the second successive year. This general moisture shortage, together with high temperatures at critical periods of plant growth, resulted in the abandonment after July 1 of about 26 per cent of the planted acreage and reduced the yield per acre of all crops to the lowest on record. Abandonment of corn was 28 per cent, barley 40 per cent, oats 34 per cent, dry beans 39 per cent, spring wheat 32 per cent, and potatoes 17 per cent.

Review of 1932 Crop Season-Winter wheat and rye were seeded in the fall of 1931 on loose, dry and poorly prepared seed beds. Germination was slow and these crops went into the winter in relatively poor condition. Precipitation during the winter and spring months was below normal and by May 1 it was apparent that abandonment of winter wheat and rye would be unusually heavy. This liberated a large acreage to be planted to corn, grain sorghums, millet, spring wheat, barley and other crops. The drouth continued over the entire plains area of eastern Colorado until the close of the year. Unusually high temperatures and extreme shortage of irrigation water also prevailed east of the Continental Divide. The condition of all crops declined rapidly. Abandonment of crop acreage was heavy and the final harvest returns were the lowest in the history of Colorado agriculture. The fall weather conditions were favorable for maturing and harvesting of late crops. The drouth was unusually severe in the central counties of eastern Colorado. In some areas crops were nearly a complete failure. Range feed is very short and supplies of hay and feed grains carried over from the previous year are nearly depleted. Farmers are being obliged to practice strict economy in feeding their livestock. feed has been shipped into the deficit counties and in a number of cases livestock has been moved to nearby areas where feed is more plentiful.

The estimated number of livestock in Colorado on January 1, 1933, compared with January 1, 1932, shows an increase in the number of milk cows and heifers kept for milk, no change in all cattle and calves and a decrease in the number of beef cattle, all sheep and lambs, sheep and lambs on feed, horses and mules. Colorado livestock on January 1, 1933, were valued at \$46,116,000, compared with \$60,242,000 on January 1, 1932, and \$97,815,000 on January 1, 1931. Although there was only a 4 per cent reduction in the total number of livestock units during 1932, a much greater drop in prices has caused a drastic reduction in value of livestock on hand on January 1, 1933.

Hay—Hay ranks first among Colorado crops in value. The 1932 total value was \$13,602,000, compared with \$15,104,000 in 1931. The 1932 tame hay crop was appreciably above 1931, but below the five-year average production. Yields were fairly satisfactory in the western half of Colorado but were sharply reduced by shortage of irrigation water in northern Colorado and the Arkansas Valley. The 1932 tame hay crop, consisting principally of alfalfa, timothy, clover and millet, was 1,830,000 tons produced on 1,274,000 acres, or an average yield of 1.44 tons per acre. In 1931, 1,647,000 tons were produced on 1,258.000 acres, or an average yield of 1.31 tons per acre. The five-year (1924-1928) average has been 2,264,000 tons. Wild hay production in 1932 was 329,000 tons on 366,000 acres, compared with 290,000 tons produced on 362,000 acres in 1931. The five-year average wild hay production has been 381,000 tons.

Sugar Beets—Colorado continues to rank first among all states in sugar beet production, although the 1932 crop was the smallest since 1925 as a result of reduced acreage planted and shortage of irrigation water. The 1932 value was \$7,966,000, compared with the 1931 value of \$13,774,000. The 1932 crop of 1,790,000 tons was produced on 159,000 acres; in 1931, 2,532,000 tons were produced on 224,000 acres. The five-year (1924-1928) average production has been 2,446,000 tons.

Corn—The 1932 corn acreage was the largest in Colorado history. The increase was due to considerable extent to the large area of abandoned winter wheat land planted to corn. Production in 1932 was 13,363,000 bushels on 1,909,000 acres, or an average yield of 7 bushels per acre, compared with 17,442,000 bushels produced on 1,836,000 acres in 1931, or an average yield of 9.5 bushels per acre. The five-year (1924-1928) average production has been 17,658,000 bushels. The 1932 value was \$2,940,000, compared with \$6,279,000 for 1931. Of the total acres harvested in 1932, it is estimated that 1,373,000 acres were harvested for grain, 476,000 acres grazed or hogged off, and 60,000 acres cut for silage. The yield of corn for silage was 3.0 tons per acre. About 8 per cent of the Colorado corn acreage is under irrigation.

Wheat—The 1932 wheat crop was valued at \$2,257,000, compared with \$5,509,000 in 1931.

Winter Wheat-Winter wheat suffered a heavy loss of acreage from lack of moisture at seeding time and subsequent unfavorable growing condition. Sixty per cent of the 1,218,000 acres sown in the fall of 1931 was abandoned, leaving only 487,000 acres harvested in 1932. This was the smallest acreage since 1917. The 1932 production was 4,383,000 bushels or an average yield of 9 bushels per acre. In 1931, 14,616,000 bushels were produced on 1,218,000 acres, or an average yield of 12 bushels per acre. The five-year (1924-1928) average production has been 15,123,000 bushels. About 96 per cent of the winter wheat harvested for 1932 was grown without irrigation. In the fall of 1932, 877,000 acres of winter wheat were sown in Colorado, or a reduction of 28 per cent from the previous fall. Seeding was completed late last fall and under extremely unfavorable conditions. Soil moisture was hardly sufficient to start germination and a considerable acreage made no growth before winter set in. There was a deficiency of winter moisture, and high winds during early spring months caused considerable drifting of soil. By May 1, 1933, it is estimated 70 per cent of the planted area, or 614,000 acres, had been abandoned, leaving 263,000 acres for harvest. This is the heaviest abandonment of winter wheat acreage on record. Winter wheat condition on May 1, 1933, was 40 per cent of normal, the lowest on record for that date, and compared with 34 per cent on April 1, 58 per cent on May 1, 1932, and 81 per cent, the ten-year (1921-1930) average for May 1.

Spring Wheat—In 1932, 193,000 acres of spring wheat were harvested, with an average yield of 12 bushels per acre and a total production of 2,316,000 bushels, compared with 168,000 acres harvested in 1931, with an average yield of 12.0 bushels per acre, and a total production of 2,016,000 bushels. Of the total acreage, 62 per cent was grown on dry land. The five-year average has been 4,623,000 bushels.

Oats—The 1932 oats crop was valued at \$711,000, compared with \$920,000 in 1931. The 1932 production was 3,384,000 bushels, or an average of 24 bushels per acre on 141,000 acres, compared with 3,408,000 bushels produced in 1931. with an average yield of 24 bushels on 142,000 acres. The five-year (1924-1928) average was 5,506,000 bushels. About 53 per cent of the Colorado oats acreage is non-irrigated.

Barley—Barley production in 1932 was 6,804,000 bushels on 439,000 acres, or an average of 15.5 bushels per acre. This compared with 7,316,000 bushels produced in 1931 on 472,000 acres, or an average of 15.5 bushels per acre. The five-year (1924-1928) average production has been 7,107,000 bushels. The 1932 value was \$1,293,000, compared with \$1,975,000 the preceding year. About 33 per cent of the barley acreage is grown under irrigation.

Rye—Rye harvested in 1932 totaled 25,000 acres, with a yield of 6 bushels per acre, or a production of 150,000 bushels. In 1931, 53,000 acres produced 7 bushels per acre and a total production of 371,000 bushels. The five-year (1924-1928) average production has been 675,000 bushels. The 1932 rye crop had a value of \$36,000, compared with \$85,000 in 1931. A considerable acreage of rye is also used for hay and pasture.

Dry Beans—Colorado produced 320,000 100-pound bags of dry beans in 1932 of which 301,000 bags were Pintos, 12,000 bags garden varieties, 4,000 bags Great Northerns, and 3,000 bags of other varieties, compared with 838,000 bags produced in 1931, of which 789,000 bags were Pintos, 21,000 bags garden varieties, 17,000 bags Great Northerns, and 11,000 bags of other varieties.

The 1932 average yield was 180 pounds per acre on 178,000 acres, compared with 245 pounds per acre on 342,000 acres in 1931. The 1932 value was \$512,000, compared with \$1,173,000 in 1931. In 1932 there were 1,420 acres of beans grown under contract for seed, compared with 2,880 acres in 1931 and 11,000 acres in 1930. The seed beans are grown under irrigation largely in Weld and Mesa counties and in the Arkansas Valley from Pueblo to Rocky Ford. The shipments of beans from the 1931 crop were 1.881 cars. The shipment from the 1932 crop up to March 31, 1933, was 777 cars.

Potatoes—In 1932, 100,000 acres of potatoes with an average yield of 110 bushels per acre produced 11,000,000 bushels. This compares with 101,000 acres, 95 bushels per acre and 9,595,000 bushels produced in 1931. The five-year (1924-1928) average production has been 13,511,000 bushels. Yields were very low in northern Colorado as a result of hot, dry weather and a shortage of irrigation water. The San Luis Valley production was reduced by high temperatures and outbreaks of psyllid potato blight. The dry land potato crop of eastern Colorado was nearly a complete failure because of the extreme drouth. The value of the 1932 potato crop was \$2,750,000, compared with \$3,166,000 in 1931. Carlot shipments from the 1931 crop were 7,529 cars; shipments from the 1932 crop were 7,269 cars up to June 1, 1933. About 82 per cent of the potato crop is irrigated.

Sorghums—About 206,000 acres of grain sorghums were harvested in 1932, with an average yield of 6 bushels and a production of 1,236,000 bushels. This compares with 191,000 acres in 1931, 11 bushels per acre, and a production of 2,101,000 bushels. The five-year average (1924-1928) has been 2,235,000 bushels. The 1932 value of grain sorghums was \$198,000, compared with \$420,000 in 1931. It is estimated that 64,000 acres of the 1932 grain sorghum crop were harvsted for grain and 142,000 for forage. In addition to the grain sorghums there were 142,000 acres of sweet sorghums harvested in 1932 and 118,000 acres harvested in 1931 which were produced mostly for forage.

Broomcorn—In 1932, 46,000 acres produced 4,600 tons, compared with 45,000 acres and 5,600 tons produced in 1931. The five-year average (1924-1928) production has been 4,600 tons. The 1932 value was \$156,000, compared with \$202,000 in 1931. The Colorado broomcorn acreage is concentrated in the southeastern part of the state, with Baca and Prowers counties producing nearly the entire crop.

Millet—About 122,000 acres of millet were harvested in 1932, of which 19,000 acres were cut for seed, and the remainder cut for hay and pasture. In 1931, 100,000 acres were produced, of which about 18,000 acres were cut for seed.

Field Peas—In 1932, 54,000 acres of field peas produced 648,000 bushels, while in 1931 the 49,000 acres produced 441,000 bushels. Nearly the entire acreage is grown in the San Luis Valley. A large part of the crop is grazed or hogged off and some acreage cut for hay and seed.

Seed Crops—Colorado soil and climatic conditions are very favorable for the development of high quality seed crops and their production makes up an important part of agriculture in certain sections of the state. In 1932, 1,420 acres of seed beans were harvested, compared with 2,880 acres in 1931, 11,000 acres in 1930 and 9.000 acres in 1929. Seed beans are produced largely in the

Greeley and Pueblo-Rocky Ford districts of Colorado. In 1932, about 1,600 acres of cucumbers were produced for seed, largely in Otero and Pueblo counties, compared with 2,200 acres in 1931 and 4,400 acres in 1930. About 2,000 acres of cantaloupes were harvested for seed in 1932, compared with 1,800 acres in 1931 and 2,400 acres in 1930. These are produced mostly in Otero county, with some acreage in Pueblo, Fremont and Crowley counties. About 10,000 acres of alfalfa were harvested for seed in 1932, with a production of 25,000 bushels. In 1931, 9,700 acres produced 29,000 bushels. In 1932, 3,500 acres of sweet clover produced 15,800 bushels, while in 1931 the same acreage produced 17,500 bushels. About 2,000 acres of red clover were harvested for seed in 1932, with a production of 6,000 bushels. This compared with the same acreage in 1931, with a production of 9,000 bushels. Most of the red clover and alfalfa seed are produced in the Arkansas Valley, with some alfalfa seed produced on the Western Slope, northern Colorado and a few eastern counties.

Truck Crops—The production of commercial truck crops is an important part of Colorado agriculture. In 1932 it is estimated that 64,340 acres of commercial truck crops were harvested, with a value of \$3,366,000. This compares with 59,520 acres harvested and value of \$6,354,000 in 1931. The Arkansas Valley leads in cantaloupe and onion production, with cauliflower, celery, cabbage, tomatoes, carrots and other vegetables of importance. The San Luis Valley produces large quantities of pod peas, lettuce and cauliflower. The Western Slope area produces onions, cantaloupes, tomatoes and other vegetables. Routt and Grand counties are important in lettuce production. Northern Colorado and the Denver district produce a large acreage of onions, cantaloupes, pod peas, snap beans, celery and other vegetables for market and canning. Information concerning acreage, production and value of each crop will be found on pages 12 and 13.

#### FRUITS

Apples—The 1932 apple crop was 2,294,000 bushels, compared with 2,000,000 bushels produced in 1931. Shipments from the 1932 crop were 1,361 cars, compared with 1,093 cars shipped from the 1931 crop. Delta county produced about two-thirds of the state's apple crop, with production also important in Mesa, Montrose, Garfield, Fremont, Jefferson, Larimer and Boulder counties.

Peaches—The 1932 peach crop was the largest ever produced and is estimated at 1,142,000 bushels, compared with 1,130,000 bushels produced in 1931. The Palisade district of Mesa county produces nearly 80 per cent of the Colorado peaches, with the North Fork section of Delta county of considerable commercial importance. In 1932, 1,741 cars of peaches were shipped, compared with 1,507 cars in 1931. In addition to shipments in straight cars, the movement of peaches by truck, express and mixed cars was heavy in 1932, but less than the previous season.

Pears—The 1932 pear production amounted to 429,000 bushels, compared with 525,000 bushels produced in 1931. Pears are produced largely in the Clifton district of Mesa county, with some production in Delta county. Only 119 cars of pears were shipped from the 1932 crop because of poor quality and unfavorable prices. In 1931, 397 cars were shipped; the record shipment was in 1929, when 1,082 cars were shipped.

Cherries—The 1932 cherry production was 3,825 tons, compared with 2,500 tons produced in 1931. Cherries are produced principally in Larimer, Fremont, Jefferson, Boulder and Mesa counties. Sweet cherries are grown in Delta, Mesa, and Jefferson counties. A large part of the cherry production in Colo-

rado is used for canning purposes.

Grapes, Plums and Small Fruits—The 1930 federal census reported 168,000 grape vines of bearing age and 37,000 vines not of bearing age in Colorado. Grapes are produced largely in Boulder, Crowley, Delta, Fremont, Garfield, Jefferson, Mesa, Montezuma, Montrose and Otero counties. The 1930 federal census also reports 60,000 plum and prune trees of bearing age. The counties of major importance are Delta, Garfield, Jefferson, Larimer, Mesa, Montezuma, and Montrose counties. The 1930 federal census showed 658 acres of strawberries, 973 acres of raspberries and 296 acres of other small fruits. The federal census for 1920 reported 653 acres of strawberries, 600 acres of raspberries and 545 acres of small fruits.

United States Crops—On pages 7, 8 and 9 will be found tables showing the acreage, production and value of the principal crops produced in the United

States

Livestock—Information and tables covering livestock will be found in another section of this bulletin.

SUMMARY OF THE ACREAGE, PRODUCTION AND VALUE OF PRINCIPAL CROPS IN THE UNITED STATES, 1932, 1931, 1930 AND 1929, AND COLORADO'S PROPORTION OF TOTALS

STATES,	1932, 1931, 1	930 AND 1929,	AND COLC	JKADU'S	PROPORTION	OF I	OTALS	
Crop and			***	Price	Walan		ado's Per U. S. To	
Year	Acreage	Production	Unit	Per Unit	Value	Acre- age	Pro- duction	Value
Jorn: 1932	107,729,000	2,908,045,000	Bu.	\$ .195	\$ 567,069,000	1.77	.46	.52
	105,301,000	2,567,306,000	Pu.	.321	824,105,000	1.74	.68	.76
	100,793,000	2,059,641,000	Bu.	.594	1,223,427,000	1.82	1.92	1.55
	97,806,000	2,535,386,000	Bu.	.798	2,023,238,000	1.57	.88	.78
)ats (Grain): 1932 1931 1930 1929	41,224,000	1,247,437,000	Bu.	.141	175,889,000	.34	.27	.40
	39,800,000	1,117,970,000	Bu.	.213	238,128,000	.36	.27	.22
	39,597,000	1,276,035,000	Bu.	.322	410,883,000	.49	1.47	.51
	38,148,000	1,118,414,000	Bu.	.419	468,615.000	.53	.53	.59
3arley: 1932 1931 1950 1929	13,213,000	299,950.000	Bu.	.198	59,390,000	3.32	2.27	2.18
	11,419,000	198,389,000	Bu.	.325	64,476,000	4.13	3.69	3.06
	12,666,000	303,752,000	Bu.	.404	122,716,000	4.66	3.98	3.94
	13,523,000	280,242,000	Bu.	.539	151,050,000	4.50	3.91	3.98
1932	55,177,000	726,831,000	Bu.	.350	254,391,000	1.23	.92	.89
	55,344,000	900,219,000	Bu.	.391	351,986.000	2.50	1.85	1.57
	61,140,000	857,427,000	Bu.	.671	575,334,000	2.54	2.52	2.32
	62,271,000	812,573,000	Bu.	1.035	841,013,000	2.46	2.21	2.05
lye: 1932 1931 1930 1929	3,271,000	39,855,000	Bu.	.225	8,967,000	.76	.38	.40
	3,060,000	32,026,000	B <b>u.</b>	.337	10,793,000	1.73	1.16	.79
	3,543,000	45,481,000	Bu.	.442	20,103,000	2.09	1.38	1.25
	3,054,000	34,950,000	Bu.	.858	29,987.000	2.10	1.46	1.25
1932 1931 1931 1930 1929	1,348,000 1,883,000 2,110,000 1,836,000	10,095,000 12,662,000 13,900,000 12,240,000	100-lb. bags 100-lb. bags 100-lb. bags 100-lb. bags	1.73 2.14 4.21 6.77	17,464,000 27,097,000 58,519,000 82,865,000	13.20 18.16 21.33 20.26	3.17 6.62 19.42 10.94	2.93 4.33 12.92 7.92
'otatoes, <b>White:</b> 1932 1931 1930 1929	3,368,000	356,589,000	Bu.	.386	137,643,000	2.97	3.08	2.00
	3,375,000	375,310,000	Bu.	.463	173,769,000	2.99	2.56	1.82
	3,038,000	333,936,000	Bu.	.910	303,882,000	3.03	5.23	3.97
	2,978,000	329,134,000	Bu.	1.320	434,457,000	3.02	4.46	3.85
ugar Beets: 1932 1931 1930 1929	768,000	8,991,000	Ton	5.10	45,854,000	18.22	19.91	17.37
	713,000	7,903,000	Ton	5.94	46,944,000	31.42	32.04	29.34
	775,000	9,199,000	Ton	7.14	65,681,000	31.23	36.00	34.84
	687,000	7,815,000	Ton	7.082	51,805,000	30.57	35.71	34.94
rain Sorghums: 1932 1931 1930 1929	7,850,000	105,871,000	Bu.	.191	20,221,000	2.62	1.17	.98
	7,156,000	105,214,000	Bu.	.256	26,935,000	2.67	2.00	1.56
	6,586,000	64,416,000	Bu.	.562	36,202,000	2.73	3.63	2.59
	6,131,000	81,041,000	Bu.	.668	54,135,000	2.85	2.27	T.97
weet Sorghums (forage and hay): 1932 1931 1930 1929	2,633,000 2,333,000 1,818,000 1,850,000	3,948,000 3,635,000 2,698,000 3,253,000	Ton Ton Ton Ton	4.04 5.70 9.01 8.92	15,950,000 20,720,000 24,309,000 29,010,000	5.39 6.49 5.67 5.68	2.89 3.41 6.79 5.81	3.40 2.87 4.28 5.21
.ll Hay: 1932 1931 1930 1929	67,117,000	81,788,000	Ton	6.34	513,697,000	2.44	2.64	2.65
	66,138,000	73,436,000	Ton	8.60	637,876,000	2.45	2.64	2.37
	66,416,000	74,310,000	Ton	11.47	819,488,000	2.50	3.13	2.80
	68,605,000	87,308,000	Ton	11.46	948,850,000	2.36	2.98	2.88

SUMMARY OF THE ACREAGE, PRODUCTION AND VALUE OF PRINCIPAL CROPS IN THE UNITED STATES, 1932, 1931, 1930 AND 1929, AND COLORADO'S PROPORTION OF TOTALS—Continued

Crop and	Agresas	Production	T7:-24	Price	***	Color of	ado's Pei U. S. To	Cent
Year	Acreage	Production	Unit	Per Unit	Value	Acre- age	Pro- duction	
Broomcorn:		1						
1932	284,000	33,300	Ton	42.09	1,402,000	16.20	13.81	11.13
1931	295,000	44,300	Ton	44.88	1,988,000	15.25	12.64	10.14
1930	391,000	49,800	Ton	65.60	3,267.000	19.69	20.88	15.92
1929	310,000	47,300	Ton	114.52	5,417,000	20.65	19.45	18.00
Alfalfa Seed:								
1932	275,000	538,000	Bu.	5.41	2,911,000	3.64	4.65	4.40
1931	361,000	839,000	Bu.	7.34	6,158,000	2.69	3.47	2.97
1929	441,000 401,400	1,166,000 982,400	Bu. Bu.	10.75 12.01	12,535,000 11,799,000	4.88 3.24	5.53 5.29	5.04 4.32
Clover Seed (Red and Alsike):					·			
1932	1,087,000	1,688,000	Bu.	4.79	8,086,000	.18	.36	.35
1931	850,000	1,138,000	Bu.	7.27	8,273,000	.24	.79	.70
1930	1,055,000	1,491,090	Bu. Bu.	11.55	17,221,000	.19	.67	.56
1929	1,789,000	2,627,300	ъu.	10.45	27,455,000	.14	.57	.51
Flaxseed:							]	
1932	2,087,000	11,841,000	Bu. Bu.	.861	10,195,000			
1931	2,416,000 3,736,000	11,798,000 21,287,000	Bu.	1.166 1.610	13,756,000 34,272,000			
1929	3,047,000	15,910,000	Bu.	2.812	44,739,000			
Rice, 4 States:								
1932	869,000	39,356,000	Bu.	.392	15,428,000			
1931	978,000	46,012,000	Bu.	.497	22,868,000			
1930	961,000	44,923,000	Bu.	.784	35,220,000			
1929	860,000	40,604,000	Bu.	.995	40,401,000			
Tobacco:								
1932	1,433,000	1,033,330,000	Lb.	.107	110,566,000			
1931	2,016,000	1,604,226,000	Ļb.	.082	131,547,000	<b>-</b>		
1930	2,112,000	1,647,377,000	Lb. Lb.	.129	212,512,000			
1929	1,987,300	1,527,193,000	ш.	.100	285,918,000	<b>-</b>		
Cotton:								
1932	87,589,000	12,727,000	Bale	.0624	897,295,000			
1931	40,693,000 45,091,000	17,096,000	Bale Bale	.0566	483,582,000 659,032,000			
1929	45,793,000	13,932,000 14,828,000	Bale	.1679	1,245,104,000			
FRUITS								
Apples:								
1932		139,156,000	Bu.	.591	82,241,000		1.65	1.17
1931	<b></b>	202,415,000	Bu. Bu.	.652	131,975,000		.99	.92 .54
1930		153,324,000 135,622,000	Bu.	1.022 1.386	156,697,000 187,972,000		.64 1.70	1.36
Peaches:								
1932	l	46 967 000	Bu.	.524	24,244,000		2.47	1.98
1931		46,267,000 76,586,000	Bu.	.562	43,041,000		1.48	1.31
1930		54,199,000	Bu.	.887	48,075,000		1.41	2.30
1929		45,026,000	Bu.	1.326	59,704,000		2.12	2.31
Pears:			_		•			
1932		21,981,000	Bu.	.392	8,617,000		1.95	2.00 2.24
1931		23,346,000	Bu. Bu.	.602 .751	14,054,000 19,250,000		2.25	1.35
1929		25,633,000 21,172,000	Bu. Bu.	1.426	30,191,000		2.83	2.98
Cherries:								
1932		126,020	Ton	44.87	5,654,000		3.04	3.52
1931	<b></b>	110,630	Ton	74.92	8,288,000		2.26	2.11 2.14
1930		114,400	Ton Ton	128.39 160.83	14,688,000		3.06 5.48	4.69
1343		93,130	1011	1 100.00	17,010,000		0.40	

SUMMARY OF THE ACREAGE, PRODUCTION AND VALUE OF PRINCIPAL CROPS IN THE UNITED STATES, 1932, 1931, 1930 AND 1929, AND COLORADO'S PROPORTION OF TOTALS—Continued

				Price			ado's Per U. S. Tot	
Crop and Year	Acreage	Production	Unit	Per Unit	Value	Acre- age	Pro- duction	Value
Grapes : 1932 1931 1939 1929		2,162,000 1,622,000 2,441,000 2,080,040	Ton Ton Ton Ton	13.24 22.40 19.28 27.23	28,625,000 36,333,000 47,062,000 56,639,000		0.02 0.02 0.01 0.02	0.07 0.04 0.04 0.06
TRUCK CROPS  Beans, Snap:  1932 1931 1930 1929	149,960	175,300	Ton	67.82	11,889,000	1.73	2.89	1.43
	168,400	187,300	Ton	86.21	16,148,000	1.78	3.66	2.13
	189,270	214,000	Ton	66.73	14,280,000	2.03	7.72	3.20
	159,420	199,500	Ton	101.88	20,324,000	2.38	6.47	1.55
Cabbage:  1932 1931 1930 1929	137,670	964,000	Ton	11.55	10,859,000	3.01	4.41	1.60
	149,900	1,019,000	Ton	10.43	9,887,000	2.54	3.10	4.74
	151,940	1,018,000	Ton	19.18	19,530,000	2.57	4.78	2.15
	142,820	1,035,600	Ton	18.37	19,633,000	2.31	3.38	3.64
Cantaloupes: 1932 1931 1930 1929	134,970	17,096,000	Crate	.83	11.592,000	5.46	6.47	6.68
	138,280	17,988,000	Crate	1.31	17,592,000	5.86	6.30	5.48
	129,010	15,939,000	Crate	1.21	19,256,000	7.75	12.55	12.46
	108,670	17,373,000	Crate	1.30	22,596,000	10.11	14.55	9.29
Cauliflower: 1932 1931 1930 1929	29,800	7,364,000	Crate	.61	4,420,000	15.03	14.60	8.14
	27,710	6,961,000	Crate	.75	5.249,009	14.07	14.57	13.53
	27,610	5,849,000	Crate	.82	4,789,000	10.14	15.32	14.97
	25,070	6,666,000	Crate	.77	5,157,000	12.76	16.95	15.64
Lettuce:  1932 1931 1930 1929	162,280	17,715,000	Crate	1.27	21,837,000	5.12	4.69	1.01
	175,060	19,466,000	Crate	1.48	28,735,000	3.80	3.07	2.70
	172,620	19,591,000	Crate	1.71	33,582,000	4.31	3.42	1.70
	139,160	20,220,000	Crate	1.82	36,794,000	5.82	4.41	3.03
Onions:  1932 1931 1930 1929	91,710	28,341,000	Bu.	.39	10,516,000	6.18	5.80	3.21
	77,630	19,128,000	Bu.	.79	14,465,000	5.22	4.83	4.72
	83,060	26,002,000	Bu.	.51	13,186,000	6.74	6.63	4.19
	87,340	25,113,000	Bu.	.74	18,502,000	8.01	10.13	6.28
Peas, Green: 1932 1931 1930 1929	297,700	226,000	Ton	60.29	13,625,000	4.64	5.45	2.47
	305,600	241,300	Ton	68.02	16,413,000	3.27	4.31	5.04
	346,900	350,700	Ton	67.36	23,622,000	2.74	2.95	3.04
	298,470	291,560	Ton	71.86	20,952,000	3.49	4.19	3.57
Tomatoes:  1932 1931 1930 1929	438,500 455,800 564,300 466,810	1,656,100 1,446,200 2,230,800 2,004,000	Ton Ton Ton Ton	18.17 20.70 24.19 27.04	80,097,000 29,939,000 53,955,000 54,181,000	.95 .83 .61	1.38 1.92 1.35 1.35	.70 1.35 .58 .59
Crops not listed: 1932 1931 1930 1929	4,060,410 4,313,620 3,596,290 5,322,540				873,983,000 1,073,409,000 1,329,576,000 1,573,613,000		===	
Totals:  1932 1931 1930 1929	352,825,000 349,943,000 357,530,000 357,827,000				3,500,617,000 4,536,529,000 6,432,151,000 8,897,094,000	1.93 2.03		1.13 1.32 1.91 1.51

# FARM VALUES OF CROPS BY COUNTIES, 1932

Totals	\$ 868,830 619,310 285,480 214,760	955,450 670,390 791,960	131,630	8,950 842,110 467,600 302,200 267,510	1,610,890	37,460	436,990 285,370 294,960	413,310	1,122,540 11,850 810,750 403,820	36,050 153,680	577.310 568,810	89,200 350,800
Miscel- laneous Crops	\$ 34,200 35,860 7,100 1,760	142,120 30,850 21,530	8,850	61,610 83,640 11,810 3,960	19,180	1,050	3,120 11,950 <b>16</b> ,100	12,340	19,730 480 2,110 2,710	6,450	19,950	5.950 14,360
Commer- cial Truck Crops	\$ 265,300 27,470 22,320 100	470 199,140 60,460	25,110	105,430 206,360 189,080 82,810	56,200	100	11,370 100 8,980	137,870	4,720	10,490	182,120	1,890
Fruits	\$ 5,300 100 4,700 170	540 890 49,720	2,550	3,010 20	730,040	150	860 820 880	107,700	39,500	009	96,230	100 350
All Hay	\$ 121,300 322,550 106,260 177,160	28,660 218,380 306,400	72,890	8,200 331,260 107,590 29,300 160,630	472,700	9,110	339,370 66,390 94,420	131,040	681,430 9,500 267,970 390,330	35,870 113,250	673,650 169,080	8,270
Sorghums	\$ 12,280	84,770 20,810 170	25,870	1,580	110	950	25,830	310	230	2,000	1,370	49,240
Sugar Beets	\$ 257,490 15,040 13,660	86,020	1 1	1,290	146,950		24,300	3 5 5 5	117,930	5,160	20,070	
Potatoes	\$ 4,400 169,320 260 11,330	50 80 3,650	6,300	227,190 23,060 40 9,780	61,610	6,670	53,960 2,950 2,960	3,360	151,090 1,120 2,740 5,990	180	1,520	1,040
Dry Beans	\$ 23,360 17,540 80	9,430 3,050 730	310	1,880	086	3,150	72,200	340	160	1,330	410	3,100
Rye	\$ 410	940	20	20	40	2,360	2,860 2,140	30	200	10	120	900
Wheat	\$ 74,450 13,140 46,430 10,980	538,770 13,630 34,700	3,300	35,480 19,570 430 2,810	38,720	8,830	11,290 18,400 6,130	1,860	51,620 40 540 480	4,210	34,030	2,450 55,840
Barley	\$ 23,800 18,300 10,170 940	25,510 39,130 35,600	6,960	48,980 15,850 1,010 1,660	15,680	1,700	2,960 8,960 1,140	1,260	14,350 60 2,740 1,750	1,070	420 8,530	2,050
Oats	\$ 5,890 17,470 3,600 8,880	2,700 27,390	5,390	20 70,00 7,00 4,00,00,00	23,990		13,950 6,850 7,920	5,090	27,920 250 6,530 1,970	3,530	660	2,630
Corn	\$ 40,650 60 40,970 3,360	123,310 55,670 56,780	35,930		44,690	5,580 14,840	70 68,060 60,660	12,110	13,510	4,340	14,300	18,650 121,790
COUNTY	AdamsArapahoeArchuleta	Baca Bent Boulder	Chaffee Cheyenne	Conejos Costilla Crowley Custer	Delta	Dolores	Eagle Elbert	Fremont	Garfield Gilpin Grand Gunnison	Hinsdale	JacksonJefferson	Kit Carson

44,730 649,120 1,623,840 368,170 161,630	1,676,710 24,960 802,950 626,850 1,351,960 1,813,540	1,539,960	207,590 388,410 174,030 846,210 1,076,510	439,170 1,150,370 692,500	892,610 102,760 610,250 48,890	99,180	737,470 6,312,640	690,250	\$39,719,000
150 9,550 47,640 18,380 7,500 68,190	38,060 13,270 6,110 20,460 78,300	98,760	580 11,690 760 39,380 41,540	6,260 127,090 4,900	55,660 1,010 17,140	960	27,140 224,990	29,280	\$1,583,000
3,530 39,800 38,420 5,520	103,800 6,330 103,800 6,330	574,490	270 140 13,790 487,740	85,480 62,120	780	6,420	244,240	670	\$3,366,000
15,450 151,240 700 210 470	610,480 	9,440	220 380 270 6,650	220 680 1,540	340 260 490	1 1 1	3,820	110	\$1,963,000
44,580 451,300 482,070 124,210 46,760 357,150	673,110 24,840 224,490 306,310 560,800 276,860	253,560 117,240	191,350 48,150 129,580 310,420 125,230	392,910 333,860 515,390	82,420 133,960 47,040	67,700	177,320 932,560	127,220	\$13,602,000
250 9,820 12,010 20,010 44,170	2,040 1,290 2,800 20,990	6,720	32,680 60,030 3,090		1,980		76,280 32,380	106,230	\$ 740,000
611,650 64,170 603,680	126,120  72,100 1,097,080	458,200	162,260	2,310	980		24,080 $3,286,270$	1 1 4 2 1 1 1	\$7,966,000
39,61( 26,190 1,22( 790 29,270	82,320 120 16,060 67,430 291,920 82,380	7,110	14,790 380 29,920 100 190	3,820 509,830 23,170	233,930 6,860 21,380 700	23,550	2,480 519,490	1,240	\$2,750,000
3,700 3,960 32,600 12,800 7,790	21,380 430 27,480 1,630 21,120	20,820	200		630		20,450 105,680	1,500	\$ 512,000
130 130 220 510 1,560	130 4,460 380 90 990	370	870 80	310	100	09	1,380	5,420	\$ 36,000
64,020 72,870 8,470 22,130 88,340	29.080 20,600 63,770 95,180	9,320	53,120 4,800 90,760 7,650	10,600 25,910 24,070	12,130 6,530 63,130	120	63,630 307,410	33,870	\$2,257,000
14,400 106,210 11,570 4,600 79,940	12,920 3,100 13,500 17,190 56,240	23,000		4,130 86,580 21,780	15,540 1,870 20,670 230	210	70,800	38,130	\$1,293,000
36,850 31,260 3,390 130 16,880	24,150 11,970 45,740 40,970 4,930	16,240	440 10,430 7,950 8,370 2,350	20,920 28,430 39,240	25,790 1,690 16,840 620	1,070	4,820 62,600	4,170	\$ 711,000
12,460 42,000 52,810 36,190 257,790	6,280 29,710 36,620 184,990	68,940 1,210	220,610 108,840 51,260	200	1,720	06	268,850 274,070	342,510	\$2,940,000
Lake La Plata Larimer Las Animas. Lincoln	Mesa	Otero	Park Phillips Pitkin Prowers	Rio Blanco Rio Grande Routt	Saguache San Juan San Miguel Sedgwick Summit	Teller	Washington-Weld	Yuma	State

Note—Fruits include apples, pears, cherries, grapes, plums, apricots, strawberries, etc. Commercial Truck Crops include garden peas, snap beans, cantaloupes for market and seed, cucumbers for pickles and seed, cabbage and kruth, celery, lettuce caulillower, tomatoes, watermolons, onions, spinach, carrots, asparagus, garden beets, pumpkins and squash, sweet corn and other miscellaneous truck crops not listed separately. Miscellaneous Crops include alfalfa, clover seed, millet seed, field peas, broomcorn, sugar beet tops, rice for pasture, farm garden and other mixed crops.

#### COLORADO CROP ACREAGE, PRODUCTION AND VALUE, 1932

1		PROI	DUCTION		FARM	VALUE;
KIND OF CROP	Acreage	Per Acre	Total	Unit	Per Unit	Total
Corn	1,909,000	7.0	13,363,000	Bu.	\$ .22	\$ 2.940,00
Oats for Grain	141,000	24.0	3,384,000	Bu.	.21	711.00
Barley for Grain	439,000	15.5	6,804,000	Bu.	.19	1,293.00
Winter Wheat	487,000	9.0	4,383,000	Bu.	.33	1,446,60
Spring Wheat	193,000	12.0	2,316,000	Bu.	.35	811,00
Rye for Grain	25,000	6.0	150,000	Bu.	.24	36,00
Rye for Pasture	30,000			l		75,00
Dry Beans	178,000	180.0	320,000	100-lb.Bags	1,60	512.00
Potatoes	100,000	110.0	11,000,000	Bu.	.25	2,750,00
Sugar Beets	159,000	11.3	1,790,000	Tons	4.45	7,966,00
Sugar Beet Tops						398,00
Grain Sorghums	206,000	6.0	1,236,000	Bu.	.16	198,00
Sweet Sorghums	142,000	0.8	114,000	Tons	4.75	542.00
Tame Hay, All Varieties	1,274,000	1.44	1,830,000	Tons	6.35	11,628,00
Wild Hay	366,000	.90	329,000	Tons	6.00	1,974,00
Broomcorn	46,000	200.0‡	4,600	Tons	34.00	156,00
Field Peas	54,000	12.0	648,000	Bu.	.55	356,00
Alfalfa Seed	10,000	2.5	25,000	Bu.	5.10	128,00
Red Clover Seed	2,000	3.0	6,000	Bu.	4.70	28.00
Sweet Clover Seed	3,500	4.5	15,800	Bu.	2.35	37,00
Millet Seed1	19,000	6.0	114,000	Bu.	.35	40,00
Apples			2.294,000	Bu.	.42	963.00
Peaches			1,142,000	Bu.	.42	480,00
Pears			429,000	Bu.	.40	172,00
Cherries			3,825	Tons	52,00	199,00
Grapes			462	Tons	45,00	21,00
Miscellaneous Fruits2	33,600					128,00
Miscellaneous Crops (Excluding Commercial Truck Crops)	17,400					365,00
Total Above Crops	5,834,500					36,353,00
Commercial Truck Crops:				_		
Beans, Snap, for Manufacture	900	2.0	1,800	Tons	38,00	68,00
Beans, Snap, for Market	1,700	120.0	204,000	Bu.	.50	102,00
Cabbage, Early (Domestic)	1,760	10.0	17,600*	Tons	7.50	102,00
Cabbage, Late (Danish) Cantaloupes and Honeydew	2,390	11.0	26,300*	Tons	4.00	72,00
Melons, for Market Cantaloupes and Honeydew	7,370	150.0	1,106,000	Crts.	.70	774,00
Melons, for Seed	2,000	250.0	499,000	Lbs.	.22	110.00
Carrots	500	220.0	110,000	Bu.	.35	38.00
Cauliflower	4,480	240.0	1,075,000*	Crts.	.40	360,00
Celery	950	220.0	209,000*	Crts.	.90	153.00
Cucumbers, for Pickles	480	97.0	47,000	Bu.	.26	12,00
Cucumbers, for Seed	1.600	330.0	530,000	Lbs.	.18	95,00
Lettuce	8.310	100.0	831,000*	Crts.	.50	221,00
Onions	5,670	290.0	1,644,000*	Bu.	.23	338.00
Peas, Green, for Manufacture	2,770	1230.0	3,407,000	Lbs.	.018	61.00
Peas, Green, for Market	11,050	60.0	663,000*	Bu.	.50	276,00
Spinach	700	130.0	91.000*	Bu.	.25	15.00
Tomatoes, for Manufacture	2,300	4.7	10,800	Tons	8.10	87,00
Tomatoes, for Market	1.880	230.0	432,000*	Bu.	.35	125.00
Watermelons	1,230	320.0	394,000	Nos.	.09	35,00
Miscellaneous	6,300					322,00
Total Truck Crops	64,340					3,366,00
Total All Crops	5,898,840					\$39,719,00

<sup>†</sup>Farm value based upon an annual average of prices received by growers. Obtained by weighting the monthly farm price by estimates of monthly marketings.

‡Pounds.

monthly farm price by estimates of monthly marketings.

\*Includes some quantities not harvested on account of market conditions and excluded in computing

total value.

¹This acreage of millet saved for seed is in addition to the area harvested for hay as shown in the hay table.

This acreage includes the total acreage of tree, bush and miscellaneous fruits for the state, but the value shown in the last column includes only fruits not separately listed above.

#### COLORADO CROP ACREAGE, PRODUCTION AND VALUE, 1931

142,000			PRO	DUCTION		FARM	VALUE;
142,000	KIND OF CROP	Acreage		Total	Unit		Total
142,000   24.0   3.498,000   Bu.   2.7   3.75,02	Comp	1,836,000	9.5	17,442,000	Bu.	\$ .36	\$ 6,279,120
1,100   1,10	Ort for Crain	142,000	24.0	3,408,000	Bu.	.27	920,160
	n -l-n for Grain	472,000	15.5		Bu.	.27	1,975,320
168,000	Wheat	1.218.000				.33	4,823,280
Ref for Grain   53,000   7.0   371,000   Bu   .23   85,33   Ref for Pasture   30,000   7.0   838,000   100-lb.Bags   1,40   1,173,20   Ref for Pasture   101,000   95.0   9,550,000   Bu   .33   3,166,85   Ref for Rest for   101,000   95.0   9,550,000   Bu   .33   3,166,85   Ref for Rest for   101,000   11.0   2,101,000   Bu   .20   420,20   Ref for Rest for   118,000   1.65   124,000   Ton   5.44   13,774,08   Ref for Rest for   118,000   1.65   124,000   Ton   7.85   12,229,00   Ref for Rest for   12,58,000   1.81   1,647,000   Ton   7.55   12,229,00   Ref for Rest for   12,58,000   1.81   1,647,000   Ton   7.55   12,229,00   Ref for Rest for   12,58,000   1.81   1,647,000   Ton   7.55   12,229,00   Ref for Rest for   1,647,000   Ton   7.55   12,229,00   Ref for Rest for   1,647,000   Ton   7.50   2,175,00   Rest Clover Seed   49,000   45, 9,000   Bu   6.30   183,33   Ref for Rest for   1,647,000   Rest for   1,647,000   Rest Clover Seed   3,600   6.0   17,500   Bu   6.30   183,33   Ref for Rest for   1,100   8.5   153,000   Bu   6.40   54,25   Rest Rest for   1,100   1,100   1,100   1,100   Rest for   1,100   1,100   1,100   Rest for   1,100   1,100   1,100   1,100   Rest for   1,100   1,100						.34	685,440
No.   10   245.0   838,000   100-1b.Bags   1,40   1,173,20   1,20   1,00   1,		53,000			Bu.	.23	85,330
Dry   Beans		30,000					75,000
Postoces		342,000	245.0	838,000	100-lb.Bags	1,40	1,173,200
Signar   Beets	Div Deans		95.0		Bu.	.33	3,166,350
Sugar   Pet Tops	Sugar Reets	224,000	11.3		Ton	5.44	13,774,080
191,000   11.0   2,101,000   10.0   2,01,000   10.0   420,20   595,20   138,000   1,65   124,000   Ton   4.80   595,20   138   1,647,000   Ton   7.85   12,929,00   10.0   1,000   1				~			678,000
Sweet Sorghums		191,000	11.0	2,101,000	Bu.	.20	420,200
Tame Hay, All Varieties		118,000	1,05	124,000	Ton	4.80	595,200
Wild Hay	Tame Hay, All Varieties	1,258,000	1.31	1,647,000	Ton	7.85	12,929,000
Brownerorn		362,000	.80	290,000	Ton		2,175,000
Right   Peas		45,009	250.0*	5,600	Ton	36.00	201,600
Miscellaneous Fruits2		49,000	9.0	441,000	Bu.	.54	238,000
Red Clover Seed		9,700	3.0	29,100	Bu.	6.30	183,330
Sweet Clover Seed	Red Clover Seed		4.5	9,000	Bu.	6.40	57,600
Milet Seed		3,500	5.0	17,500	Bu.	3.10	54.250
Apples		18,000	8.5	153,000	Bu.	.41	62,700
Pearles					Bu.		1,220,000
Pears	Peaches			1,130,000	Bu.	.50	565,000
State   Stat	Pears			525,000	Bu.	.60	315,000
Miscellaneous Fruits2	Cherries			2,500	Ton	79.00	175,000
Miscellaneous Crops (Excluding Commercial Truck Crops)   18,600	Grapes			280	T_11	50.00	14,000
Commercial Truck Crops		32,500					114,000
Total Above Crops		18.600					514 000
Commercial Truck Crops   Eans, Snap, for Manufacture   1,100   2.0   2.200   Ton   44.00   96,80   828ns, Snap, for Manufacture   1,800   154.0   291,000   Bu.   .85   247,00   2206   2200   9.0   19,800   Ton   18.00   212,00   225,00   2200   200	- '						
Deans, Snap, for Market							00,100,100
1,890   154.0   291,000   Bu.   .85   247,00   241,000		1,100	2.0	2,200	Ton	44.00	96.800
Cabbage, Late (Danish)         2,200         9.0         19.800         Ton         13.00         257,00           Cantaloupes and Honeydew         Melons, for Market         8,100         140.0         1,134,000         Crs.         .85         964,00           Cartols         450         200.0         90,000         Bu.         .60         54,00           Carlos         3,900         260.0         1,014,000         Crs.         .70         710,00           Clery         950         220.0         233,000         Bu.         .60         54,00           Cleumbers, for Pickles         1,820         128.0         233,000         Bu.         .48         112,00           Cacumbers, for Seed         2,200         313.0         688,400         Lbs.         .25         172,11           Lettuce         6,650         90.0         598,000         Crs.         1.30         777,00           Dainos         4,050         228.0         923,000         Bu.         .74         633,00           Peas, Green, for Manufacture         3,500         148.0         5,180,000         Lbs.         .023         119,00           Peas, Green, for Market         500         150.0         75,000					Bu.	.85	247,000
Cabbage, Late (Danish)	Cabbage, Early (Domestic)			11,800	Ton	18.00	212,000
Melons, for Market         8,100         140.0         1,134,000         Crs.         .85         964,00           Cantaloupes and Honeydew         1,800         227.0         408,050         Lbs.         .28         114,26           Melons, for Seed         1,800         227.0         408,050         Lbs.         .28         114,26           Carrots         450         200.0         90,000         Bu.         .60         54,00           Caluiflower         3,900         260.0         1,014,000         Crs.         .70         710,00           Selery         950         220.0         230,000         Bu.         .48         112,00           Cacumbers, for Pickles         1,820         128.0         233,000         Bu.         .48         112,00           Cacumbers, for Seed         2,200         313.0         688,400         Lbs.         .25         172,11           Lettuce         6,650         90.0         598,000         Crs.         1.30         777,00           Peas, Green, for Manufacture         3,500         1480.0         5,180,000         Lbs.         .023         119,00           Spinach         500         150.0         75,000         Bu.         .2	Cantaloupes and Honeydew	2,200	9.0	19.800	Ton	13.00	257,000
Melons, for Seed     1,800     227.0     408,050     Lbs.     .28     114,26       Carrots     450     200.0     90,000     Bu.     .60     54,00       Cauliflower     3,900     263.0     1,014,000     Crs.     .70     710,00       Delery     950     220.0     209,000     % Crs.     1.20     251,00       Cucumbers, for Pickles     1,820     128.0     233,000     Bu.     .48     112,00       Cucumbers, for Seed     2,200     313.0     688,400     Lbs.     .25     172,11       Lettuce     6,650     90.0     598,000     Crs.     1.30     777,00       Dinions     4,050     228.0     923,000     Bu.     .74     683,00       Peas, Green, for Manufacture     3,500     1480.0     5,180,000     Lbs.     .023     119,00       Peas, Green, for Market     6,500     75.0     488,000     Bu.     1.45     708,00       Spinach     500     150.0     75,000     Bu.     .25     119,00       Tomatoes, for Manufacture     2,500     7.0     17,500     Ton     10,50     184,00       Indicates     1,120     300.0     369,000     Bu.     .60     221,00	Melons, for Market	8,100	140.0	1,134,000	Crs.	.85	964,000
Carrots		1.800	227 0	408 050	I,he	26	114 900
Saliflower							
Selety							
1.820   128.0   233,000   Bu.   .48   112,00	Selery						
Cacumbers, for Seed         2,200         313.0         688,400         Lbs.         .25         172,11           Lettuce         6,650         90.0         598,000         Crs.         1.30         777,00           Daions         4,050         228.0         923,000         Bu.         .74         683,00           Peas, Green, for Manufacture         3,500         1480.0         5,180,000         Lbs.         .023         119,00           Peas, Green, for Market         6,500         75.0         488,000         Bu.         1.45         708,00           Spinach         500         150.0         75,000         Bu.         .25         19,00           Tomatoes, for Manufacture         2,500         7.0         17,500         Ton         10,50         184,00           Tomatoes, for Market         1,290         286.0         369,000         Bu.         .60         221,00           Watermelons         1,120         300.0         336,000         Nos.         .15         5,00           Miscellaneous         7,400             6,354,17	Cucumbers, for Pickles						
Lettuce	Cucumbers, for Seed						
Doing   A   OS   OS   Doing   A   OS	Lettuce						
Cleas, Green, for Manufacture     3.500     1480.0     5,180,000     Lbs.     .023     119,00       Peas, Green, for Market     6,500     75.0     488,000     Bu.     1.45     708,00       Spinach     500     150.0     75.00     Bu.     .25     19,00       Comatoes, for Market     2,500     7.0     17,500     Ton     10.50     184,00       Comatoes, for Market     1,290     236.0     369,000     Bu.     .60     221,00       Watermelons     1,120     300.0     336,000     Nos.     .15     5,00       Miscellaneous     7,400	Onions						
feas, Green, for Market       6,500       75.0       488,000       Bu.       1.45       708,00         Spinach       500       150.0       75,000       Bu.       .25       19,00         Imatoes, for Market       1,290       286.0       369,000       Bu.       .60       221,00         Watermelons       1,120       300.0       336,000       Nos.       .15       5,00         Miscellaneous       7,400         448,00	l'eas. Green, for Manufacture						
Spinach	Peas, Green, for Market	6.500					
Total All Crops   10   10   10   10   10   10   10   1	Spinach	500	150.0				
1,290   286.0   369,000   Bu.   .60   221,00     201,000   Bu.   .60   221,00     201,000   Bu.   .60   221,00     201,000   Bu.   .60   221,00     201,000   Bu.   .60   .60     201,000   Bu.   .6	lomatoes, for Manufacture						
Watermelons     1,120     300.0     336,000     Nos.     .15     5,00       Miscellaneous     7,400        448,00       Total Truck Crops     59,520       6,354,17	lomatoes, for Market						
Total Truck Crops 59,520 6.354,17	watermelons						
Total All Crops	Miscellaneous				1 1		448,000
Total All Crops 6,752,820 59.823.23	Total Truck Crops	59,520					6.354,170
	Total All Crops	6,752,820					59,823,330

iFarm value based upon an annual average of prices received by growers. Obtained by weighting the monthly farm price by estimates of monthly marketings.

<sup>&</sup>lt;sup>1</sup>This acreage of millet saved for seed is in addition to the area harvested for hay.

This acreage includes the total acreage of tree, bush and miscellaneous fruits for the state, but the value shown in the last column includes only fruits not separately listed above.

\*Pounds.

#### PER CENT OF HARVESTED AREA DEVOTED TO PRINCIPAL CROPS IN 1932

COUNTY	Corn	Oats	Barley	Winter Wheat	Spring Wheat	Dry Beans	Pota- toes	All Sor- ghums	Al- falfa	Sugar Beets
Adams Alamosa Arapahoe Archuleta	31.15 0.02 39.07 3.58	1.03 4.24 1.32 5.91	10.02 5.79 6.19 1.40	13.33 0.05 16.03 0.97	3.53 2.69 2.12 6.61	9.79 10.48 0.08	0.17 11.18 0.01 1.91	3.94 5.77	10.69 24.05 8.66 22.44	4.47 0.83 0.42
Baca Bent Boulder	21.88 26.95 16.70	0.12 0.58 5.79	3.40 8.43 10.21	47.85 1.62 3.06	0.04 0.77 6.55	1.00 1.05 0.28	0.01 0.36	14.98 20.81 0.03	0.44 29.66 36.94	2.42 6.54
Chaffee Cheyenne Clear Creek Conejos Contilla Crowley Custer	0.07 56.33 0.77 0.12 0.16 18.58 2.17	5.84 0.09 0.77 3.77 2.80 0.79 4.37	9.78 7.64 2.15 2.06	0.22 4.50 	3.50 1.00  6.11 7.14 0.23 0.78	0.29 0.25  0.62 0.63 4.07	2.63 0.02 2.70 11.16 2.91 0.03 4.42	22.82  6.04 0.21	30.20 0.49 0.77 21.06 16.32 31.00 8.48	0.05
Delta Denver Dolores Douglas	10.21 27.39 30.58	4.27  4.49 13.11	4.01  1.69 2.06	0.59 18.82 6.15	6.74 12.36 1.60	0.19 10.25 1.13	2.55 <del>4.07</del> 0.53	0.05 2.18 3.86	$\frac{45.13}{3.79}$ 17.03	4.08
Eagle Elbert El Paso	0.03 44.12 46.75	5.76 3.10 3.30	1.81 5.38 0.51	0.67 1.78 0.36	3.38 4.53 1.72	18.39 18.97	4.15 0.34 0.37	5.84 3.16	34.29 3.39 2.27	0.38
Fremont	10.51	5.96	1.64	0.38	1.07	0.31	1.19	0.27	22.82	
Garfield Gilpin Grand Gunnison	3.10 0.03	4.34 2.96 2.62 0.83	3.14 1.18 1.21 0.73	1.05  0.17 0.04	9.13 0.59 0.08 0.20	0.03	4.93 5.33 0.33 0.48	0.20	63.72 $-2.23$ $5.80$	3.01
Hinsdale Huerfano	11.40	3.51	1.34	2.71	1.63	1.88	0.14 0.38	2.30	$\frac{1.63}{43.15}$	0.36
Jackson Jefferson	10.27	0.15 8.86	0.08 5.66	7.53	0.01 6.51	0.16	0.07 1.04	0.40	29.94	1.11
Kiowa Kit Carson	46.23 59.19	0.36 0.58	4.42 16.12	2.60 4.43	0.33 4.45	0.28 0.57	0.02 0.06	38.28 9.54	$\frac{1.95}{0.30}$	
Lake La Plata Larimer Las Animas Lincoln Logan	6.44 8.40 35.65 46.10 49.41	8.98 3.77 1.64 0.14 1.62	4.77 13.67 4.31 6.57 11.61	2.53 5.54 2.62 8.79 8.26	12.06 5.55 0.55 4.05 2.50	1.18 0.70 11.95 7.53 0.87	2.23 0.65 0.14 0.15 0.69	0.29 1.48 10.99 10.42 3.69	42.63 29.87 14.35 0.38 7.12	9.91 2.11 3.89
Mesa	10.96 5.11 13.87 7.20 42.55	3.68 4.55 9.98 6.87 0.48	2.45 1.82 4.59 3.39 7.43	1.96  5.35 3.28 1.49 3.53	4.08 5.11 13.79 12.08 3.99	2.26  0.20 7.21 0.21 4.36	2.98 0.16 1.74 3.27 7.95 0.57	0.42  0.68 1.34 0.01 3.98	46.47 0.63 30.47 35.36 50.32 10.62	3.46  1.69 10.42
Otero Ouray	18.20 1.34	3.27 4.46	5.40 3.18	0.97 2.93	0.72 4.22	3.42	0.01 1.44	4.03	$24.11 \\ 25.17$	12.55
Park Phillips Pitkin Prowers Pueblo	67.22 25.42 26.61	0.31 3.80 6.50 0.91 0.92	0.07 4.81 0.91 7.77 2.08	11.46 0.45 16.96 4.02	0.07 1.45 2.79 0.24 0.58	0.04 0.12 10.56	2.94 0.02 6.46 	4.05 21.35 5.11	0.04 0.11 18.50 18.60 20.02	2.35 8.66
Rio Blanco Rio Grande Routt	0.03	5.70 4.70 11.98	1.97 7.43 6.30	1.64 0.03 2.09	2.08 4.01 5.30		0.27 17.29 1.23		43.46 9.51 12.66	0.06
Saguache San Juan San Miguel Sedgwick Summit	0.01 3.62 53.05	3.25 2.22 4.30 1.64	2.69 5.09 10.08 0.94	0.03 2.55 13.80 0.35	1.70 5.09 1.41 0.12	1.15 0.02	8.34 2.14 0.64 0.41	0.25 0.65	9.27 	3.04
Teller	0.30	2.52	0.67	0.15	0.15		11.64		0.96	0.19
Washington Weld	54.98 21.09	0.73 1.95	12.59 13.38	5.52 8.52	2.93 6.80	2.41 5.02	0.06 3.96	7.78 2.02	$0.61 \\ 14.94$	0.12 11.02
Yuma	74.04	0.59	5.98	3.07	0.44	0.17	0.03	7.33	0.28	
State	32.36	2.39	7.44	8.26	3.27	3.02	1.70	5.90	11.97	2.70

#### PERCENTAGE OF CROPS GROWN WITH AND WITHOUT IRRIGATION, 1932

	co	RN	OA	TS	BAR	LEY	POTA	TOES	DRY I	BEANS
COUNTY	% Irri- gated	% Non- Irri- gated	% Irri- gated	% Non- Irri- gated	% Irri- gated	% Non- Irri- gated	% Irri- gated	% Non- Irri- gated	% Irri- gated	% Non- Irri- gated
Idams	9.8	90.2	72.1	27.9	28.1	71.9	90.2	9.8	3.7	96.3
damosa grapahoe grchuleta	100.0 7.2 25.7	92.8 74.3	100.0 38.0 20.1	62.0 79.9	100.0 14.3 22.5	85.7 77.5	100.0 73.6 50.1	26.4 49.9	1.5	98.5 100.0
laca lent	1.0 54.9 90.5	99.0 45.1 9.5	10.0 96.4 96.2	90.0 3.6 3.8	2.7 96.0 97.6	97.3 4.0 2.4	100.0 78.2	100.0	27.2 45.0	100.0 72.8 55.0
haffee heyenne	100.0	100.0	100.0	100.0	99.4	.6 100.0	100.0	100.0	100.0	100.0
lear Creek lonejos lostilla lrowley	100.0 100.0 100.0 48.5	51.5	100.0 100.0 100.0	100.0	100.0 100.0 100.0		100.0	100.0	100.0 100.0 20.0	80.0
uster	17.2 99.7	82.8	62.5 99.6	37.5 .4	47.2 100.0	52.8	12.8 100.0	87.2	100.0	
enver olores ouglas	4.5	100.0 95.5	2.8	100.0 97.2	8.3	100.0 91.7	3.3	100.0 96.7		100.0 100.0
agle lbert l Paso	100.0	100.0 98.3	97.2	2.8 100.0 99.0	87.2 15.5	12.8 100.0 84.5	99.3	.7 100.0 100.0	<u>-</u>	100.0 99.3
remont	72.4	27.6	35.7	64.3	59.0	41.0	13.5	86.5	68.4	31.6
arfield ilpin	89.8	10.2	92.7	7.3 100.0	92.5	7.5 100.0	98.7	1.3 100.0	100.0	
rand unnison	100.0		92.0 23.9	8.0 76.1	85.7 49.1	14.3 50.9	25.0 78.6	75.0 21.4		
insdale	20.5	79.5	62.8	37.2	52.7	47.3	100.0 25.5	74.5	17.2	82.8
ackson efferson	64.1	35.9	60.5 51.1	39.5 48.9	100.0 75.4	24.6	9.5 17.0	90.5 83.0	100.0	
it Carson	1	100.0 99.9	<del>-</del>	100.0 100.0	3	100.0 99.7		100.0 100.0		100.0 100.0
ake a Plata arimer as Animas incoln ogan	35.1 64.3 11.0 .2 9.0	64.9 35.7 89.0 99.8 91.0	79.9 84.8 35.2 38.1	20.1 15.2 64.8 100.0 61.9	74.7 87.2 40.7 .7 23.8	25.3 12.8 59.3 99.3 76.2	93.7 90.0 14.8	6.3 10.0 85.2 100.0 50.7	22.5 47.2 20.0	77.5 52.8 80.0 100.0 85.0
esaineral	95.2	4.8	93.0	7.0	95.7	4.3	87.1 100.0	12.9	84.8	15.2
offat ontezuma ontrose organ	2.1 24.7 100.0	97.9 75.3	18.4 77.5 97.8	81.6 22.5 2.2	11.0 55.2 96.7	89.0 44.8 3.3	9.1 52.3 99.1	90.9 47.7 .9	11.3 100.0	100.0 88.7
tero	16.4 86.1	83.6 13.9	69.8 98.6	30.2	52.9 95.8	47.1 4.2	95.5 100.0	4.5	11.0 95.1	89.0 4.9
uray	100.0		80.1	19.9	35.9	64.1 100.0	54.3	45.7 100.0		
hillips itkin		100.0	100.0	100.0	100.0	100.0	100.0	100.0		100.0
rowers	48.0 54.0	52.0 46.0	69.8 55.1	30.2 44.9	55.4 70.4	44.6 29.6	100.0	100.0	40.1 24.0	59.9 76.0
io Blanco io Grande outt	100.0		74.0 100.0 .9	26.0 99.1	20.7 100.0 5.4	79.8	94.0 100.0 15.8	6.0 84.2		
nguache	100.0		100.0		100.0		100.0			
n Miguel dgwick ummit	22.1 8.0	77.9 92.0	51.6 24.0 34.5	48.4 76.0 65.5	33.1 - 13.4 15.0	66.9 86.6 85.0	31.8 78.1	68.2 21.9 100.0		100.0 100.0
eller		100.0		100.0		100.0		100.0		
ashington	2.0 32.0	98.0 68.0	5.7 74.4	94.3 25.6	2.0 62.5	98.0 <b>3</b> 7.5	6.7 95.8	93.3 4.2	30.4	100.0 69.6
uma	1	99.9		100.0		100.0	10.2	89.8		100.0
State	8.8	91.2	52.8	47.2	35.4	64.6	86.4	13.6	11.3	88.7
		·						===		

## AVERAGE YIELD, IN BUSHELS, OF PRINCIPAL CROPS PER ACRE FOR FIVE YEARS ENDING WITH 1932

ENDING WITH 1932										
	COI	RN	BAR	LEY	WINTER	WHEAT	SPRING	WHEAT	POTAT	OES
COUNTY	Irri- gated	Non- Irri- gated	Irri- gated	Non- Irri- gated	Irri- gated	Non- Irri- gated	Irri- gated	Non- Irri- gated	Irri- gated	Non- Irri- gated
Adams Alamosa Arapahoe	29.90 28.25 23.36	9.90	35.47 28.24 34.66	11.85	24.88 25.21 25.91	10.12	27.79 21.65 25.11	8.04 7.79	117.59 142.17 112.64	41.05 51.86
Archuleta	30.22	12.59	30.51	13.95	23.90	12.61	24.57	11.89	110.51	72.45
Baca Bent Boulder	21.13 31.70 30.90	11.38 11.58 13.75	24.74 33.85 36.90	9.83 12.32 15.75	22.25 31.86 29.31	11.16 11.86 14.70	20.57 23.40 25.87	7.12 8.27 12.11	101.00 123.95	67.50 53.75 43.67
Chaffee Cheyenne Clear Creek	34.00 27.50	11.00 11.47 22.00	30.15	14.00 10.82 21.00	26.00	18.00 9.37	22.43	6.39	90.00	57.82 58.93
Conejos Costilla	27.65 30.00	11.00	30.97 28.59		25.32 27.63		21.38 20.79	12.00	138.31 98.17	40.00
Crowley	33.10	11.43	33.82	9.86	27.93		22.28	9.50	60.00	55.17
Custer	30.71	14.49	25.83	12.49	26.90	11.69	22.81	10.66	105.31	79.34
Delta Denver	38.26	16.76	38.18	19.80	31.43	13.47	27.39	12.28	152.96	70.07
Dolores Douglas	21.11	12.73 12.96	30.71	13.91 15.79	25.00 23.42	$10.11 \\ 11.62$	22.00	9.97 9.32	85.00	67.65 57.79
Eagle Elbert El Paso	33.50 28.63	10.14 10.48	37.55 38.00 30.97	18.88 9.67 10.75	24.13 22.17 25.07	16.73 9.25 10.22	30.07 25.00 23.66	13.36 7.32 7.17	200.46 88.00	69.14 50.71 54.68
Fremont	36.61	13.84	33.10	12.50	28.26	11.21	23.64	9.92	98.89	56.35
Garfield	34.89	13.46	35.88	17.48	31.89	12.63	26.61	12.49	181.56	70.79
Gilpin Grand Gunnison	27.00		38.93 33.05	14.71 16.08 16.86	27.09 20.33	12.50 13.53	25.07 25.89	10.00 15.00 12.36	115.22 130.05	52.57 56.66 69.23
Hinsdale Huerfano	24.50	12.23	34.00 33.68	16.19	26.75	10.89	20.77	8.55	125.54 108.39	75.10
Jackson Jefferson	27.36	12.48	29.50 32.94	12.53	28.60	14.19	26.42	9.00 10.38	92.00 127.76	99.31 69.22
Kiowa Kit Carson	23.57	11.58 10.67	33.00 29.44	9.18 10.71	24.00	11.38 9.45	23.00 24.00	6.66 6.31	115.00	44.00 48.23
Lake La Plata	28.40	13.63	33.15	15.50	25.59	11.48	23.61	11.32	138.63	73.60
Larimer	30.86	12.70 9.85	40.89 29.86	14.30 9.21	30.58 25.13	15.42 10.35	27.71 21.77	10.55 8.21	133.90 124.60	65.74 56.08
Las Animas Lincoln	32.44 15.00	10.75	26.38	8.60	30.00	7.84	20.47	6.55	85.00	50.91
Logan	28.50	12.23	34.92	13.94	26.98	10.77	25.01	8.67	99.45	59.08 63.58
Mesa Mineral	37.80	13.38	35.52 38.00	15.85	30.56	12.89	23.76	10.25	155.14 124.50	68.50
Moffat Montezuma	22.64 27.46	13.76 13.68	38.89 29.98	19.65 13.87	27.94 23.76	15.82 11.91	27.85 22.17	13.31 10.89	122.48 134.38	75.57
Montrose Morgan	35.94 33.56	15.78 10.86	35.70 38.97	14.19 13.32	31.79 26.45	15.26 9.94	28.27 24.69	9.47 7.59	179.06 151.77	51.08 58.30
Otero Ouray	33.55 36.05	11.45 10.00	32.49 34.54	9.80 14.34	31.40 26.58	11.39 12.88	25.08 25.96	9.08 11.97	80.71 147.00	65.00 66.75
Park		13.83		17.84 15.24		10.00 12.15		8.88 7.83	80.00	60.93 73.61
Phillips Pitkin	35.00		35.09		27.77	20.00	31.52	14.00	168.00 86.00	40.75
Prowers Pueblo	27.61 31.60	9.47 10.97	32.01 33.87	9.97 10.01	28.30 27.85	10.66 10.78	26.32 25.96	6.90 7.51	75.00	49.86
Rio Blanco	20.00 29.23	13.00	37.07 26.68	21.38	30.10 26.36	18.26	26.73 20.37	15.44	113.02 159.71	98.58
Rio Grande Routt	27.33		40.30	23.07	28.55	19.38	26.45	17.43	148.67	81.81
Saguache San Juan	25.75		25.94		34.43		18.15		140.42	
San Miguel Sedgwick Summit	82.87 82.50	13.63 13.19	35.76 36.11 34.23	14.76 15.59 15.00	26.09 28.37 26.43	12.64 13.12 11.60	24.42 20.54 25.50	10.64 8.96 9.00	141.47 127.13 138.11	72.98 54.01 70.00
Teller		15.13		14.65		15.54		11.00		66.84
Washington Weld	25.92 30.87	11.70 10.01	34.17 39.40	11.76 12.43	26.00 28.68	8.80 12.02	24.87 25.90	6.03 8.59	104.84 137.38	56.04 53.99
Yuma	28.28	12.56	84.89	12.78	24.44	13.26	22.13	7.15	117.21	61.32
State	81.58	11.50	85.86	12.21	28.55	11.12	25.26	8.16	147.96	63.81

#### ACREAGE AND PRODUCTION OF CORN, 1932

	:	RRIGAT	ED	мол	N-IRRIGA	TED	TO	TAL
COUNTY	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels
Adams	3,500	16	56,000	82,190	4	128,760	35,690	184,760
Alamosa	10	25	250	20 010	4	146,440	10 39,450	250 186,200
Arapahoe Archuleta	2,840 240	14 24	39,760 5,760	36,610 680	14	9,520	920	15,280
_		15	13,800	91,110	6	546,660	92,030	560,460
Baca Bent	920 10,950	19	208,050	9,000	5	45,000	19,950	253,050 258,080
Boulder	9,730	26	252,980	1,020	5	5,100	10,750	
Chaffee	10	27	270	F. 440	3	163,320	10 54,440	270 163,320
Cheyenne Clear Creek	10	21	210	54,440		103,320	10	210
Conejos	90	21	1,890				90 60	1,890 1,560
Costilia	60 1,600	26 15	1,560 24,000	1,690	3	5,070	8,290	29,070
Crowley Custer	100	19	1,900	510	6	3,060	610	4,960
Delta	6,340	32	202,880	20	12	240	6,360	203,120
Denver			<b>-</b>	1,950	13	25,350	1,950	25,350
Doiores Douglas	660	18	11,880	13,900	4	55,600	14,560	67,480
Eagle	10	30	300				10	300
Elbert			20,900	77,330 63,700	4	309,320 254,800	77,330 64,800	309,320 275,700
El Paso	1,100	19			7	5,320	2,750	55,070
Fremont	1,990	25	49,750	760	i '	2,200	2,130	61,410
Garfield Gilpin	1,910	31	59,210	220	10	2,200		
Grand	10	25	250				10	250
Gunnison		i						
Hinsdale Huerfano	650	15	9,750	2,500	4	10,000	3,150	19,750
Jackson Jefferson	2,850	20	57,000	1,600	-5	8,000	4,450	65,000
Kiowa Kit Carson	180	20	3,600	28,260 183,320	3	84,780 549,960	28,260 183,500	84,780 553,560
Lake						00.510	3,720	56,640
La Plata Larimer	1,310 7,130	23 24	30,130 171,120	2,410 3,960	11 5	26,510 19,800	11,090	190,920
Las Animas	3,310	24	79,440	26,770	6	160,620	30,080	240,060
Lincoln Logan	110 14,350	15 21	1,650 301,350	54,290 145,060	8	162,870 870,360	54,400 159,410	164,520 1,171,710
Mesa	7,630	31	236,530	380	13	4,940	8,010	241,470
Mineral								
Moffat Montezuma	2,190	24 25	1,200 54,750	2,280 6,690	12 12	27,360 80,280	2,33 <b>0</b> 8,880	28,560 135,030
Montrose	5,740	29	166,460				5,740	166,460
Morgan	14,110	29	409,190	71,940	6	431,640	86,050	840,830
Otero Ouray	11,690 220	26 25	303,940 5,500	1,890	5	9,450	13,580 220	313,390 5,500
Park Phillips				125,340	8	1,002,720	125,340	1,002,720
Pitkin		]						
Prowers Pueblo	20,330 9,890	20 21	406,600 207,690	22,020 8,430	3	88,080 25,290	42,350 18,320	494,680 232,980
Rio Blanco Rio Grande	30	30	900				30	900
Routt								
Saguache	10	24	240				10	240
San Juan San Miguel	100	27	2,700	340	15	5,100	440	7,800
Sedgwick	5,390	81	167,090	62,020	8	496,160	67,410	668,250
Jummit		- <del>-</del>						
Teller				40	10	400	40	400
Washington Weld	3,890 38,330	20 24	77,800 919,920	190,700 81,450	6	1,144,200 325,800	194,590 119,780	1,222,000 1,245,720
Yuma	310	17	5,270	310,300	5	1,551,500	310,610	1,556,770
	i				-		l ——	
State	191,880	1	4,571,420	1,717,120		8,791,580	1,909,000	13,363,000

#### ACREAGE AND PRODUCTION OF OATS, 1932

COHNING		IRRIGAT	ED	NO	N-IRRIGA	TED	то	TAL
COUNTY	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels
Adams Alamosa Arapahoe Archuleta	850 2,520 510 310	31 33 24 31	26,350 83,160 12,240 9,610	330 	5 -6 27	1,650 4,920 32,670	1,180 2,520 1,330 1,520	28,000 83,160 17,160 42,280
Baca Bent Boulder	50 410 3,590	21 31 36	1,050 12,710 129,240	450 20 140	7 7 8	3,150 140 1,120	500 430 3,730	4,200 12,850 130,360
Chaffee Cheyenne Clear Creek Conejos Costilla Crowley Custer	2,920 1,020 140 770	32  42 43 13 23	25,600  122,640 43,860 1,820 17,710	90 10  460	4 19   9	360 190  4,140	800 90 10 2,920 1,020 140 1,230	25,690 360 190 122,640 43,860 1,820 21,850
Delta Denver Dolores Douglas	2,650  170	43   21	113,950  3,570	10 320 6,070	23 23 6	7,360	2,660	114,180 7,360
Eagle Elbert El Paso	1,670 	39 29	65,130	50 5,440 4,530	25 6 8	36,420 1,250 32,640 36,240	6,240 1,720 5,440 4,580	39,990 66,380 32,640 37,690
Garfield Gilpin Grand Gunnison	560 2,760 	29 46  34 33	16,240 126,960 29,580 3,300	1,000 220 50 80 320	8 27 24 19	8,000 5,940 1,200 1,520 6,080	1,560 2,980 50 950 420	24,240 132,900 1,200 31,100 9,380
Hinsdale Huerfano Jackson	610	24	14,640	360		2,160	970	16,800
Jefferson	1,960	28 29	2,240 56,840	1,880	15	900 11,280	3,840	3,140 68,120
Kit Carson				220 1,790	6 7	1,320 12,530	220 1,790	1,820 12,530
La PlataLarimerLas AnimasLincolnLogan	4,150 4,220 490 1,990	37 34 22 	153,550 143,480 10,780 57,710	1,040 760 890 160 3,230	21 7 6 4 7	21,840 5,320 5,340 640 22,610	5,190 4,980 1,380	175,390 148,800 16,120 640
Mesa Mineral	2,500	44	110,000	190	26	4,940	5,220 2,690	80,320 114,940
Montezuma Montrose Morgan	390 4,950 5,360 680	39 37 36 31	15,210 183,150 192,960 21,080	1,740 1,440 120 300	24 24 17 8	41,760 34,560 2,040 2,400	2,130 6,390 5,480 980	56,970 217,710 195,000 23,480
Otero Ouray	2,410 590	32 33	77,120 19,470	30 140	6 19	180 2,660	2,440 730	77,300 22,130
Park Phillips Pitkin Prowers Pueblo	860 1,050 350	 44 34 28	37,840 35,700 9,800	7,090 	15 7  9 5	2,100 49,630  4,140 1,400	7,090 860 1,510 630	2,100 49,630 37,840 39,840 11,200
Rio Blanco Rio Grande Routt	1,910 4,510 80	43 30 35	82,130 135,300 2,800	8,760	26 21	17,420 183,960	2,580 4,510 8,840	99,550 135,300 186,760
Saguache San Juan San Miguel	3,410 <u>140</u>	36 36	122,760  5,040	130	 23	2,990	3,410 	122,760 
Sedgwick Summit	1,310 50	39 27	51,090 1,350	4,150 90	7 18	29,050 1,620	5,460 140	80,140 2,970
Teller Washington Weld	150 8,260	24 34	3,600 280,840	340 2,420 2,840	15 8 6	5,100 19,360	340 2,570	5,100 22,960 207,880
Yuma				2,480	8	17,040 19,840	11,100 2,480	297,880 19,840
State	75,180		2,672,650	65,820		711,350	141,000	3,384,000

#### ACREAGE AND PRODUCTION OF BARLEY, 1932

	)	RRIGATI	ED	NON	I-IRRIGA	TED	TOT	TAL
COUNTY	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels
Adams Alamosa Arapahoe Archuleta	3,230 3,440 890 80	26 28 24 20	83,980 96,320 21,360 1,600	8,250 5,360 280	5 -6 12	41,250 32,160 3,360	11,480 3,440 6,250 360	125,230 96,320 53,520 4,960
Baca Bent Boulder	390 5,990 6,410	23 34 29	8,970 203,660 185,890	13,920 250 160	9 9 9	125,280 2,250 1,440	14,310 6,240 6,570	134,250 205,910 187,330
Chaffee Cheyenne	1,520	24	36,480 	10 8,570	16 7	160 59,990	1,530 8,570	36,640 <b>5</b> 9,990
Clear Creek Conejos Costilla Crowley Custer	7,580 2,780 380 270	34 30 14 22	257,720 83,400 5,320 5,940	310	  - <del>-</del> <del>-</del> <del>9</del>	2,790	7,580 2,780 380 580	257,720 83,400 5,320 8,730
Delta Denver	2,500	33	82,500				2,500	82,500
Dolores Douglas	80	33	2,640	120 900	17	2,040 6,300	120 980	2,040 8,940
Eagle Elbert El Paso	470 	30 28	14,100  3,080	70 9,430 590	21 5 5	1,470 47,150 2,950	540 9,430 700	15,570 47,150 6,030
Fremont	250	20	5,000	180	9	1,620	480	6,620
Garfield Gilpin Grand Gunnison	2,000  380 180	36  35 27	72,000  13,300 4,860	160 20 60 190	22 15 19 23	3,520 300 1,140 4,370	2,160 20 440 370	75,520 300 14,440 9,230
Hinsdale Huerfano	190	22	4,180	180	8	1,440	370	5,620
Jackson Jefferson	80 1,850	28 22	2,240 40,700		-7	4,200	80 2,450	2,240 44,900
Kiowa Kit Carson	150	25	3,750	2,700 <b>4</b> 9,810	4 6	10,800 298,860	2,700 <b>4</b> 9,960	10,800 802,610
Lake La Pluta Larimer Las Animas Lincoln Logan	2,060 15,740 1,480 50 8,910	30 34 28 22 28	61,800 535,160 41,440 1,100 249,480	700 2,310 2,160 7,700 28,530	20 8 9 3 6	14,000 18,480 19,440 23,100 171,180	2,760 18,050 3,640 7,750 37,440	75,800 553,640 60,880 24,200 420,660
Mesa Mineral	1,710	89	66,690	80	16	1,280	1,790	67,970
Montezuma Montezuma Montrose Morgan	90 1,620 2,610 7,950	33 30 34 31	2,970 48,600 88,740 246,450	740 1,320 90 7,070	18 17 19 7	13,320 22,440 1,710 49,490	830 2,940 2,700 15,020	16,290 71,040 90,450 295,940
Otero Ouray	3,860 190	31 25	119,660 4,750	170 330	8 12	1,360 3,960	4,030 520	121,020 8,710
Park Phillips Pitkin Prowers Pueblo	120 7,170 1,010	28 30 29	3,360 215,100 29,290	5,780 420	15 6  9 4	53,760 52,020 1,680	30 8,960 120 12,950 1,430	450 53,760 3,360 267,120 30,970
Rio Blanco Rio Grande Routt	180 7,130 250	38 27 36	6,840 192,510 9,000	710	$\begin{array}{c c} 21 \\ \bar{2}\bar{4} \end{array}$	14,910 105,600	890 7,130 4,650	21,750 192,510 114,600
Saguache	2,820	29	81,780				2,820	81,780
Sedgwick Summit	200 1,720 10	24 31 25	4,800 53,320 250	420 11,090 70	12 5 14	5,040 55,450 980	620 12,810 80	9,840 108,770 1,230
Teller Washington			99.140	90	12	1,080	90	1,080
Weld	890 47,490	26 31	23,140 1,472,190	43,680 28,490	8 6	349,440 170,940	44,570 75,980	372,580 1,643,130
Yuma	150 400	==	4 707 410	25,080	8	200,640	25,080	200,640
State	156,460		4,797,410	282,540		2,006,590	439,000	6,804,000

#### ACREAGE AND PRODUCTION OF WINTER WHEAT, 1932

COXXX		RRIGAT	ED	NO	N-IRRIG	ATED	то	TALS
COUNTY	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	-	Production Bushels
Adams Alamosa Arapahoe Archuleta	3,050 30 810 20	19 25 18 27	57,950 750 14,580	12,220	9 -7	109,980 107,590	15,270 30 16,180	167,930 750 122,170
BacaBent	1,810 1,110	20 29	36,200 32,190	230 199,460 90	15 8 8	3,450 1,595,680	250	3,990 1,631,880
Chaffee	1,420	24	34,080 840	550	9	720 4,950	1,200 1,970	32,910 39,030
Cheyenne Clear Creek Conejos	70	  	1,890	4,350	7	30,450	4,350	840 30,450
Costilla Crowley Custer	180 60 130	23 15 27	4,140 900 3,510	340	 - <del>-</del> <del>-</del> <del>7</del>	2,380	70 180 60 470	1,890 4,140 900 5,890
Delta Denver Dolores Douglas	370	32	11,840	1,340	 13	17,420	370	11,840 
Eagle Elbert	120 20	20 32 18	1,200 3,840 360	2,870 80 3,100	9 17 7	25,830 1,360 21,700	2,930 200 3,120	27,030 5,200 22,060
El Paso Fremont	80 70	21 23	1,680 1,610	420 30	9	3,780 240	500 100	5,460 1,850
Garfield Gilpin	230	32	7,360	490	11	5,390	720	12,750
Grand Gunnison Hinsdale	30 	27	810	30 20	13 14	390 280	60 20	1,200 280
Huerfano	170	20	3,400	580	7	4,060	750	7,460
Jefferson Kiowa	1,680	25	42,000	1,580	11 4	17,380	3,260 1,590	59,380 6 360
Kit Carson				13,720	7	96,040	13,720	96,040
La Plata Larimer Las Animas Lincoln Logan	1,240 1,830 260 	28 25 18 	34,720 45,750 4,680 7,200	220 5,480 1,950 10,370 26,250	15 10 8 5	3,300 54,800 15,600 51,850 210,000	1,460 7,310 2,210 10,370 26,650	38,020 100,550 20,280 51,850 217,200
Mesa Mineral	970	27	26,190	460	14	6,440	1,430	32,630
Moffat Montezuma Montrose Morgan	30 360 1,050 180	22 24 29 20	8,640 30,450 3,600	2,410 1,740 140 6,960	16 15 20 7	38,560 26,100 2,800 48,720	2,440 2,100 1,190 7,140	39,220 34,740 33,250 52,320
Otero Ouray	630 50	27 25	17,010 1,250	90 430	7 13	630 5,590	720 480	17,640 6,840
Park Phillips Pitkin Prowers Pueblo	60 2,540 340	27 26 23	1,620 66,040 7,820	21,360 25,720 2,430	- <del>7</del> - <del>8</del> 5	149,520 205,760 12,150	21,360 60 28,260 2,770	149,520 1,620 271,800 19,970
Rio Blanco Rio Grande Routt	30 20	30 24	900 480	740  1,520	19 20	14,060 	740 30 1,540	14,060 900 30,880
Saguache	30	29	870				30	870
San Miguel Sedgwick Summit	250 	24 19 	1,440 4,750	250 17,280 30	16 8 12	4,000 138,240 360	310 17,530 30	5,440 142,990 360
Teller Washington	80	18	1,440	20	10 7	200	20	206
Weld	8,370	23	192,510	19,450 40,020	9	136,150 360,180	19,530 48,390	137,590 552,690
Yuma	30,470	23	722,910	12,750 456,530	7	89,250	12,890	92,470
50000	00,410		122,810	100,000		3,680,090	487,000	4,383,000

#### ACREAGE AND PRODUCTION OF SPRING WHEAT, 1932

	 	IRRIGATI	<b>ED</b>	NO	N-IRRIGA	TED	тот	ALS
COUNTY	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels
Adams	2,250	21	47,250	1,790	4	7,160	4,040	54,410
Alamosa	1,600	23	36,800 5,760	1,780	5	8,900	$1,600 \\ 2,140$	36,800 14,660
Arapahoe Archuleta	360 420	16 20	8,400	1,280	15	19,200	1,700	27,600
Baca	10	15	150	170	6	1,020	180	1,170
Bent Boulder	280 4,110	21 15	5,880 61,650	290 110	7 6	2,030 660	570 4,220	7,910 62,310
Chaffee Cheyenne	480	18	8,640	970		3,880	480 970	8,640 3,880
Clear Creek		1						99,540
Conejos	4,740 2,600	21 20	99,540 52,000				4,740 2,600	52,000
Costilla Crowley	2,000	11	220	20	7	140	40	360
Custer	100	14	1,400	120	9	1,080	220	2,480
Delta Denver	4,060	24	97,440	140	14	1,960	4,200	99,400
Dolores	20	14	280	880 740	10 7	8,800 5,180	880 760	8,800 5,460
Douglas		1 1			1 1	İ	1,010	27,330
Eagle	960	28	26,880	50 7.940	9	450 31,760	7,940	31,760
El Paso	60	12	720	2,330	5	11,650	2,390	12,370
Fremont	210	15	3,150	70	6	420	280	3,570
Garfield	5,590	23	128,570	680	10	6,800	6,270	135,370
Gilpin Grand	30	13	390	10	11	110	10 30	110 390
Gunnison	30	16	480	70	-9	630	100	1,110
Hinsdale Huerfano	230	16	3,680	220	- <u>-</u>	1,320	450	5,000
Jackson Jefferson	2,390	16	38,240	10 430	9 7	90 3,010	$\substack{10 \\ 2,820}$	90 41,250
Kiowa				200	5	1,000	200	1,000
Kit Carson Lake				13,800	5	69,000	13,800	69,000
La Plata	5,760	23	132,480	1,210	12	14,520	6,970	147,000
Larimer Las Animas	5,640 170	18 18	101,520 3,060	1,690 290	7 7	11,830 2,030	7,330 460	113,350 5,090
Lincoln	1.0	10	3,000	4,780	3	14,340	4,780	14,340
Logan	660	16	10,560	7,420	5	37,100	8,080	47,660
Mesa Mineral	2,790	18	50,220	190	11	2,090	2,980	52,310
Moffat	100	18	1,800	2,230	9	20,070	2,330	21,870
Montezuma Montrose	4,340 9,600	22 25	95,480 240,000	4,490 30	12 15	53,880 450	8,830 9,630	149,360 240,450
Morgan	380	14	5,320	7,690	5	38,450	8,070	43,770
Otero Ouray	520 490	19 22	9,880 10,780	20 200	6 17	120 3,400	540 690	10,000 14,180
Park				30	7	210	30	210
Phillips Pitkin	370	33	12,210	2,710	4	10,840	2,710 370	10,840 12,210
rrowers	20	22	440	380	7	2,660	400	3,100
Pueblo	120	16	1,920	280	4	1,120	400	3,040
Rio Blanco Rio Grande	320 3,850	28 19	8,960 73,150	620	13	8,060	940 3,850	17,020 73,150
Routt	50	21	1,050	3,860	10	38,600	3,910	39,650
Saguache	1,780	19	33,820				1,780	33,820
San Mignal	530	23	12,190	90	15	1,350	620	13,540
Sedgwick Summit	750	16	12,000	1,040 10	5 9	5,200 90	$1,790 \\ 10$	17,200 90
Teller				20	7	140	20	140
Washington	20	14	280	10,360	5	51,800	10,380	52,080
WeldYuma	14,480	18	260,640	24,130	4	96,520	38,610	357,160
	40	15	600	1,800	5	9,000	1,840	9,600
State	88,330	l	1,705,880	109,670	1	610,120	193,000	2,316,000

## PERCENTAGE DISTRIBUTION OF WHEAT ACREAGE, 1932

PERCENTAGE DISTRIBUTION OF WHEAT PRODUCTION, 1932

	W .E	LEAT ACR	EAGE, 193	32	WHEAT PRODUCTION, 1932				
COUNTY	Spring Wheat % Total Wheat Acreage	Winter Wheat % Total Wheat Acreage	Irrigated Wheat % Total Wheat Acreage	Non- Irrigated Wheat % Total Wheat Acreage	Spring Wheat % Total Wheat Prod.	Winter Wheat % Total Wheat Prod.	Irrigated Wheat % Total Wheat Prod.	Non- Irrigated Wheat % Total Wheat Prod.	
AdamsAlamosaArapahoeArchuleta	20.9 98.2 11.7 87.2	79.1 1.8 88.3 12.8	27.4 100.0 6.4 22.6	72.6 93.6 77.4	24.5 98.0 10.7 87.4	75.5 2.0 89.3 12.6	47.3 100.0 14.9 28.3	52.7 85.1 71.7	
Baca Bent Boulder	.1 32.2 68.2	99.9 67.8 31.8	.9 78.5 89.3	99.1 21.5 10.7	.1 19.4 61.5	99.9 80.6 38.5	2.2 93.3 94.5	97.8 6.7 5.5	
Chaffee Cheyenne Clear Creek	94.1 18.2	5.9 81.8	100.0	100.0	91.1 11.3	8.9 88.7	100.0	190.0	
Conejos Costilla Crowley Custer	98.5 93.5 40.0 31.9	1.5 6.5 60.0 68.1	100.0 100.0 80.0 33.3	20.0 66.7	98.1 92.6 28.6 29.6	1.9 7.4 71.4 70.4	100.0 100.0 88.9 58.7	11.1	
Delta Denver Dolores Douglas	91.9 39.6 20.6	8.1 60.4 79.4	96.9  2.2	3.1 100.0 97.8	89.4 33.6	10.6	98.3	1.8	
Eagle Elbert El Paso	83.5 71.8 82.7	16.5 28.2 17.3	89.3 .2 4.8	10.7 99.8 95.2	16.8 84.0 59.0 69.4	83.2 16.0 41.0 30.6	94.4 .7 13.5	95.4 5.6 99.3 36.5	
Fremont Garfield Gilpin	73.7 89.7 100.0	26.3 10.3	73.7 83.3	26.3 16.7	65.9 91.4	34.1 8.6	87.8 91.8	12.2 8.2	
Grand Gunnison Hinsdale	33.3	66.7 16.7	66.7 25.0	100.0 33.3 75.0	100.0 24.5 79.9	75.5 20.1	75.5 84.5	100.0 24.5 65.5	
Huerfano	37.5 100.0	62.5	33.3	66.7 100.0	40.1 100.0	59.9	56.8	43.2	
Jefferson Kiowa Kit Carson	46.4 11.2 50.1	53.6 88.8 49.9	66.9	33.1 100.0 100.0	41.0 13.6 41.8	59.0 86.4 58.2	79.7	20.3 100.0 100.0	
Lake La Plata Larimer Las Animas Lincoln Logan	82.7 50.1 17.2 31.6 23.3	17.3 49.9 82.8 68.4 76.7	83.0 51.0 16.1	17.0 49.0 83.9 100.0 96.9	79.5 53.0 20.1 21.7 18.0	20.5 47.0 79.9 78.3 82.0	90.4 68.8 30.5	9.6 31.2 69.5 100.0 93.3	
Mesa Mineral Moffat Montezuma Montrose Montrose	67.6  48.8 80.8 89.0 53.1	32.4  51.2 19.2 11.0 46.9	85.3  2.7 43.0 98.4 3.7	97.3 57.0 1.6 96.3	61.6  35.8 81.1 87.9 45.6	38.4 	90.0  4.0 56.6 98.8	96.0 43.4 1.2 90.7	
Otero Curay	42.9 59.0	57.1 41.0	91.3 46.2	8.7 53.8	36.2 67.5	63.8 32.5	9.3 97.3 57.2	2.7 42.8	
Park Phillips Pitkin Prowers Pueblo	100.0 11.3 86.0 1.4 12.6	88.7 14.0 98.6 87.4	100.0 8.9 14.5	100.0 100.0 91.1 85.5	100.0 6.8 88.3 1.1 13.2	93.2 11.7 98.9 89.9	100.0 24.2 42.3	100.0 100.0  75.8 57.7	
Rio Blanco Rio Grande Routt	56.0 99.2 71.7	44.0 .8 28.3	19.0 100.0 1.3	81.0 98.7	54.8 98.8 56.2	45.2 1.2 43.8	28.8 100.0 2.2	71.2 97.8	
Saguache San Juan San Miguel Sedgwick Summit	98.3 66.7 9.3 25.0	1.7 33.3 90.7 75.0	63.4 5.2	36.6 94.8 100.0	97.5 71.3 10.7 20.0	2.5 28.7 89.3 80.0	71.8 10.5	28.2 89.5 100.0	
Teller Washington	50.0 34.7	50.0 65.3	.3	100.0 99.7	41.2 27.5	58.8 72.5	 .9	100.0 99.1	
WeldYuma	12.5	55.6 87.5	26.3 1.2	73.7 98.8	9.4	90.6	49.8 3.7	96.3	
State	28.4	71.6	16.7	83.3	34.6	65.4	36.3	63.7	

#### ACREAGE AND PRODUCTION OF SUGAR BEETS AND RYE, 1932

COUNTY	Acreage	Aver-				1	Acreage	Total
	i	age Yield	Production Tons	Acreage	Aver- age Yield	Production Bushels	Rye for Pasture	Rye Acreage
Adams	5,120	11.3	57,860	345	5	1,725	470	815
Alamosa Arapahoe Archuleta	490 420	6.9 7.3	3,380 3,070	390	- <u>-</u> 	2,340	300	690
Baca				650	6	3,900	110	760 45
Bent Boulder	1,790 4,210	10.8 10.4	19,330 43,780	25 	7 	175	20 30	30
Chaffee Cheyenne		<b>-</b>		<u>5</u> 5	<u>-</u>	220	30	85
Clear Creek	40	7.3	290					
Costilla Crowley	2.640	4.9	12,940	10	8	80	5	15
Custer				20	4	80	55	75
Delta Denver	2,540	13.0	33,020	10	17 	170		10
Dolores Douglas				10 1,640	11 6	110 9,840	60 320	70 1,960
EagleElbert				10 1,990	17 6	170 11,940	<u>-</u> -	10 2,830
El Paso	520	10.5	5,460	1,780	5	8,900	1,290	3,070
Fremont				15	7	105	40	55 45
Garfield Gilpin	2,070	12.8	26,500	15	15 	225	30	i
Grand Gunnison				60 10	14 16	840 160	30 10	90 20
Hinsdale Huerfano	100	11.6	1,160	<u>-</u>	<sup>-</sup> 5	25	30	35
Jackson Jefferson	480	9.4	4,510	30 110	17 5	510 550	5 20	35 130
Kiowa Kit Carson	<b>-</b>			50 940	4 4	200 3,760	1,300	50 2,240
Lake		<b>-</b>			10	400		35
La Plata Larimer	13,090	10.5	137,440	25 90	16 6	540	60	150
Las Animas Lincoln	1,780	8.1	14,420	150 5 <b>3</b> 0	6 4	900 2,120	140 540	290 1,070
Logan	12,560	10.8	135,650	1,080	6	6,480	4,700	5,780
Mesa Mineral	2,530	11.2	28,340	40	14	560	25	65
Moffat Montezuma				1,860 100	10 16	18,600 1,600	1,180 20	3,040 120
Montrose	1,350	12.0	16,200	30	13	390	10 3,850	40 4,675
Morgan	21,070 9,360	11.7 11.0	246,520 102,960	825 140	5 11	4,125 1,540	20	160
Ouray								
Park Phillips				465		2,790	2,100	2,565
Pitkin							125	125
Prowers Pueblo	3,920 5,960	9.3 12.1	36,460 72,120	195 40	8 9	1,560 360	35 70	230 110
Rio Blanco Rio Grande Routt	60	8.6	520	85	15 15	1,275	50	135
	20	100	220	80		1,200	20	100
Saguache San Juan		10.9	220					
San Miguel Sedgwick Summit	3,860	11.4	44,000	25 275 45	16 5 12	1,375 540	1,310 10	70 1,585 55
Teller				20	12	240	95	115
Washington	440	12.3	5,410	1,440	4	5,760	2,710	4,150
Weld	62,580	11.8	738,440	4,770	6	28,620	5,680	10,450
Yuma	150,000	===	1.500.000	4,520	5	22,600	2,200	6,720
State	159,000		1,790,000	25,000		150,000	30,000	55,000

#### AGRICULTURAL STATISTICS

#### ACREAGE AND PRODUCTION OF DRY BEANS, 1932

COLINATION	1	IRRIGAT	ED	NON	-IRRIGA	TED	TO	TAL
COUNTY	Acreage	Average Yield	Production Pounds	Acreage	Average Yield	Production Pounds	Acreage	Production Pounds
Adams	420	390	163,800	10,800	120	1,296,000	11,220	1,459,800
Alamosa Arapahoe	160	340	54,400	10,420	100	1,042,000	10,580	
Archuleta				20	250	5,000	26	1,096,400 5,000
Baca				4,210	140	589,400	4,210	589,400
BentBoulder	210 80	500 420	105,000 33,600	570 100	150 120	85,500 12,000	780 180	190,500 45,600
Chaffee Cheyenne	40	350	14,000	240	80	19,200	40 240	14,000 19,200
Clear Creek Conejos	480	F00						+
Costilla	230	590 510	283,200 117,300				480 230	283,200 117,300
Crowley Custer	140	320	44,800	580	90	52,200	720	97,000
Delta Denver	120	510	61,200				120	61,200
Dolores				730	270	197,100	730	197,100
Douglas				540	120	64,800	540	64,800
Eagle Elbert								
El Paso	180	320	57,600	32,230 26,110	140 140	4,512,200 3,655,400	32,230 26,290	4,512,200 3,713,000
Fremont	50	320	16,000	30	170	5,100		1
Garfield	20	510	10,000	1		0,100	80	21,100
Gilpin			10,200				20	10,200
Grand Gunnison								
Hinsdale	90	300	27,000	430	130			00.000
Jackson		000	21,000			55,900	520	82,900
Jefferson	70	370	25,900				70	25,900
Kiowa Kit Carson				170 1,760	80 110	13,600 193,600	170 1,760	13,600 193,600
Lake La Plata	150	480	72,000	530	300	159,000	680	231,000
Larimer	440	440	193,600	490	110	53,900	930	247,500
Las Animas Lincoln	2,020	410	828,200	8,060 8,890	150 90	1,209,000 800,100	10,080 8,890	2,037,200 800,100
Logan	420	420	176,400	2,390	130	310,700	2,810	487,100
Mesa	1,400	910	1,274,000	250	250	62,500	1,650	1,336,500
Mineral Moffat				90	300	27,000	90	27,000
Montezuma	520	780	405,600	4,100	320	1,312,000	4,620	1,717,600
Montrose Morgan	170 970	600 390	102,000 378,300	7,850	120	942,000	170 8,820	102,000 1,320,300
Otero	2,430	530	1,287,900	120	110	13,200	2,550	1,301,100
Ouray								
Park Phillips				80	160	19 900		12,800
Pitkin Prowers						12,800	80	54,000
Prowers Pueblo	80 1,740	480 540	38,400 939,600	120 5,530	130 100	15,600 553,000	200 7,270	54,000 1,492,600
Rio Blanco Rio Grande								
Routt								
Saguache								
San Juan San Miguel				140	280	39,200	140	39,200
Sedgwick				30	140	4,200	30	4,200
Summit								
Teller								
Washington Weld	8,670	510	4,421,700	8,520 19,850	150 110	1,278,000 2,183,500	8,520 28,520	1,278,000 6,605,200
Yuma				720	130	93,600	720	93,600
State	21,300		11,181,700	156,700		20,868,300	178,000	32,000,000
D0200	21,000		11,101,100	100,100			110,000	32,000,000

#### ACREAGE AND PRODUCTION OF POTATOES, 1932

	]	RRIGATI	ED	NON	I-IRRIGA	TED	тот	ral
COUNTY	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Bushels	Acreage	Production Bushels
Adams Alamosa Arapahoe	170 6,640 10	100 102 90	17,000 677,280 900	20 <u>5</u>	30 	600 	190 6,640 15	17,600 677,280 1,025
Archuleta	245	110	26,950	245	75	18,375	490	45,325
Baca Bent Boulder	5 180	65 70	325 12,600	5 <u>-</u> 50	40 	200  2,000	5 5 230	200 325 14,600
Chaffee Cheyenne Clear Creek	360 	70	25,200 	20 35	32 75	640 2,625	360 20 35	25,200 640 2,625
Conejos	8,655 1,060	105 87	908,775 92,220	5	32	 160	8,655 1,060 5	908,775 92,220 160
Crowley Custer	160	75	12,000	1,085	25	27,125	1,245	39,125
Delta Denver	1,590 	155	246,450				1,590	246,450
Dolores Douglas	10	85	850	290 240	92 50	26,680 12,000	290 <b>250</b>	26,680 12,850
Eagle Elbert El Paso	1,230 	175 	215,250	10 590 515	60 20 23	600 11,800 11,845	1,240 590 515	215,850 11,800 11,845
Fremont	40	100	4,000	270	35	9,450	310	13,450
Garfield Gilpin Grand Gunnison	3,340  30 195	180  110 105	3,390 20,475	45 90 90 50	70 50 85 70	3,150 4,500 7,650 3,500	3,385 90 120 245	604,350 4,500 10,950 23,975
Hinsdale Huerfano	5 25	140 70	700 1,750		40	3,200	5 105	700 4,950
Jackson Jefferson	10 80	130 90	1,300 7,200	60 370	80 70	4,800 25,900	70 450	6,100 33,100
Kiowa Kit Carson				10 180	20 23	200 4,140	10 180	200 <b>4,140</b>
Lake La Plata Larimer Las Animas Lincoln Logan	1,210 770 20 	125 130 60 	151,250 100,100 1,200 77,350	80 85 100 175 1,135	85 55 37 18 35	6,800 4,675 3,700 3,150 39,725	1,290 855 120 175 2,240	158,050 104,775 4,900 3,150 117,075
Mesa	1,900 5	163 100	309,700 500	280	70	19,600	2,180	329,300 500
Molfat Montezuma Montrose Morgan	80 1,095 6,285 1,100	110 155 185 115	8,800 169,725 1,162,725 126,500	770 1,000 55 50	72 100 90 60	55,440 100,000 4,950 3,000	850 2,095 6,340 1,150	64,240 269,725 1,167,675 129,500
Otero	5 130	80 150	400 19,500	105	- <u></u> -	8,925	5 235	400 28,425
Park Phillips Pitkin Prowers	855	140	119,700	1,315 30	45 50	59,175 1,500	1,315 30 855	59,175 1,500 119,700
rueblo		80	400	30	25	750	5 30	400 750
Rio Blanco Rio Grande Routt	110 16,580 145	130 123 115	14,300 2,039,340 16,675	10 760	100	1,000  76,000	120 16,580 905	15,300 2,039,340 92,675
Saguache San Juan	8,745	107	935,715				8,745	935,715
Sedgwick Summit	80 630	138 120	11,040 75,600	- 180 180 35	80 55 80	14,400 9,900 2,800	260 810 85	25,440 85,500 2,800
Teller				1,570	60	94,200	1,570	94,200
Washington Weld	15 21,525	75 95	1,125 2,044,875	195 <b>945</b>	45 85	8,775 <b>33,07</b> 5	210 22,470	9,900 2,077,950
Yuma	15	50	750	105	40	4,200	120	4,950
State	86,450		10,262,995	13,550		737,005	100,000	11,900,000

#### ACREAGE AND PRODUCTION OF GRAIN AND SWEET SORGHUMS, 1932

	GRA	IN SORG	HUMS	SWE	ET SORG	HUMS	Total
COUNTY	Acreage	Average Yield	Production Bushels	Acreage	Average Yield	Production Tons	Acreage All Sorghums
Adams	1,550	4	6,200	2,970	.8	2,375	4,520
AlamosaArapahoeArchuleta	1,810	5	9,050	4,020	.6	2,410	5,830
Baca	58,530	7	409,710	4.475	.9	4,025	
Bent Boulder	14,280	7	99,960	1,120 20	1.8	1,010	63,005 15,400 20
Chaffee						<b></b>	
CheyenneClear Creek	15,290	4	61,160	6,760	.5	3,380	22,050
Conejos Costilla							
CrowleyCuster	320 40	3 6	960 240	750 20	1.0	300 20	1,070
Delta	15	6	90	15	1.5	20	30
Denver Dolores Douglas	25 160		150 800	130 1,680	1.5	195 1,175	155
Eagle	100		800	1,000	.,	1,170	1,840
ElbertEl Paso	1,520 1,740	4	6,080 6,960	8,720 2,640	.6 .7	5,230 1,850	10,240
Fremont	30	6	180	40	1.5	60	70
Garfield Gilpin	80	8	640	60	1.5	90	140
Grand Gunnison							
HinsdaleHuerfano	50		300	585		410	635
Jackson Jefferson	25	_ <u>-</u> _	125	150	1.9	285	175
KiowaKit Carson	8,536 15,390	5 5	42,650 76,950	14,870 14,170	.6	8,920 8,500	23,400 29,560
Lake La Plata Larimer	160 260	- <del>-</del> 7	1,120 1,040	10 1,690	1.5 1.2	15 2,030	170 1,950
Las Animas Lincoln Logan	7,040 6,820 1,940	5 4 5	35,200 27,280 9,700	2,230 5,480 9,960	.6 .6	1,340 3,290 8,965	9,270 12,300 11,900
Mesa Mineral	30	9	270	280	1.5	420	310
MoffatMontezuma	50 540	6	300 3,240	260 320	1.0 1.5	260 480	310 860
Montrose	3,210	9	45 16,050	4,845		3,875	8,055
OteroOuray	2,520	8	20,160	490	1.5	735	3,010
Park							
Phillips	950	8	7,600	6,595	1.0	6,595	7,545
Prowers Pueblo	29,525 3,040	6 4	177,150 12,160	6,050 480	1.1 .5	6,655 240	35,575 3,520
Rio Blanco Rio Grande							
Routt							
Saguache San Juan	<del>-</del>						
San Miguel Sedgwick	25 460	6 6	150 2,760	5 360	1.5	10 325	30 820
Summit							
Washington	13,160	7	92,120	14,380	.9	12,940	27,540
Yuma	3,570 13,310	7	14,280 93,170	7,910 17,460	1.1	6,330 19,205	11,480 30,770
State	206,000		1,236,000	142,000		114,000	348,000

#### ACREAGE AND PRODUCTION OF BROOMCORN AND ALFALFA, 1932

	B	ROOMCO	RN		ALFALF	A.
COUNTY	Acreage	Average Yield	Produc- tion Pounds	Acreage	Average Yield	Produc- tion Tons
Adams	10	120	1,200	12,250	1.3	15,925
Alamosa				14,280	1.6	22,850
Arapahoe			<b></b>	8,740 5,770	1.1	9,615 8,080
Archuleta				0,,,,		
Baca	38,720	205	7,937,600	1,870	1.4	2,620
BentBoulder	520	165	85,800	21,950 23,780	1.5 1.8	<b>32,925</b> 42,800
Boulder				20,100		
Chaffee				4,140	1.7	7,040 280
CheyenneClear Creek				470 10	1.3	15
Conejos				16,330	1.6	26,130
Costilla				5,940	1.7	10,100 4,390
CrowleyCuster				5,490 2,390	.8 1.3	3,105
Ouster						
Delta				28,110	2.4	67,465
Denver				270	1.2	325
Douglas				8,110	.9	7,300
T .		i	'	10040		00 550
Elbert				10,240 5,940	2.3	23,550 2,375
El Paso				3,150	.8	2,520
<b>.</b>			!	5.050	1.0	0.550
Fremont				5,970	1.6	9,550
Garfield				43,780	2.3	100,695
Gilpin						
GrandGunnison				810 2,930	1.1	890 3,515
					[ ]	
HinsdaleHuerfano				60 11,920	1.6 .8	95 9,535
				11,020	.0	0,000
Jackson Jefferson				12,970	1.8	23,345
	500		' !		1	
Kit Carson	760 90	140 130	106,400 11,700	1,190 920	.5	595 645
				520	"	010
LakeLa Plata				24,640	2.2	54,210
Larimer				39,450	1.5	59,175
Las Animas	940	175	164,500	12,110	1.2	14,530
Lincoln Logan				450 22,980	.5 1.7	225 39,065
	İ			l		
Mesa Mineral				33,970 20	2.4 1.4	81,530 30
Moffat				13,900	1.5	20,850
Montezuma				22,640	1.9	43,015
Montrose				40,110 21,470	2.4 1.6	96,265 34,350
OteroOuray				17,990 4,120	1.9 1.6	34,180 6,590
Park				20	1.1	20
Phillips				210	.8	170
Pitkin				2,450	1.7	4,165
ProwersPueblo	4,960	180	892,800	30,990 13,780	1.4 1.2	43,385
				1		16,535
Rio Blanco Rio Grande				19,660 9,120	1.6 1.5	31,455 13,680
Routt				9,340	1.4	13,075
Saguache				9,720	1.5	14,580
San Juan				<b>-</b>		14,000
San Miguel				4,210	1.9	8,000
Sedgwick Summit				4,480 30	2.1 1.0	9,410
				1	l	80
Teller				130	.9	115
Washington				2,170	1.2	2,605
Weld				84,870	1.4	118,820
Yuma				1,190	1.4	1,665
State	46,000		9,200,000	706,000		1 200 000
~~~~	1 20,000		3,200,000	100,000		1,200,000

#### ACREAGE OF HAY CROPS, 1932

						·	
COUNTY	Alfalfa	All Clover and Timothy, Alone or Mixed	Millet and Sudan Grass	All Other Tame Hay*	Total Tame Hay	Wild Grass Cut for Hay	Total Hay
Adams Alamosa Arapahoe Archuleta	12,250 14,280 8,740 5,770	120 1,810 110 11,600	2,960 2,570 200	720 10,210 3,480 1,220	16,050 26,300 14,900 18,790	2,530 13,310 2,410 1,520	18,580 39,610 17,310 20,310
Baca Bent Boulder	1,870 21,950 23,780	620 140 520	1,790 410 30	360 290 920	4,640 22,790 25,250	510 280 4,190	5,150 23,070 29,440
Chaffee Cheyenne Clear Creek Conejos Costilla Crowley Custer	4,140 470 10 16,330 5,940 5,490 2,390	2,100 50 190 1,290 1,770 60 3,150	20 2,890  170 50	1,280 330 750 2,720 2,640 790 11,190	7,540 3,740 950 20,340 10,350 6,510 16,780	810 1,460 290 20,820 1,490 90 3,670	8,350 £,200 1,240 41,160 11,840 6,600 20,450
Delta Denver Dolores Douglas	28,110  270 8,110	890.  290 890	100  70 1,500	1,810 480 4,590	30,910  1,110 15,090	220  120 2,270	31,130  1,230 17,360
Eagle Elbert El Paso	10,240 5,940 3,150	12,350 410 770	20 5,860 9,340	1,430 8,980 10,690	24,040 21,190 23,950	460 4,180 6,110	24,500 25,370 30,060
Fremont Garfield Gilpin Grand Gunnison	5,970 43,780 	1,790 1,050 30 15,820 20,500	190 190 	5,710 1,290 790 12,010 10,190	13,660 46,310 820 28,640 33,620	700 630 4,760 15,640	13,800 47,010 1,450 33,400 49,260
Hinsdale	60 11,920	2,510 4,070	360	300 2,670	2,870 19,020	810 930	3,680 19,950
Jackson Jefferson	12,970	1,220 1,330	1,520	2,280 2,640	3,500 18,460	90,790 1,160	94,290 19,620
KiowaKit Carson	1,190 920	60 40	1,470 6,210	370 2,930	8,090 10,100	120 1,980	3,210 12,080
Lake La Plata Larimer Las Animas Lincoln Logan	24,640 39,450 12,110 450 22,980	20 4,170 2,660 3,080 130 510	150 1,590 250 7,530 7,550	1,610 4,420 11,430 4,920 4,510 1,570	1,630 33,380 55,130 20,360 12,620 32,610	5,570 890 4,940 1,440 4,890 13,970	7,200 34,270 60,070 21,800 17,510 46,580
Mesa Mineral Moffat Montezuma Montezuma Montrose Morgan	33,970 20 13,900 22,640 40,110 21,470	910 1,130 4,150 920 1,690 460	280 200 200 80 5,330	2,310 890 8,510 1,490 1,180 1,870	37,470 2,040 26,760 25,250 43,060 29,130	310 1,130 3,790 190 690 10,140	37,780 3,170 30,550 25,440 43,750 39,270
Otero	17,990 4,120	610 6,560	370 10	4,410 1,300	23,380 11,990	190 1,470	23,570 13,460
Park Phillips Pitkin Prowers Pueblo	20 210 2,450 30,990 13,780	200 50 7,750 70 1,010	20 7,940  1,790 1,150	6,490 1,020 390 1,730 1,120	6,730 9,220 10,590 34,580 17,060	36,400 240 240 580 1,670	43,130 9,460 10,830 35,160 18,730
Rio Blanco Rio Grande Routt	19,660 9,120 9,840	9,100 4,360 36,100	 50	7,980 23,980 4,420	36,740 37,460 49,910	2,690 4,070 1,210	39,430 41,530 51,120
Saguache San Juan San Miguel Sedgwick Summit	9,720  4,210 4,480 30	4,310  1,070 340 6,700	60  30 1,920	19,370 3,780 2,890 710	9,090 9,630 7,440	46,250  260 4,990 750	79,710 9,350 14,620 8,190
Teller	130	120		9,640	9,890	1,160	11,050
Washington	2,170 84,870	70 1,790	20,020 16,590	4,190 11,820	26,450 115,070	10,210 13,130	36,660 128,200
Yuma State	706,000	188,000	$\frac{10,970}{122,000}$	258,000	1,274,000	8,140 366,000	22,700 1,640,000
		1		<u> </u>	' '	<u> </u>	<u> </u>

<sup>\*</sup>Includes grains cut green.

#### ACREAGE AND PRODUCTION OF HAY, 1932

		гаме н	AY	V	VILD HA	Y	TOTA	L HAY
COUNTY	Acreage	Yield	Production Tons	Acreage	Yield	Production Tons	Acreage	Production Tons
AdamsAlamosaArapahoeArchuleta	16,050	1.1	17,655	2,530	.6	1,520	18,580	19,175
	26,300	1.5	39,450	13,310	.9	11,980	39,610	51,430
	14,900	1.0	14,900	2,410	.8	1,930	17,310	16,830
	18,790	1.4	26,305	1,520	1.1	1,670	20,310	27,975
Baca	4,640	.9	4,175	510	.7	355	5,150	4,530
Bent	22,790	1.5	34,185	280	.7	195	23,070	34,380
Boulder	25,250	1.8	45,450	<b>4,</b> 190	.7	2,935	29,440	48,385
Chaffee Cheyenne Clear Creek Consios Costilla Crowley Custer	7,540 3,740 950 20,340 10,350 6,510 16,780	1.4 .4 1.1 1.5 1.5 .7	10,555 1,495 1,045 30,510 15,525 4,560 21,815	810 1,460 290 20,820 1,490 90 3,670	1.2 .5 .9 1.1 1.0 .6 1.0	970 730 260 22,900 1,490 55 3,670	8,350 5,200 1,240 41,160 11,840 6,600 20,450	11,525 2,225 1,305 53,410 17,015 4,615 25,485
Delta Denver	30,910	2.4	74,185	220	1.0	220	31,130	74,405
Dolores	1,110	1.2	1,330	120	.9	110	$1,230 \\ 17,360$	1,440
Douglas	15,090	.8	12,070	2,270	.9	2,045		14,115
Eagle	24,040	2.2	52,890	460	1.2	550	24,500	53,440
Elbert	21,190	.4	8,475	4,180	.5	2,090	25,370	10,565
El Paso	23,950	.5	11,975	6,110	.5	3,055	30,060	15,030
Fremont	13,660	1.5	20,490	140	1.0	140	13,800	20,630
Garfield	46,310	2.3	106,515	700	1.1	770	47,010	107,285
Gilpin	820	1.1	900	630	1.0	630	1,450	1,530
Grand	28,640	1.3	37,230	4,760	1.1	5,235	33,400	42,465
Gunnison	33,620	1.3	43,705	15,640	1.2	18,770	49,260	62,475
Hinsdale	2,870	1.7	4,880	810	1.0	810	3,680	5,690
Huerfano	19,020	.9	17,120	930	.8	745	19,950	17,865
Jackson	3,500	1.3	4,550	90,790	1.0	90,790	94,290	95,340
Jefferson	18,460	1.4	25,845	1,160	.7	810	19,620	26,655
Kiowa	3,090	.4	1,235	120	.6	70	3,210	1,305
Kit Carson	10,100	.5	5,050	1,980	.7	1,385	12,080	6,435
Lake La Plata Larimer Las Animas Lincoln Logan	1,630 33,380 55,130 20,360 12,620 32,610	1.4 2.1 1.3 .9 .4 1.4	2,280 70,100 71,670 18,325 5,050 45,655	5,570 890 4,940 1,440 4,890 13,970	.9 1.1 .9 .9 .5	5,015 980 4,445 1,295 2,445 11,175	7,200 34,270 60,070 21,800 17,510 46,580	7,295 71,080 76,115 19,620 7,495 56,830
Mesa Mineral Moffat Montezuma Montrose Morgan	37,470 2,040 26,760 25,250 43,060 29,130	2.4 1.5 1.2 1.9 2.4 1.2	89,930 3,060 32,110 47,975 103,345 34,955	310 1,130 3,790 190 690 10,140	.9 .8 .9 1.3 1.0	280 900 3,410 245 690 9,125	37,780 3,170 30,550 25,440 43,750 39,270	90,210 3,960 35,520 48,220 104,035 44,080
Otero	23,380	1.7	39,745	190	.9	170	23,570	39,915
	11,990	1.4	16,785	1,470	1.2	1,765	13,460	18,550
Park Phillips Pitkin Prowers Pueblo	6,730	.9	6,055	36,400	.7	25,480	43,130	31,535
	9,220	.8	7,375	240	.9	215	9,460	7,590
	10,590	1.9	20,120	240	1.2	290	10,830	<b>20,410</b>
	34,580	1.4	48,415	580	.8	465	35,160	48,880
	17,060	1.1	18,765	1,670	.6	1,000	18,730	19,765
Rio Blanco	36,740	1.6	58,785	2,690	1.2	3,230	39,430	62,015
Rio Grande	37,460	1.3	48,700	4,070	1.0	4,070	41,530	52,770
Routt	49,910	1.6	79,855	1,210	1.1	1,330	51,120	81,185
Saguache San Juan	33,460	1.4	46,845	46,250	.9	41,625	79,710	88,470
Sedgwick Summit	9,090 9,630 7,440	1.4 1.7 .9	12,725 16,870 6,695	260 <b>4,990</b> 750	1.0 1.0 1.0	260 <b>4,990</b> 750	9.350 14,620 8,190	12,985 21,860 7,445
Teller	9,890	1.0	9,890	1,160	.7	810	11,050	10,700
Washington	26,450	.8	21,160	10,210	.7	7,145	36,660	28,305
Weld	115,070	1.2	138,085	13,130	.7	9,190	128,200	147,275
Yuma	14,560	.9 —	13,105	8,140	.9	7,825	22,700	20,430
State	1,274,000		1,830,000	866,000		829,000	1,640,000	2,159,000

#### NUMBER AND SIZE OF FARMS AND FARM TENURE, 1932

COUNTY	No. of Farms	Average No. of Acres Per Farm	Total Farm Acreage	Owners	Renters	Owners and Renters
Adams	1,390	250.07	347,600	651	558	181
Alamosa	350	293.77	102,820	306	36	1 8
Arapahoe	750	393.89	295,420	337	270	143
archuleta	360	262.83	94,620	285	74	1
aca	1,490	662.88	987,690	463	578	44
BentBoulder	780 970	331.97 136.57	258,940 132,470	310 442	367 493	10:
1		1				3
haffee	200	236.40	47,280	156	29	1
heyenne llear Creek	520 30	497.38 241.33	258,640 7,240	251 24	211	5
onejos	650	125.23	81,400	549	70	3
Costilla	320	71.47	22,870	158	114	4
rowley	520	170.38	88,600	170	288	6
Custer	310	428.03	132,690	204	94	1
Pelta	1,410	90.21	127,200	978	267	16
Denver*	150	259.73	38,960	110	38	
Dolores Douglas	450	596.67	268,500	269	170	1
		1 1				1
EagleElbert	360 1,160	261.86 600.24	94,270 696,280	272 486	71 424	1 25
El Paso	920	485.75	446,890	424	329	16
remont	920	91.59	84,260	673	171	7
		1			i	1
arfield	810	206.47	167,240	543 25	218	4
Gilpin Grand	$\frac{30}{220}$	348.00 684.64	10,440 $150,620$	184	5 18	1
unnison	300	492.73	147,890	283	14	1 *
	40	436.00	17,440	40	i	
Iinsdale Iuerfano	490	471.22	230,900	486	4	
		1		}	-	1
ackson	$\frac{230}{1,370}$	937.48 139.31	215,620 190,860	205 933	15 319	11
			-	i		
KiowaKit Carson	$\frac{540}{1,560}$	510.50 533.78	275,670 832,700	238 305	216 791	8 46
	30	488.67	14,660	24	6	
LakeLa Plata	790	275.81	217,890	489	213	8
Larimer	1,470	190.85	280,550	904	454	11
Las Animas	860	282.03	242,550	630	168	1 6
Lincoln	1,010	517.50	522,670	378 512	397 951	23
Logan	1,850	412.99	764,040	i	1	1
Mesa	2,140	78.25	167,460	1,755	250 2	13
MineralMoffat	$\frac{30}{710}$	615.00 549.66	18,450 390,260	28 570	80	
Montezuma	620	203.19	125,980	411	152	6
Montrose	1,040	125.38	130,400	698	257	8
Morgan	1,430	316.73	452,920	524	711	19
Otero	950	111.37	105,800	409	445	9
Ouray	150	255.60	38,340	106	44	
Park	220	797.36	175,420	159	54	
hillips	690	520.67	359,260	133	332	25
Pitkin	130	332.08	43,170	127	3	2
Prowers	$^{1,160}_{1,210}$	380.10 281.53	440,920 340,650	362 663	557 373	17
Pueblo				į.		
Rio Blanco	360	612.25 297.24	220,410 133,760	353 302	106	4
lio Grande	450 670	410.21	274,840	458	125	:
		i			93	1 :
aguache	360	474.69	170,890	248	90	
an Juan an Miguel	200	503.00	100,600	167	27	1
edgwick	530	421.64	223,470	67	282	18
Summit	70	403.43	28,240	66	4	
Teller	210	329.95	69,290	142	52	1
	1,620	589.38	954,800	407	709	50
Washington Weld	4,490	282.50	1,268,430	1,551	2,410	52
	1,590	536.43	852,920	462	767	36
(uma			-	i ——	<del></del>	
State	46,640	342.69	15,983,060	23,865	16,282	6,49

<sup>\*</sup>No farm reports are taken by the assessor of the City and County of Denver. Its farms are allotted by the Crop Reporting Service to neighboring counties on the best authority available.

#### HARVESTED ACREAGE OF ALL CROPS, 1932

COUNTY	Corn	Oats	Barley	Wheat	All Pvo	Dry	Potetood	Sugar	Sor-	Ном	Broom-	Field	Em.i.t	Snap Beans for	(	CABBAGE			ALOUPES DEW ME		Cauli-	Colony	CU	CUMBER	1	Tattmas	Ontong	PE	EAS, GRE	ŒN	T	OMATOES	Wa	ter-		Total	COLINEY
COUNTI	Corn	Oats	Darrey	Wileat	Annye	Beans	Potatoes	Beets	ghums	Hay	corn	Peas	Fruit	Canning and	Early (Domestic)	Late (Danish)	Total	For Market	For Seed	Total	flower	Celery	For Pickles	For Seed	Total	Lettuce	Onions	For Market	For Mfg.	Total	For Market	For Mfg.				arvested Acreage	COUNTY
AdamsAlamosaArapahoeArchuletaBaca	35,690 10 39,450 920 92,030 19,950	1,180 2,520 1,330 1,520 500 430	11,480   3,440 6,250 360 14,310 6,240	19,310 1,630 18,320 1,950 201,450	815 690  760 45	11,220 10,580 20 4,210	6,640	5,120 490 420 	4,520 5,830  63,005	18,580 39,610 17,310 20,310 5,150 23,070	38,720	$\begin{array}{c} 10 \\ 3,740 \\ 10 \\ 10 \\ 10 \\ \end{array}$	230 5 140 55	445 20	460 20 90	310 10 45	770 30 135	160		160	220 160 	250 	120		120	240 100 10	120 	60 180 10	220	280 180 10	90  20 	310	20	20	830 390 75 370	59,385 100,960 25,710 420.615	AdamsAlamosaArapahoeArchuletaBaca
Bent. Boulder	10,750 10 54,440 10 90	3,730 800 90 10 2,920	6,570 1,530 8,570 7,580	1,770 6,190 510 5,320 4,810	30  85	180 40 240 	35 8,655	4,210	15,400 20 22,050	29,440 8,350 5,200 1,240 41,160	520	390 1,060  7,560	150 150 50 	205	80 10 	90	170 10  15	1,680		10	20	5				10 400  310	300 5 	270	1,050	1,050 270  2,870	20	200		5	1,850 440 190 580 735	64,380 13,710 96,645	Bent Boulder Chaffee Cheyenne Clear Creek Conejos
Costilla	3,290 610 6,360	1,020 140 1,230 2,660	2,780 380 580 2,500	2,780 100 690 4,570 2,220	15 75 10 70	720 720  120	1,060 5 1,245 1,590 290	2,640	1,070 60 30	11,840 6,600 20,450 31,130 1,230		11,860 290 10	305 10 9,250	15	25 5 3	85 5 2	110 5 10 5	1,590  25	20	1,595 45	1,690	5		110	110	410	230  550	2,050		2,050 2,210 5	10		10	35  25	30	62,290	CostillaCrowleyCusterDeltaDenverDolores
Douglas Eagle Elbert El Paso Fremont	14,560 10 77,330 64,800 2,750	6,240 1,720 5,440 4,580 1,560	980 540 9,430 700 430	3,690 1,210 11,060 2,890 380	1,960 10 2,830 3,070 55	32,230 26,290 80	1,240 590	520	1,840 10,240 4,380	17,360 24,500 25,370 30,060 13,800		70 50 20	60 10 65 70 3,010	5 350	15 120	15 105	30 225	20	215	235	240	110				260 5 180		150  140		150  140	5 140		5		135 140 655 670 1,970	47,615 29,860 175,290 138,610	DouglasEagleElbertEl PasoFremont
GarfieldGilpin GrandGrandGunnison	2,130	2,980 50 950 420	2,160 20 440 370	6,990 10 90 120	45  90 20	20	90 120 245 5	2,070	140	47,010 1,450 33,400 49,260 3,680		20 50	920  5		2	3	5									50 15 1,010 		5		5	10		10		765 5 140 90	68,705 1,690 36,250 50,530 3,685	Garfield Gilpin Grand Gunnison Hinsdale
Huerfano  Jackson  Jefferson  Kiowa  Kit Carson	3,150 4,450 28,260 183,500	970 140 3,840 220 1,790	370 80 2,450 2,700 49,960	1,200 10 6,080 1,790 27,520	35 35 130 50 2,240	520 70 170 1,760	70 450	480	175 23,400 29,560	19,950 94,290 19,620 3,210 12,080	760 90	120  10 	90 1,450 10 120	10	80	100	180	10 	30	10 30	110	260				160	60	540		540	450			5 10 5	240 30 2,200 510 1,190	43,320	HuerfanoJacksonJeffersonKiowaKit Carson
Lake	3,720 11,090 30,080 54,400 159,410	5,190 4,980 1,380 160 5,220	2,760 18,050 3,640 7,750 37,440	8,430 14,640 2,670 15,150 34,730	35 150 290 1,070 5,780	10,086 8,896 2,816	855 120 175	13,090 1,780 12,560	170 1,950 9,270 12,300 11,900	7,200 34,270 60,070 21,800 17,510 46,580	940	40 540 140	590 3,720 40 20 85	20	20 3 	35 2 20	55 5 5	5 15	10 	10 5 15	40	5	70		70	150	10 	1,010	1,050	1,050 1,010	10 5	50 	60 5	15	5 620 785 930 585 3,700	132,055 84,385 118,010	LakeLa PlataLarimerLas AnimasLincolnLogan
Mesa	8,010 2,330 8,880 5,740 86,050	2,690 2,130 6,390 5,480 980	1,790 830 2,940 2,700 15,020	4,410 4,770 10,930 10,820 15,210	3,040 120 40 4,675	1,650 90 4,620 170 8,820	6,340	2,530  1,350 21,070	310 310 860 5 8,055	37,780 3,170 30,550 25,440 43,750 39,270		50 10 180	8,350 30 1,290 1,260 40	5 25 20	10  2  5	15  3 10 10	25  5 10 15	120  20 5	50  10	170  20 10 5		10	30	170	170   30	20	250  10 860 5	10		10	600  5	270   20	···· <u>5</u>	50  20 	1,770 690 355 1,130 1,610	73,105 3,175 45,620 64,035 79,715 202,245	Mesa Mineral Moffat Montezuma Montrose Morgan
Otero	13,580 220 125,340 42,350	2,440 $730$ $140$ $7,090$ $860$ $1,510$	4,030 520 30 8,960 120 12,950	1,260 $1,170$ $30$ $24,070$ $430$ $28,660$	2,565 125 230	2,550	235 1,315 30 855	9,360	3,010 7,545 35,575	23,570 13,460 43,130 9,460 10,830	4 960	20 20	400 15  15	150	10	15	25 	2,505	1,460	3,965		15		460	460	10	2,085	20		20	25	1,040		580	5,830 20 15 1,280 15	74,610 16,370 44,690 186,460 13,240	Otero OurayPark PhillipsPitkin
Prowers. Pueblo. Rio Blanco. Rio Grande. Routt. Saguache.	18,320  10	2,580 4,510 8,840 3,410	1,430 890 7,130 4,650 2,820	3,170 1,680 3,880 5,450	110 135 100	7,270	30 120 16,580 905 8,745	5,960	3,520	35,160 18,730 39,430 41,530 51,120 79,710		18,700 40 8,190	380 5 5 5	435	155	320	475	905	190	100	1,350	260		830	830 	1,850 2,290	750 	1,360 10		1,360 10	5 140 	40		10 180	795 3,550 400 260 360		Prowers Pueblo Rio Blanco Rio Grande Routt
San Juan San Miguel Sedgwick Summit Teller	440 67,410 	270 5,460 140 340	620 12,810 80	930 19,320 40	70 1,585 55	140	260 810	3,860	30 820	9,350 14,620 8,190 11,050			30 10		10	5	15	5		5						20   200	5 	10			5		5	10		12,170 127,060 8,540	Saguache San Juan San Miguel Sedgwick Summit Teller
Washington Weld Yuma State	$ \begin{array}{c c} 194,590 \\ 119,780 \\ \hline 310,610 \\ \hline 1,909,000 \end{array} $	2,570 11,100 2,480 141,000	44,570 75,980 25,080 439,000	29,910 87,000 14,730 680,000	4,150 10,450 6,720 55,000	720	120		27,540 11,480 30,770 348,000	36,660 128,200 22,700 1,640,000		110 450  54,000	25 245 130 33,600	735	1,760	1,160	1,780  4,150	7,370	2,000		4,480	10	260  480	1,600	260	40  8,310	370  5,670	20  11,050	2,770	470	250  1,880	360	610	150 20	1	353,900 567,990 419,500	WashingtonWeldYumaState

<sup>&</sup>quot;All Other Crops" includes acreages for alfalfa seed, clover seed, millet seed, garden crops to be consumed by the farmer, and commercial crops such as asparagus, carrots, garden beets, pumpkin and squash, spinach, etc.

# FARM ACREAGE REPORTED UNDER VARIOUS TENURES AND TOTAL ACREAGE HARVESTED, 1932

COUNTY	Acreage Owners	Acreage Renters	Acreage Owners and Renters	Total Farm Acreage	Total Harvested Acreage	Area Acres	Harv. Area % of Total Area
AdamsAlamosaArapahoeArchuleta	118,601 89,710 99,527 73,330	146,444 8,133 112,585 21,195	82,555 4,977 83,308 95	347,600 102,820 295,420 94,620	114,585 59,385 100,960 25,710	807,680 465,280 538,880 780,800	14.19 12.76 18.74 3.29
BacaBentBoulder	257,293 99,407 50,683	315,370 96,947 74,832	415,027 62,586 6,955	987,690 258,940 132,470	420,615 74,015 64,380	1,633,280 975,360 488,960	25.75 7.59 13.17
ChaffeeCheyenneClear CreekConejosCostillaCrowleyCusterCuster	37,034 131,156 6,418 68,897 8,976 30,735 100,433	5,811 88,248 822 8,661 10,637 40,916 25,543	4,435 39,236 	47,280 258,640 7,240 81,400 22,870 88,600 182,690	13,710 96,645 1,295 77,540 36,400 17,710 28,170	693,120 1,137,280 249,600 801,280 758,400 517,120 478,080	1.98 8.50 0.52 9.68 4.80 3.42 5.89
Delta Denver Dolores	73,751  26,430	22,794	30,655  869	127,200 	62,290  7,120	768,640 37,120 667,520	8.10
Douglas  Eagle Elbert El Paso	158,200 68,996 271,340 175,136	96,875 16,507 213,897 145,016	13,425	268,500 94,270 696,280 446,890	47,615 29,860 175,290 138,610	540,800 1,036,800 1,188,480 1,357,440	8.80 2.88 14.75 10.21
Fremont	65,310	13,549	1	84,260	26,160	996,480	2.63
Garfield Gilpin Grand Gunnison	110,847 9,486 124,578 139,046	41,158 954 8,962 5,176	15,235 17,080 3,668	167,240 10,440 150,620 147,890	68,705 1,690 36,250 50,530	1,988,480 84,480 1,194,240 2,034,560	3.46 2.00 3.04 2.48
Hinsdale Huerfano	17,440 230,207	693		17,440 230,900	3,685 27,625	621,440 960,000	0.59 2.88
Jackson Jefferson	182,760 130,415	15,934 41,187	16,926 19,258	215,620 190,860	94,655 43,320	1,044,480 517,120	9.06 8.38
Kiowa Kit Carson	111,012 136,313	108,752 <b>370,</b> 302	55,906 326,085	275,670 832,700	61,130 310,005	1,150,720 1,381,760	5.31 22.44
Lake La Plata Larimer Las Animas Lincoln Logan	11,728 144,287 170,350 153,413 160,982 189,940	2,932 41,639 77,263 55,301 175,095 327,620	31,964 32,937 33,836 186,593 246,480	14,660 217,890 280,550 242,550 522,670 764,040	7,205 57,805 132,055 84,385 118,010 322,600	237,440 1,184,640 1,682,560 3,077,760 1,644,800 1,166,080	3.03 4.87 7.85 2.74 7.17 27.67
Mesa Mineral Moffat Montezuma Montrose Morgan	134,253 17,967 262,801 78,234 86,325 144,844	12,928 483 79,886 28,849 30,109 186,558	20,279 47,573 18,897 13,966 121,518	167,460 18,450 390,260 125,980 130,400 452,920	73,105 3,175 45,620 64,035 79,715 202,245	2,024,320 554,240 2,981,120 1,312,640 1,448,960 823,040	3.61 0.57 1.53 4.88 5.50 24.57
Otero Ouray	46,922 27,662	44,087 10,678	14,791	105,800 38,340	74,610 16,370	805,760 332,160	9.26 4.93
ParkPhillipsPhillipsPitkinProwersPuebloPuebloPuebloPuebloPuebloPueblo	142,300 61,614 42,281 132,717 144,946	27,787 153,619 889 173,326 93,134	5,333 144,027  134,877 102,570	175,420 359,260 43,170 440,920 340,650	44,690 186,460 13,240 166,620 68,845	1,434,880 440,320 652,160 1,043,200 1,557,120	3.11 42.35 2.03 15.97 4.42
Rio Blanco Rio Grande Routt	215,429 92,562 173,177	24,598 48,372	4,981 16,600 53,291	220,410 183,760 274,840	45,240 95,920	2,062,720 574,720	2.19 16.69
Saguache San Juan San Miguel Sedgwick	131,449 92,280 18,794 27,424	28,248  5,081 101,187 816	11,193  3,239 103,489	170,890 100,600 223,470 28,240	73,770 104,815 12,170 127,060	1,477,760 2,005,120 289,920 824,320 339,840	4.99 5.23 1.48 37.39
Celler	47,193	12,895	9,202	69,290	8,540 13,485	415,360 350,080	2.06 3.85
Washington	193,920 876,724	349,361 543,522	411,519 348,184	954,800 1,268,430	353,900 567,990	1,613,440 2,574,080	21.93 22.07
State	234,553	364,794	253,573	852,920	419,500	1,514,880	27.69
	6,960,538	5,070,618	8,951,904	15,983,060	5,898,840	66,341,120	8.89

AVERAGE ANNUAL PRICES RECEIVED BY FARMERS FOR AGRICULTURAL COMMODITIES, 1929, 1930, 1931 AND 1932 (The annual prices published below are secured by weighting the monthly farm prices collected by the United States Department of Agriculture by estimates of monthly marketing of each crop.)

			namara ta	ie by estimates	or monenty to	- Farment of Assistance of communication manufactures of cach crops	(1407)		
				d.	RICE PER U	PRICE PER UNIT (DOLLARS)	()		
CROP	Unit		0700	COLORADO			UNITED STATES	STATES	
		1932	1931	1930	1929	1932	1931	1930	1929
Corn	Bushel	\$ .22	\$ .36	\$ .48	\$ .71	\$ .195	\$ .321	\$ .594	\$ .798
Oats	- Bushel	.21	.27	.35	.47	.141	.213	.322	.419
Barley	Bushel	.19	.27	.40	.55	861.	.325	.404	.539
Wheat	- Bushel	.34	.33	.62	96.	.35	.391	.671	1.035
Rye	Bushel	.24	.23	.40	.73	.225	.337	.442	898.
Beans, dry edible	100 lbs.	1.60	1.40	2.80	4.90	1.73	2.14	4.21	6.77
Potatoes	Bushel .	.26	.33	69.	1.14	.386	.463	.91	1.32
Sweet Potatoes	- Bushel	1		1	1	.48	.72	1.08	1.17
Sugar Beets	Ton	4.45	5.44	6.91	6.93	5.10	5.94	7.14	7.08
Grain Sorghums	Bushel .	.16	.20	.40	.58	.191	.256	.562	899.
Sweet Sorghum for Forage	Ton	4.75	4.80	6.30	8.00	4.04	5.70	9.01	8.92
Hay	Ton	6.30	7.80	8.90	10.50	6.34	8.60	11.47	11.46
Broomcorn	Ton	34.00	36.00	20.00	106.00	42.09	44.88	65.60	114.52
Soybeans	Bushel	1	1	-	1	.517	.610	1.51	2.05
Cowpeas	Bushel .	;	1	1		.651	.885	1.97	2.68
Velvet Beans	Ton	1	-	!	1	4.76	98.6	13.78	13.98
Buckwheat	Bushel .	-	!	1	1	.396	.423	.789	.963
Rice	. Bushel	:	-	1	1	.392	.497	.784	366.
Hops	Pound	;	:	;	1	.175	.138	.148	.114
Tobacco	Pound	!	-	-	1	.107	.082	.129	.186
Peanuts	Pound	:	!	1		.0143	.0209	.0354	.0383
Pecans	Pound	1 !!	;	1	1	.056	620.	.15	.15
Cotton Lint	Pound	t t	1	1	-	.0624	.0566	.0946	.1679
Cotton Seed	Ton	-	-	;	;	9.98	9.52	21.93	30.43
Flaxseed	Bushel	1	!	1	1	.861	1.166	1.610	2.812
	_								

Alfalfa Seed	Bushel	6.10	6.30	9.80	9.80	5.41	7.34	10.75	12.01
Red Clover Seed	Bushel	4.70	6.40	9.60	9.40	4.79	7.27	11.55	10.45
Sweet Clover Seed	Bushel	2.36	3.10	3.70	3.90	1.38	2.61	3.43	3.62
Lespedeza Seed	Bushel	;	;	ì	:	1.47	2.58	2.83	2.97
Timothy Seed	Bushel		1		1	68.	1.39	2.50	1.97
Sugar Cane Sirup	Gallon	;	;	;	-	.89	.493	.577	.727
Sorghum Sirup	Gallon	1		-		.378	.43	.79	.90
Maple Sirup	Gallon	;	;		1 1	1.497	1.737	2.032	2.040
Maple Sugar	Pound	ļ	i	-		.242	.255	.301	.302
Apples	Bushel	.42	19.	98.	1.11	.591	.652	1.022	1.386
Peaches	Bushel	.42	.50	1.45	1.45	.524	.562	.887	1.326
Pears	Bushel	.40	09'	1.30	1.50	.392	.602	.751	1.426
Grapes	Ton	45.00	20.00	65.00	70.00	13.24	22.40	19.28	27.23
Cherries	Ton	52.00	70.00	90.00	120.00	44.87	74.92	128.39	160.83
Prunes, fresh	Ton	i i		1 1	;	6.77	20.39	21.57	23.07
Prunes, dried	Ton	1 1	1	-	i	51.97	60.19	56.13	149.52
Oranges	Box				1	1.47	1.33	1.64	3.62
Grapefruit	Box	-	1	:	-	1.11	1.05	1.21	2.42
Milk, wholesale	100 lbs.	1.20	1.60	1.90	2.20	1.29	1.70	2.26	2.57
Milk, retail	Quart	.081	260.	.101	.103	880.	.101	.112	.114
Butter	Pound	.20	.28	.36	.44	.208	.273	.363	.43
Butterfat	Pound	.15	.22	.31	.43	.179	.248	.345	.452
Eggs	Dozen	.128	.162	.226	.276	.136	.173	.246	.295
Chickens	Pound	.092	.128	.156	.187	.112	.155	.175	.218
Horses	Head	87.00	39.00	48.00	65.00	53.01	52.65	59.22	69.22
Mules	Head	51.00	52.00	63.00	71.00	60.43	60.74	70.17	86.15
Cattle	Pound	.045	.055	.081	760.	.0425	.055	720.	260.
Calvee	Pound	90.	.075	.109	.12	.049	690*	760.	.121
Новя	Pound	.0325	.058	780.	.094	.0333	.057	880.	.094
Sheep	Pound	.0195	.035	.052	.075	.0218	.031	.047	.072
Lambs	Pound	.049	990.	980.	.128	.0445	990.	.077	.119
Wool	Pound	.072	.13	.19	.29	.087	.135	195	.302
				- (					

1982 prices are preliminary.

#### NUMBER OF FARMS REPORTING PRINCIPAL CROPS IN 1932

COUNTY	Corn	Oats	Barley	Winter Wheat	Spring Wheat	Dry Beans	Pota- toes	All Sor- ghums	Alfalfa	Sugar Beets
Adams Alamosa Arapahoe Archuleta	968 612 56	273 212 130 238	713 246 323 62	397 	380 155 126 186	377 253 1	98 308 5 322	426 331	499 284 295 256	250 34 20
Baca Bent Boulder	1,054 689 789	10 45 547	341 335 691	697 75 265	5 18 491	125 87 9	1 1 26	1,216 476 2	43 424 890	124 331
Chaffee Cheyenne Clear Creek	506	127 9	147 197	20	119 16	<del>-</del> 7	167 4 20	497	156 4 3	
Conejos Costilla Crowley Custer	62 452 60	196 39 71 180	351 161 210 119	15 6 16	289 163 5 44	126 118 122	485 140 2 261	222 7	369 145 380 26	254
Delta Denver Dolores	924 120	466 	309	43  53	582  53	9 -55	492  53	14 	1,151	246
Douglas	378 5	294 201	93 99	106	32 135	27	56 205	116	214 221	 1
Elbert El Paso	1,121 852	392 351	350 59	163 33	331 135	709 <b>4</b> 79	556 241	612 282	214 30	4
Fremont	437	182	89	25	76	8	76	23	447	
Garfield Gilpin Grand Gunnison	295 	372 27 66 72	244 5 32 53	40  4 1	453 4 5 22	7	442 27 67 199	20 	738 1 17 62	127
Hinsdale Huerfano	295	185	1 94	21	- <u>-</u> -	- <u>-</u> -	3 23	64	262	4
Jackson	2 628	14 484	10 220	3 77	4 245	1 5	24 186	<u>-</u> 5	2 749	1 40
Kiowa Kit Carson	507 1,532	$\begin{smallmatrix} &&4\\205\end{smallmatrix}$	62 1,050	19 307	7 233	5 185	2 618	413 1,329	19 16	1
Lake La Plata Larimer Las Animas Lincoln Logan	384 953 774 918 1,690	450 684 194 34 465	396 901 86 424 1,367	41 165 43 172 584	511 620 89 223 327	49 84 366 490 164	556 130 30 469 701	33 113 335 745 878	622 1,170 121 11 563	763 30 411
Mesa Mineral	1,532	700 9	331 10	185	754	204	878 1	45	1,408	180
Moffat Montezuma Montrose Morgan	236 406 705 1,196	259 337 558 175	120 227 285 847	179 39 44 124	192 366 700 200	40 142 39 367	432 461 751 217	34 138 1 491	427 404 886 666	3 125 619
OteroOuray	757 6	291 64	475 38	58 18	101 71	281	2 107	179	746 88	521
Park Phillips Pitkin Prowers Pueblo	672 1,055 923	96 305 116 133 222	78 410 49 588 261	482 15 218 117	11 38 90 9	10  7 244	159 27 117  13	523 700 199	5 5 528 596	194 810
Rio Blanco Rio Grande Routt		168 270 392	41 349 267	37 1 92	150 214 202	 	238 442 243		229 281 232	3
Saguache		193	184	10	93		240		144	
San Juan San Miguel Sedgwick Summit	42 467	56 205 13	93 361 11	15 256 12	50 25	4 6	71 201 36	3 130	80 115 1	98
Teller	3	187	68	1	4		182		9	
Washington Weld	1,526 3,273	164 1,365	1,064 3,298	481 646	259 1,382	394 1,418	271 1,955	1,251 796	53 2,819	2,430
Yuma	1,565	232	510	368	81	46	374	1,192	26	
State	31,427	13,759	19,832	7,060	11,214	7,164	14,414	13,868	20,150	7,157

# OLORADO: FARM VALUE, GROSS INCOME AND CASH INCOME FROM FARM PRODUCTION, BY COMMODITIES, 1927-1929

#### In Thousands of Dollars

#### CROPS

		1927			1928			1929	
COMMODITIES	Farm Value	Gross Income	Cash Income	Farm Value	Gross Income	Cash Income	Farm Value	Gross Income	Cash Income
	14,727	3,793	3,788	14,581	4,035	4,029	15,782	4,037	4,032
oru	2,795	783	783	2,872	804	804	2,767	913	913
ats	5,412	1,624	1.624	6,958	2,505	2,505	6,019	1,625	1,628
arley	21,922	17.266	17,157	15,779	12,260	12,175	17,217	12,350	12,260
/heat	575	343	343	562	337	337	374	174	174
уе	4,452	3,496	3,468	4,365	3,387	3,357	6.100	5,247	5,215
ry edible beans		7,975	7.747	6.112	3,997	3,818	16,724	13,957	13,530
otatoes, white	10,512	21,758	21,758	16,687	16,687	16,687	18,106	18.106	18,106
ugar beets, for sugar	21,758	134	134	1.640	149	149	1,066	48	48
rain sorghums	2,442		128	1,230	123	123	1,512	152	152
weet sorghum forage	1,258	128		31,640	9,498	9,498	27,290	6,100	6,10
ау	28,250	7,067	7,067 528	799	799	799	975	975	97
roomcorn	528	528		1	133		45	45	4
opcorn				274	225	225	510	490	49
lfalfa seed	108	66	66	1	74	74	78	62	6
loverseed, sweet	134	122	122	92	62	62	141	132	13
loverseed, red	114	103	103	78	02	. 62	168		1
mmer and Speltz	79			86	0.505	2,371	2,499	2,499	2,27
pples	3,136	3,042	2,842	2,688	2,567		1.382	1,382	1.34
caches	1,070	1,070	1,049	780	756	731	900	900	87
'ears	672	652	640	194	188	178	900	900	1
'lums (prunes), cherries		400	420	348	346	318	736	736	67
and apricots	428	428	420	17	16	5	34	34	2
Trapes	17	17	(	39	39	36	192	192	18
trawberries	63	63	60	1	41	39	259	259	24
mall fruits	66	66	64	41	8,082	7,697	9,732	9,732	9,54
ruck crops	8,644	8,644	8,232	8,082	310	167	525	486	44
orest products	309	309	167	310		1	1.217	1,217	
`arm gardens	1,596	1,596		1,820	1,820		513	513	51
Jursery products	83	83	83	83	83	83	1	1,788	1.78
reenhouse products	1,062	1,062	1,062	1,062	1,062	1,062	1,788	1,188	1,10
Total	132,212	82,218	79,439	119,219	70,252	67,329	134,651	84,151	81,78

#### LIVESTOCK AND LIVESTOCK PRODUCTS

Sattle and calves	24,469	30,264	29,573	31,189	31,040	30,371	30,595	28,374	27,865
logs	12,053	11,067	9,473	11,900	11,813	10,312	12,409	13,045	11,734
Sheep and lambs	9.029	1.374	1.234	10,273	9,720	9,573	11,677	6,034	5,841
Horses	915	580	580	923	428	428	930	187	187
dules	284	292	292	296	234	234	248	398	398
hickens	4,146	4,092	2,120	4,184	4,253	2,486	3,901	3,687	2,146
ggs (chicken)	6,240	5,990	4,014	7,245	6.952	4,972	7,544	7,245	4,830
Milk	22,021	21,356	17.214	21,552	20.738	16,558	21,661	20,909	17,010
Wool	2.273	2,273	2,273	3,285	3,285	3.285	3,558	3,558	3,558
loney	345	345	310	. 251	251	219	397	397	369
eeswax	11	11	11	9	9	9			
TOWAX								l ——	l
Total	81,786	77,644	67,094	91,107	88,723	78,447	92,920	83,834	73,938
Grand Total		159,862	146,533		158,975	145,776		167,985	155,719
	1	1	1	ţ	l .	I	i	1	1

Farm value relates to the evaluation of the total outturn of the given commodity, irrespective of use, whether sold, consumed by the farm family, or consumed in the production of further farm products on the farm where grown.

Cash income relates to the value of quantities actually sold off the farms of the State where these were produced.

# COLORADO: FARM VALUE, GROSS INCOME AND CASH INCOME FROM FARM PRODUCTION, BY COMMODITIES, 1930-1932

#### In Thousands of Dollars

#### CROPS

		1930			1931			1932	
COMMODITIES	Farm Value	Gross Income	Cash Income	Farm Value	Gross Income	Cash Income	Farm Value	Gross Income	Cash Income
Corn	18,948	6,946	6,943	6,279	1,770	1,767	2,940	481	480
Oats	2,116	677	677	920	230	230	711	107	107
Barley	4,838	1,742	1,742	1,975	474	474	1,293	259	259
Wheat	13,376	9,713	9,626	5,489	3,332	3,253	2,278	1,136	1,074
Rye	252	79	79	85	20	20	36	13	13
Dry edible beans	7,098	6,638	6,620	1,079	932	923	477	309	298
Potatoes, white	12,061	10,045	9,776	3,166	2,229	2,101	2,750	1,965	1.86
Sugar beets, for sugar	22,873	22,873	22,873	13,786	13,786	13,786	7,966	7,966	7,96
Grain sorghums	936	52	52	420	7	7	198	1	:
Sweet sorghum forage	1,040	101	101	595	58	58	542	52	55
Hav	22,971	3,346	3,346	15,109	1,771	1,771	13,602	1,317	1,31
Broomcorn	520	520	520	202	202	202	156	156	150
Popcorn	57	57	57	19	19	19	11	11	1
Alfalfa seed	632	603	603	183	164	164	128	112	11:
Cloverseed. sweet	65	46	46	54	39	39	37	27	2
Cloverseed, red	96	86	86	58	51	51	28	24	2
Emmer and Speltz	140			36			18		
Apples	839	839	702	1,220	1,220	1,098	963	963	87
Peaches	1,106	1,106	1,074	565	551	537	480	480	46
Pears	260	260	248	315	315	307	172	172	16
Plums (prunes), cherries			000	000	005	208	242	242	21
and apricots	415	415	380	226	225	208	242	21	1
Grapes	19	19	6	14	14		113	113	10
Strawberries	192	192	186	84	84	80 106	153	153	14
Small fruits	259	259	246	115	115	6.322	3,282	3,282	3,21
Truck crops	8,575	8,575	8,407	6,448	6,448	1	128	108	8
Forest products	294	259	224	159	136	112	1,140	1,140	
Farm gardens	1,210	1,210		1,134	1,134	011	1,140	1,140	17
Nursery products	231	231	231	211	211	211	611	611	61
Greenhouse products	1,597	1,597	1,597	1,201	1,201	1,201	911	611	
Total	123,016	78,486	76,448	61,147	36,738	35,053	40,646	21,391	19,84

### LIVESTOCK AND LIVESTOCK PRODUCTS

2 (1)	25.866	23.014	22.577	19.875	21,362	21.029	15.899	16,074	15,797
Cattle and calves									4.564
Hogs	10,906	10,631	9,418	6,765	7,568	6,643	4,713	5,166	
Sheep and lambs	8,507	11,840	11,715	6,397	7,531	7,430	4,265	4,821	4,741
Horses	811	245	245	659	176	176	625	111	111
Mules	220	416	416	166	234	234	148	230	230
Chickens	2,955	3,027	1,806	2,215	2,371	1,347	1,591	1,629	896
Eggs (chicken)	6,392	6,166	4,117	4,496	4,360	2,930	3,092	2,985	1,905
Milk	17,376	16,768	13,761	13,487	13,018	10,597	9,940	9,544	7,515
Wool	2,555	2,555	2,555	1,760	1,760	1,760	864	864	864
Honey	269	269	245	148	148	130	152	152	135
Beeswax									
D000	l ——							45.550	36,758
Total	75,857	74,931	66,855	55,968	58,528	52,276	41,289	41,576	30,100
Grand Total		153,417	143,303		95,266	87,329		62,967	56,606
	'		'	·	·	1			

Gross income relates to cash income plus the value of the products consumed in the farm household on the farm where the commodities were produced.

The farm value, gross income, and cash income of crops are credited to the year in which the commodities were produced, evaluated at prices received during the marketing season for the particular crop. Farm value, gross income, and cash income from livestock production are computed on a calendar-year basis, evaluated at average prices for the calendar year.

### CARLOT SHIPMENTS OF COLORADO FRUITS AND VEGETABLES

CROP OF	1932	19 <b>31</b>	1930	1929	1928	1927	1926	1925	1924	1923	1922	<b>1</b> 921	1920
Fruits  oples aches ars ixed Decid-	1,362 1,741 119	1,093 1,057 397		2,322 1,765 1,082	2,804 1,117 264 22	2,228 1,709 737	2,877 1,271 750	3,193 834 717 26	2,404 1,772 955 62	2,718 1,254 696	3,385 1,428 774 99	3,882 1,223 745	3,068 1,091 654
Vegetables  tatoes  tatoes  thoage  lery  ions  ttuce  ixed  vegetables  utiflower  intaloupes  atermelons  iscellaneous  Melons  y Beans  as, Green  imach  matoes  man, String  ans, String	7,269 468 78 1,571 593 2,368 1,127 2,456 82 107 777 582 3 24 67	7,529 602 53 1,482 1,002 3,613 1,495 2,518 93 262 1,881 500 1956 76	136 2,124 1,610 4,215 1,309 4,094 90 178 4,312 463 431 28 138	810' 149' 4,035' 2,109' 1,500' 3,195' 31' 1,469' 2,347' 459' 96' 67' 755'	13,714 1,162; 188; 2,244; 2,368 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,780 3,78	683 161 1,460 2,848 3,444 411 2,993 34 985 1,710 149	14,200 1,274 211: 1,758 2,795 3,473 220 3,574 71 1,534 1,866 58 62 6 27 11	15,422 1,432 399 1,809 3,096 4,111 3,224 80 613 2,927 355 29 14	12,386 1,473 197 1,064 1,036 3,428 61 2,654 56 575 1,316	13,870 3,174 125 928 1,436 2,880 2,195 55 111 1,732  128	1,964 222 651 812 2,178 4 4,420 148	17,697 2,523 211 447 234 1,042 3,288 149  486  9  38	11,229 1,832 305 150 129 1,351 2,482 67

Note—Shipments of 1932 crops of dry beans cover period from September 1, 1932, to May 1, 1933, ad potato shipments cover period from July 1, 1932, to June 1, 1933.

COLORADO'S BEAN SHIPMENTS, CAR LOTS, CROP YEAR BASIS—SEPT. 1 TO AUG. 31

CROP OF

COUNTY	*1932	1931	1930	1929	1928	1927	1926	1925	1924
Adams		11	72	27	20	23	23	18	10
Arapahoe		100	444	196	81	155	103	158	67
Baca		58	91	74					
Crowley		10	50	38	48	32	11	40	8
El Paso	176	342	498	306	262	315	255	427	210
Elbert	133	251	562	227	147	138	117	255	183
Kit Carson		5	32	21					
Larimer		6							
Las Animas		64	95	100	37	14	37	17	20
Lincoln		102	246	105	114	99	51	87	58
Logan		5	35	37	13	16	20	37	17
Mesa		97	130	119	116	68	30	23	4
Montezuma	43	27	123	83					
Morgan	37	165	429	179	146	223	180	309	136
Otero	44	72	196	131	119	172	133	98	85
Pueblo	9	29	135	106	20	84	49	79	21
†Washin at an	8	27	96	30					
Washington Weld	123	495	1.021	501	394	344	827	1,336	530
		2	28	38					
Yuma	4	13	29	29	58	27	30	43	22
Other Counties	-  *	10	20			l			
Total Colorado	777	1.881	4.312	2,347	1,575	1,710	1,866	2,927	1,316
United States	11,988	17,125	18,253	18,422	15,003	13,643	17,086	19,725	14,924

<sup>\*1932</sup> crop shipments only to May 1, 1932.

<sup>†</sup>Shipments previous to 1929 crop included in "Other Counties."

<sup>\$</sup>Shipments previous to 1931 included in "Other Counties."

Note—1931 crop shipments carried by truck equivalent to 60 cars. 1932 crop shipments carried by truck equivalent to 315 cars.

#### CORN (Cents per bushel)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	70	70	68	66	72	72	70	73	70	64	62	58
1911	56	54	53	54	59	62	64	68	72	75	76	76
1912	75	76	74	79	83	86	85	80	75	72	62	44
1913	41	44	50	52	50	52	54	62	72	76	74	71
1914	70	69	70	70	70	72	72	71	72	72	66	69
1915	66	68	70	68	66	65	66	68	66	56	52	5
1916	58	62	64	66	66	66	72	76	78	77	83	90
1917	92	92	98	120	145	161	174	186	184	155	130	122
1918	128	144	150	150	147	148	152	156	154	146	138	140
1919	142	136	134	143	150	156	166	168	172	164	146	14
1920	133	120	124	144	155	160	160	150	126	98	80	6
1921	48	43	42	48	50	48	49	42	36	33	31	8
1922	34	39	44	48	50	51	50	45	44	55	66	6
1923	61	62	66	78	84	82	78	74	73	75	70	6
1924	60	60	58	59	65	62	90	95	93	94	90	10-
1925	115	115	106	87	100	110	108	99	98	92	70	7
1926	72	65	60	57	62	65	68	72	75	79	76	7:
1927	70	71	72	73	79	91	97	97	94	83	70	6
1928	69	72	80	87	93	94	92	85	83	80	73	7.
1929	76	80	80	78	79	78	80	87	87	88	80	7
1930	71	71	66	68	68	71	68	77	77	70	61	5
1931	48	44	42	44	43	40	42	42	38	34	41	3
1932	36	35	33	33	33	32	33	32	31	28	23	2
1933	20	20	21									_

OATS (Cents per bushel)

Year	Jan.	Feb.	Mar.	April	Мау	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	54	54	56	56	56	58	58	56	52	46	46	45
1911	44	44	44	47	50	50	53	55	52	50	49	48
1912	48	47	52	58	60	60	57	47	41	39	37	38
1913	38	40	40	38	40	42	44	47	47	46	45	45
1914	45	46	47	48	50	50	45	42	46	48	46	48
1915	49	48	48	52	53	50	50	48	43	42	42	42
1916	42	45	50	52	54	55	56	54	54	58	58	62
1917	64	64	69	84	97	98	92	86	82	72	71	77
1918	76	80	96	101	100	96	90	92	90	84	80	86
1919	90	86	82	89	96	90	89	87	83	84	86	90
1920	90	92	97	99	100	110	104	90	84	74	64	56
1921	53	51	56	53	51	56	53	48	40	86	34	32
1922	32	36	40	43	44	44	44	42	38	88	48	46
1923	49	53	58	64	66	67	66	58	50	46	46	48
1924	48	47	50	48	45	49	55	56	54	50	54	55
1925	60	63	65	67	62	63	58	53	49	49	49	48
1926	46	47	47	49	48	48	47	44	43	44	43	41
1927	47	49	48	50	50	55	56	50	49	45	46	48
1928	50	50	55	58	62	60	62	47	43	44	45	47
1929	48	52	53	54	54	50	58	49	47	45	47	46
1930	45	44	45	45	45	44	39	88	37	35	35	34
1931	34	82	85	84	88	82	29	26	26	23	29	29
1932	29	30	30	30	31	29	28	24	22	20	19	18
1933	18	18	18									

BARLEY (Cents per bushel)

Year	Jan.	Feb.	Mar.	April	Мау	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
10	68	68	72	66	70	76	74	69	62	60	60	63
11	64	58	56	60	62	65	68	68	68	66	67	68
12	65	68	76	86	86	81	81	60	55	49	52	46
13	46	48	44	48	49	48	48	52	56	55	54	56
14	59	59	58	60	60	58	56	57	60	64	60	56
15	60	66	66	66	64	60	58	58	52	48	50	55
16	58	57	62	66	64	64	62	69	76	76	81	85
17	88	88	101	128	146	142	125	119	114	105	104	111
18	123	134	151	159	149	135	124	125	132	120		124
19	128	133	131	116	122	138	152	143	126	130	128	123
20	122	124	136	146	147	148	144	137	106		73	65
21	62	60			62	63		60	55			40
22	41	44	46	46	46	48	50	50	45	49	58	58
23	60	61	65	75	78	67	58	54	50	52	54	50
24	49	51	53	52	<b>5</b> 5	57	64	68	65	70	71	76
26	86	90	90	79	79	84	75	67	60	62	58	57
26	57	57	56	58	61	55	56	48	55	54	54	55
27	58	59	61	64	65	69	70	62	58	55	54	56
28	59	63	67	73	75	76	74	51	46	48	52	55
29	60	60	63	62	61	58	57	54	54	56	56	57
30	56	52	53	53	55	53	42	44	43	41	39	36
31	35	34	35	35	35	32	30	23	25	22	29	29
32	30	29	29	31	30	29	26	20	20	19	18	18
33	17	17	17		_ <b>_</b>							

WHEAT (Cents per bushel)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
910	98	99	98	97	96	98	96	94	90	86	84	80
911	78	77	77	79	82	83	88	86	80	80	82	84
912	84	84	87	92	94	94	92	82	76	76	76	70
913	72	75	75	75	74	73	72	72	74	74	76	76
914	74	75	76	78	78	77	76	78	81	81	84	90
915	107	121	118	118	120	104	95	92	82	84	83	84
916	93	97	94	91	91	88	92	112	128	135	145	145
917	148	152	156	180	220	242	232	210	200	194	190	192
918	190	190	192	193	192	195	200	198	194	192	194	194
919	198	195	194	201	203	206	204	196	194	198	200	210
920	216	212	212	215	225	234	226	212	196	178	152	136
921	138	138	130	108	112	118	96	86	86	82	76	78
922	80	94	102	99	99	90	84	84	78	84	90	92
923	95	96	99	100	100	94	80	72	79	84	84	86
924	84	83	84	82	84	. 82	95	105	100	115	118	127
925	142	163	155	133	139	141	128	145	138	129	136	145
926	152	147	135	131	132	127	111	108	105	107	110	109
927	110	113	109	111	109	119	118	109	107	105	103	107
928	108	109	115	118	132	127	114	83	80	85	85	87
929	89	93	95	89	84	80	91	101	100	98	91	95
930	96	90	84	89	84	84	68	64	63	57	58	54
.931	59	51	51	51	52	45	32	28	80	33	46	42
932	49	42	40	40	39	36	34	36	35	33	32	30
933	31	32	33						1	1		1

#### RYE (Cents per bushel)

Year	Jan.	Feb.	Mar.	April	Мау	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	74	74	74	71	75	79	78	78	70	68	68	66
1911	64	63	64	65	64	61	60	72	76	68	68	68
1912	68	72	80	82	78	75	76	70	59	54	54	54
1913	53	52	50	52	57	62	64	63	62	59	58	60
1914	62	58	56	62	64	60	62	61	59	60	62	64
1915	69	80	90	98	96	84	78	78	70	64	67	72
1916	72	74	76	75	74	71	72	79	84	94	105	100
1917	104	110	108	128	148	148	146	135	142	151	144	140
1918	136	139	162	176	163	138	138	165	166	151	141	138
1919	128	125	138	151	144	134	140	151	147	132	129	131
1920	142	136	125	152	172	194	184	150	138	121	110	98
1921	101	92	90	96	95	90	77	68	70	67	60	58
1922	58	62	66	68	70	72	68	57	51	60	68	67
1923	67	65	65	70	75	70	56	50	56	60	58	56
1924	54	58	58	60	60	55	59	70		83	85	95
1925	103	118	112	89	82	95	82	83	82	69	63	70
1926	70	71	61	59	58	61	65	70	70	73	71	65
1927	68	73	72	70	72	78	80	72	71	68	67	72
1928	73	73	79	80	89	87	85	67	67	70	71	71
1929	72	76	75	75	70	66	69	76	73	73	71	73
1930	71	66	59	63	61	57	38	42	46	41	33	83
1931	31	30	28	31	32	29	22	20	21	24	32	32
1932	32	32	33	30	30	28	28	28	26	23	21	20
1933	21	21	21									

#### POTATOES (Cents per bushel)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	62	59	54	35	26	32	50	75	80	70	60	53
1911	54	60	60	70	77	122	170	162	135	98	90	94
1912	90	95	102	120	146	140	115	94	70	55	46	38
1913	35	39	42	36	80	34	49	69	70	62	68	62
1914	60	60	60	58	58	74	86	88	81	72	62	48
1915	50	58	57	63	71	73	86	82	54	42	48	58
1916	70	76	80	95	105	118	133	130	100	103	130	130
1917	138	194	220	228	258	257	244	186	113	88	90	94
1918	106	104	85	64	51	51	120	168	132	97	88	88
1919	76	70	66	77	83	76	120	160	155	150	158	162
1920	181	226	274	330	428	450	400	265	123	94	76	70
1921	60	56	64	68	67	81	96	110	103	90	81	66
1922	77	80	70	64	55	62	70	88	76	48	41	32
1923	41	40	34	45	43	41	96	128	95	74	65	64
1924	71	65	65	70	71	180	150	120	60	53	51	52
1925	63	64	80	77	85	113	166	152	114	110	188	173
1926	193	178	175	230	180	145	140	105	110	115	130	125
1927	130	110	110	115	135	170	200	140	85	65	60	60
1928	55	55	80	80	60	55	75	65	55	35	45	45
1929	45	40	45	45	45	50	100	120	115	110	115	115
1930	110	115	120	120	140	150	115	105	85	70	70	60
1931	60	55	50	60	55	50	75	70	35	80	30	80
1932	29	26	27	28	28	32	43	28	26	22	24	25
1933	24	24	26									

HAY (LOOSE) (Dollars per ton)

Year	Jan.	Feb.	Mar.	April	Мау	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
910	11.25	11.00	10.55	10.00	10.00	10.30	10.05	10.40	10.45	10.30	10.60	10.65
911	10.75	10.60	10.55	10.40	10.70	10.50	10.20	10.05	9.55	9.95	9.65	9.40
912	9.80	10.30	11.55	13.00	13.75	12.85	10.55	9.25	8.70	8.80	8.95	8.85
913	8.85	8.50	8.30	8.30	8.30	8.60	8.70	8.45	. 8.85	9.30	9.65	9.80
914	10.15	11.10	10.65	9.65	9.80	9.55	8.50	8.20	8.20	8.25	7.95	7.45
915	7.45	7.50	7.30	7.30	7.85	8.40	8.65	8.15	7.45	7.40	7.60	7.95
916	8.55	9.15	9.55	9.65	10.00	10.35	10.10	9.40	8.75	9.35	10.60	11.05
917	11.55	12.55	13.65	15.95	18.95	19.60	16.00	13.75	14.50	15.15	16.20	16.85
918	18.05	17.85	15.50	15.65	16.00	15.15	14.65	13.85	14.15	15.10	15.55	15.85
919	14.70	15.75	17.15	20.05	21.80	19.40	18.50	18.60	18.25	17.50	17.75	18.00
920	18.50	18.75	18.15	18.65	20.60	20.60	18.75	17.55	16.00	13.20	11.50	11.50
921	10.55	10.20	9.95	9.35	8.85	9.20	8.90	8.20	7.30	6.70	7.05	6.60
922	6.40	6.50	6.95	7.32	7.02	6.40	6.80	7.95	8.70	9.15	10.20	10.60
923	10.95	12.05	12.30	13.15	14.20	13.05	10.30	9.00	9.15	9.15	10.15	12.90
924	11.00	10.50	10.50	10.00	10.00	10.50	9.50	10.80	10.00	11.50	11.30	12.00
925	12.30	12.30	13.60	11.60	11.20	12.00	13.70	12.00	11.60	10.70	12.00	12.20
926	11.50	10.70	11.30	10.50	11.90	11.10	10.50	9.80	9.50	9.30	8.90	9.00
927	8.00	7.60	7.50	8.50	9.00	8.50	8.70	8.40	8.80	9.00	9.30	9.20
928	8.50	8.10	9.00	10.00	11.00	10.60	9.70	9.30	10.60	10.80	11.00	11.00
929	11.00	12.00	13.00	12.20	12.70	12.70	11.70	11.70	11.00	10.90	10.90	10.60
930	10.80	10.00	9.60	8.90	9.30	9.30	8.90	9.90	10.20	8.90	9.00	8.60
931	9.00	8.00	7.60	7.90	8.10	7.30	7.10	7.80	7.60	7.50	7.80	8.40
32	8.30	8.80	8.60	8.70	8.40	7.40	7.10	6.90	6.50	6.40	6.10	5.90
33	5.80	5.80	5.70									

APPLES
(Dollars per bushel)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
10	1.17	1.14		1.27	1.25	1.13	1.61	1.17	1.25	1.00	1.10	1.20
11	1.35	1.54	1.50	2.47	2.09	2.50	1.25	1.03	.77	.96	1.17	1.27
12	1.00	1.15	1.17	1.60	1.80	2.00	1.96	.85	.88	.97	.83	.78
13	.90	.75	.90	.65	1.25	2.07	1.40	.82	.85	1.00	1.05	1.10
14	1.00	1.20	1.20	1.30	1.50	1.50		.80	.75	.60	.75	.65
15	.65	.70	.80	1.05	1.05		1.30	1.00	1.00	.85	.95	.95
16	.90	1.00	.95	1.00	1.05	1.40	2.00	1.20	.95	.85	1.00	1.25
17	1.20	1.30	1.40	1.60	2.50	3.20		1.20	1.20	.90	1.10	1.85
18	1.25	1.30	1.15	1.40	2.60		1.80	1.70	1.50	1.50	1.70	2.00
19	2.25	2.10	2.50	2.10	2.70	2.60	2.30	1.50	1.70	1.60	2.00	2.10
20	2.20	2.10	2.30	2.25	3.60	2.40	2.70	2.00	1.50	1.60	1.70	1,92
21	.65	1.00	.98	1.40	1.60	1.25	1.00	1.50	1.70	1.70	1.60	1.40
22	1.50	1.50	1.80	1.80	1.60	2.20	1.90	.75	.65	.75	.70	.50
23	1.00	1.10	1.18	1.30	2.38	3.20	1.90	1.76	1.26	1.24	1.23	1.20
24	1.25	1.00	1.00	1.10		1.00	2.00	.94	1.00	1.09	1.26	1.17
25	1.41	1.43	1.62	1.71		2.50	1.61	1.19	1.24	1.22	1.39	1.32
26	1.64	1.27	1.14	1.58		1.60	1.80	1.10	.80	.75	.65	.90
27	.90	.95	.90	1.00	1.05	1.50	1.60	1.25	1.10	1.15	1.20	1.50
28	1.30	1.35	1.30	1.35	1.55	1.55	1.45	1.25	.95	.90	.85	.75
29	.80	.90	.95	.90	.95	1.20	1.70	1.30	1.15	1.10	1.05	1.10
30	1.10	1.20	1.10	1.20	1.20	1.45	1.70	1.45	1.00	.80	.85	.95
31	1.05	.85	.95	1.00	1.00	1.05	1.25	1.00	.70	.55	.55	.70
32 33	.70	.65	.60	.60	.60	.60	.60	.45	.45	.40	.45	.40

HOGS (Dollars per 100 pounds)

Year	Jan.	Feb.	Mar.	April	Мау	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
.910	7.60	7.50	9.00	8.80	8.20	9.00	8.50	7.80	8.50	8.20	8.00	7.7
911	7.60	7.60	7.20	6.30	6.20	5.60	5.70	6.90	7.00	6.20	6.00	6.1
912	6.00	5.90	6.00	6.90	7.00	6.90	6.80	7.20	7.40	7.60	7.60	7.5
913	7.20	7.10	7.50	7.90	7.80	7.70	7.80	7.80	7.60	7.70	7.70	7.4
914	7.30	7.70	7.60	7.70	7.70	7.70	7.70	8.10	8.30	7.70	7.50	6,8
915	6.90	6.40	6.50	6.60	6.80	6.90	7.00	7.20	6.80	7.10	6.50	6.1
916	6.00	6.60	7.70	7.80	8.20	8.10	8.30	8.50	9.00	8.30	8.60	8.7
917	9.10	10.10	12.20	14.00	14.20	14.30	13.50	14.90	16.20	17.30	15.50	15.7
918	15.20	14.80	15.70	15.60	15.80	15.40	15.50	17.00	17.30	16.20	15.50	15.6
919	15.30	15.00	15.20	17.20	17.90	17.90	19.20	19.40	16.50	14.50	12.80	12.7
920	12.70	13.20	13.30	13.00	12.90	12.50	13.00	12.90	13.70	13.70	11.50	8.4
921	7.30	7.80	8.60	7.80	7.10	6.60	8.00	8.60	7.10	6.80	6.80	5.8
922	6.00	7.50	9.00	8.90	8.80	9.00	8.90	8.70	8.50	8.20	7.50	7.0
923	7.30	7.20	7.10	7.10	6.50	6.00	6.30	6.50	7.70	7.00	6.50	6.1
924	6.30	6.00	6.10	6.30	6.10	6.00	6.00	8.30	8.00	8.70	8.20	7.8
925	8.80	9.30	12.20	11.50	10.00	10.40	12.20	12.10	11.70	11.20	10.60	10.3
1926	10.60	11.60	11.60	11.30	11.70	12.60	13.10	11.90	12.00	12.30	11.70	10.7
927	10.60	10.80	10.60	10.40	9.30	8.50	8.60	9.60	10.20	10.50	9.10	8.5
1928	7.70	7.50	7.50	7.50	8.40	8.60	9.60	9.90	11.00	9.60	8.70	7.8
1929	8.00	8.70	9.70	10.00	9.70	9.70	10.30	10.50	9.80	9.40	8.80	8.4
1930	8.70	9.00	9.30	8.90	8.80	8.90	8.20	8.50	9.40	8.80	8.30	7.4
931	7.20	6.70	6.80	6.00	6.20	5.60	6.00	6.20	5.40	4.40	4.30	3.5
932	3.40	3.20	3.70	3.40	2.60	2.60	4.10	3.80	3.60	3.05	2.80	2.4
933	2.40	2.65	2.95									

## BEEF CATTLE (Dollars per 100 pounds)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	5.70	6.00	4.80	6.00	5.80	6.20	5.50	4.60	4.50	4,90	4.50	4.20
1911	5.00	5.00	5.00	5.00	4.90	5.00	4.80	4.40	4.70	4.00	4.60	4.60
1912	4.80	4.90	5.20	5.70	6.00	5.90	5.70	5.40	5.60	5.80	5.50	6.10
1913	6.00	6.10	6.30	6.50	6.90	6.70	6.70	6.50	6.30	6.30	6.70	6.60
1914	6.50	6.90	6.70	6.90	6.90	7.00	7.00	6.50	6.70	6.00	6.30	6.50
1915	6.60	6.70	6.60	6.50	7.00	7.00	6.60	6.60	6.20	6.20	6.30	6.00
1916	6.30	6.50	6.70	7.00	7.10	7.40	7.50	7.30	6.70	6.60	6.60	7.10
1917	7.80	7.80	8.40	9.30	9.30	10.20	10.00	8.50	8.70	9.00	8.80	8.80
1918	8.60	9.50	9.90	11.00	12.40	11.80	11.00	10.90	9.00	9.20	9.90	9.90
1919	11.00	11.10	11.20	12.20	12.00	11.80	10.50	10.50	9.20	9.20	9.00	8.70
1920	9.00	8.90	9.20	9.20	9.40	10.00	9.50	8.80	8.70	6.70	7.20	6.20
1921	6.30	5.60	6.90	6.40	6.10	5.80	5.80	5.40	4.60	4.50	4.60	4.60
1922	4.90	5.50	5.80	6.00	6.20	6.40	6.30	5.80	5.70	5.60	5.50	5.70
1923	5.80	5.70	6.20	6.30	6.50	6.50	6.40	5.70	6.00	5.30	5.30	5.20
1924	6.00	5.60	6.00	6.40	6.50	6.40	6.20	5.60	5.70	5.30	5.00	5.50
1925	5.60	5.60	6.80	7.80	6.90	7.10	6.80	7.10	6.30	6.30	6.40	6.20
1926	6.50	7.10	7.30	7.70	7.00	7.40	7.10	7.10	6.80	6.50	6.60	6.50
1927	6.60	6.80	7.20	8.00	7.90	8.00	8.20	7.70	7.30	8.10	8.00	8.90
1928	9.00	9.40	8.80	9.10	10.10	9.80	9.50	10.10	10.40	10.10	9.80	9.10
1929	9.40	9.30	10.10	10.40	10.30	10.20	10.90	11.20	9.70	9.30	9.20	9,20
1930	9.30	9.10	9.20	9.20	9.10	9.00	7.90	7.00	7.10	7.20	7.10	7.30
1931	7.20	6.50	6.50	6.50	5.90	5.30	5.60	5.70	5.50	5.00	4.90	4.00
1932	3.90	3.60	4.10	4.10	3.90	4.20	4.90	4.50	4.30	3.80	3.65	3.40
1933	3.30	3.30	3.45					}				

#### VEAL CALVES (Dollars per 100 pounds)

l'ea <b>r</b>	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
	9.30	7.60	6.00	10.10	11.00	9.50	8.50	7.60	7.30	6.70	5.90	7.00
11	7.00	6.50	7.30	7.30	6.60	6.70	7.30	7.20	7.00	6.10	6.20	6.30
2	6,30	6.70	6.70	7.20	7.30	7.70	7.40	7.70	7.20	7.20	7.00	7.70
3	7.90	8.00	8.30	8.80	9.00	8.60	9.30	9.50	8.20	8.30	8.70	8.20
4	8.40	9.00	8.60	8.70	9.00	9.30	9.40	8.20	8.60	7.50	8.00	8.30
5	8.50	8.70	8.90	9.00	9.50	9.00	8.40	8.50	8.30	9.00	8.10	8.40
6	8.00	8.70	8.90	9.80	9.60	9.70	10.10	10.00	9.30	9.20	8.60	9.00
7	9.30	9.80	10.30	11.00	12.50	11.90	13.40	11.50	11.70	11.10	10.20	11.00
8	11.30	11.80	12.60	12.70	13.40	12.70	12.80	12.50	11.80	10.50	10.50	11.80
9	12.10	12.60	13.30	12.70	12.60	12.90	12.50	11.80	11.40	11.60	11.60	11.00
0	12.00	12.10	12.80	12.50	12.90	11.90	12.80	11.00	11.10	9.90	9.50	7.90
	8.00	8.00	8.80	8.90	8.20	8.10	7.60	7.00	7.00	6.80	6.50	6.50
2	7.10	7.50	7.20	7.50	7.70	7,70	7.30	6.80	6.60	6.60	6.30	6.40
3	6.90	8.00	8.20	8.50	8.40	8.50	8.10	7.40	8.00	7.30	6.80	7.10
4	7.90	7.80	8.20	8.50	8.30	8,30	8.40	7.80	7.80	7.30	7.00	7.30
5	7.90	7.90	8.80	8.70	9.00	8.60	8.20	8.50	7.90	8.60	8.60	7.80
3	8.60	9.90	10.00	10.10	10.00	10.50	10.20	9.10	9.80	9.50	9.10	9.40
7	9.50	10.00	9.80	10.50	10.40	10.30	10.70	10.50	10.60	10.50	10.80	11.30
8	10.70	11.50	11.50	11.80	11.30	12.70	12.90	12.90	13.00	12.70	11.80	11.40
9	12.10	12.10	12.70	13.50	13.80	13.20	13.30	13.60	13.00	12.40	12.00	12.30
0	12.20	11.90	11.70	11.60	11.40	11.70	10.80	9.70	9.80	10.30	10.20	9.90
1	9.70	8.90	9.10	8.70	8.10	8.00	7.50	7.50	7.20	6.50	6.50	6.00
2	6.00	5.80	6.30	6.20	5.40	5.50	5.50	5.30	5.30	4.80	4.60	4.35
3	4.45	4.70	4.70	""	""							l

# SHEEP (Dollars per 100 pounds)

Year	Jan.	Feb.	Mar.	April	Мау	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
910	6.20	6.50	3.50	8.20	5.20	6.00	5.20	5.00	5.00	4.20	4.60	4.80
11	4.60	4.70	4.20	4.40	4.90	4.00	4.10	4.70	4.10	3.80	3.30	4.00
012	4.00	4.00	4.50	5.20	5.50	5.10	5.00	4.30	4.40	4.30	4.10	4.80
918	5.00	4.90	5.40	6.00	5.20	5.10	5.00	4.70	4.10	4.00	4.50	4.70
914	5.30	4.60	5.10	5.50	6.00	4.50	5.00	5.50	4.50	4.40	5.00	5.20
915	4.80	5.30	5.90	6.30	6.40	6.10	6.60	5.90	5.00	5.00	5.60	5.70
916	5.60	6.20	7.00	7.80	7.80	7.80	7.70	6.90	6.60	6.90	6.90	8.20
917	8.40	9.30	9.80	10.90	11.40	12.20	10.80	11.30	11.30	11.40	10.30	11.40
918	11.90	12.00	12.60	13.90	14.40	12.60	12.40	13.20	13.90	11.00	9.60	10.50
919	10.20	10.30	10.50	11.90	11.70	12.50	10.30	10.80	10.90	9.20	9.40	9.60
920	10.00	11.60	11.70	11.20	11.60	10.00	10.00	6.80	7.00	7.10	7.30	5.90
21	4.50	5.00	6.40	5.60	5.60	5.10	5.00	4.50	4.40	4.50	4.50	4.70
922	6.70	7.50	7.40	7.40	7.20	6.20	7.20	6.70	6.40	6.20	6.20	7.0
023	7.20	8.10	7.80	8.20	7.70	8.00	7.00	6.40	7.30	7.30	6.70	6.9
924	7.50	7.60	8.00	8.30	8.50	8.60	7.60	6.60	6.80		6.80	8.06
925	8.40	9.00	8.60	10.00	9.00	8.60	8,20	8.00	8.50	7.60	7.70	7,70
926	9.30	9.20	8.80	8.50	8.40	8.90	6.90	6.50	7.60	6.10	6.80	8.00
927	7.00	7.00	8.00	8.70	8.10	8.00	6.70	6.70	6.70	6.00	7.30	7.5
928	7.40	7.20	8.40	7.90	8.80	7.60	7.60	7.60	7.70	7.00	7.30	7.10
929	7.40	7.90	8.40	9.10	8.70	8.20	7.20	6.40	5.70	5.80	6.10	6.20
930	6.40	6.40	5.60	5.70	5.80	5.40	4.50	4.40	4,30	3.40	3.20	8.6
931	3.80	4.20	4.50	4.30	3.80	3.60	2.60	3.00	2.60	2.50	2.20	2.0
932	2.10	2.20	2.40	2.60	1.80	1.70	1.90	1.80	1.90	1.55	1.45	1.5
933	1.80	1.85	1.85									1

## LAMBS (Dollars per 100 pounds)

Year	Jan.	Feb.	Mar.	April	Мау	June	July	Aug.	Sept.	Oct.	Nov.	Dec
1910	7.00	7.50	4.30		5.90	7.40	6.70	5.80	6.00	6.30	€.30	5.6
1911	6.50	5.80	4.80	5.60	6.20	5.10	5.30	6.50	5.40	4.50	4.60	5.1
1912	5.00	5.30	6.10	6.60	7.50	6.80	7.00	6.00	5.80	5.60	5.80	6.2
1913	6.70	6.60	7.00	7.30	6.60	6.00	6.50	6.30	5.60	5.50	5.70	5.7
1914	6.70	6.50	6.80	7.30	7.00	7.20	7.40	7.20	6.00	6.00	6.10	7.4
1915	7.20	7.20	7.60	8.10	8.40	8.00	7.90	7.20	7.00	7.00	7.39	7.3
1916	7.70	8.50	9.50	8.70	10.00	10.00	9.80	9.30	8.50	9.00	9.00	10.0
1917	11.40	12.00	12.20	12.90	14.20	15.30	13.70	13.50	14.60	16.30	15.50	15.7
1918	15.80	16.00	14.80	17.80	17.10	15.70	15.70	15.50	16.60	14.30	13.00	13.6
1919	14.20	14.30	14.50	15.70	14.60	15.20	13.80	15.50	14.60	12.30	12.80	13.2
1920	14.80	16.70	16.40	15.70	16.20	16.10	13.40	11.10	11.30	11.10	11.10	8.2
1921	8.40	7.30	8.00	7.30	7.90	8.00	8.10	7.00	5.50	6.00	5.80	6.0
1922	8.00	10.40	12.40	12.40	12.00	10.70	11.10	10.50	10.30	10.80	11.00	11.0
1923	11.20	11.50	12.30	12.00	12.70	12.00	11.20	10.50	11.50	11.80	11.00	11.6
1924	11.40	11.60	12.00	12.50	13.00	12.70	11.50	11.00	11.20	11.40	11.80	12.2
1925	14.00	14.50	14.70	12.60	12.70	12.80	12.50	12.90	13.20	12.90	13.40	13.4
1926	14.30	12.60	12.00	11.30	12.00	12.90	12.60	11.50	12.00	12.00	11.80	11.7
1927	11.20	11.30	12.40	13.00	13.00	13.50	13.00	12.60	11.90	12.00	12.80	11.8
1928	11.80	13.00	13.30	14.10	12.80	15.20	12.50	12.90	12.90	12.40	12.00	12.1
1929	12.90	13.40	14.00	14.60	14.20	13.10	12.80	12.30	11.90	12.00	11.70	11.4
1930	11.70	10.00	9.20	8.70	9.10	9.80	9.00	7.60	7.30	6.50	6.70	6.6
1931	7.10	7.60	7.70	7.80	8.10	7.30	6.20	5.90	5.40	5.00	4.70	3.8
1932	4.30	4.80	5.80	5.50	4.80	4.70	4.90	4.70	4.60	4.20	4.10	4.2
1933	4.70	4.40	4.40									

#### MILK COWS (Dollars per head)

Year	Jan.	Feb.	Mar.	April	Мау	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	42.90	39.70	44.70	47.00	42.80	48.00	51.00	45.00	45.00	45.50	46.50	46.0
1911	51.00	49.00	49.10	48.00	50.00	52.00	50.00	48.00	48.30	47.00	49.00	49.7
1912	49.30	51.00	52.90	54.00	55.00	55.20	55.00	57.20	55.80	56.20	57.30	59.2
1913	59.00	58.20	63.50	66.40	67.80	66.90	62.20	67.00	67.00	69.00	66.60	60.7
1914	67.50	68.00	69.00	70.00	68.60	70.00	75.00	70.00	73.00	77.00	76.10	72.9
1915	76.00	76.00	75.40	72.20	72.30	73.00	73.60	72.00	73.50	74.10	78.50	77.1
1916	72.10	72.00	76.00	75.00	75.80	78.00	76.60	82.00	75.20	72.70	75.00	80.0
1917	79.00	80.20	83.40	84.00	88.50	92.00	90.00	88.80	90.20	87.40	90.50	91.5
1918	89.30	92.20	87.90	92.10	96.50	95.50	88.40	94.30	93.00	90.00	97.80	92.0
1919	93.00	91.30	92.00	90.20	96.00	95.00	91.00	96.00	96.40	91.70	86.50	92.8
1920	86.10	92.60	96.50	97.00	97.20	92.80	92.60	100.70	87.00	85.00	82.00	65.5
1921	69.00	64.00	69.00	68.00	63.00	62.50	63.00	63.00	60.00	62.00	60.00	58.0
1922	60.00	60.00	63.50	65.00	68.00	68.00	65.00	63.00	59.00	55.00	53.00	56.0
1923	56.00	59.20	56.70	55.50	58.50	60.00	58.00	57.20	60.00	57.50	53.00	53.1
1924	55.00	55.00	57.00	58.00	58.00	57.90	55.00	57.00	56.50	53.00	51.00	48.0
1925	50.00	48.00	54.40	53.50	53.40	52.60	52.50	56.60	51.50	51.60	54.00	52.80
1926	58.20	59.60	61.00	61.00	61.00	61.00	63.00	64.00	58.00	56.00	59.00	63.0
1927	61.00	64.00	68.00	71.00	70.00	69.00	69.00	69.00	69.00	72.00	74.00	72.0
1928	75.00	80.00	82.00	82.00	84.00	86.00	88.00	88.00	93.00	92.00	89.00	84.0
1929	86.00	86.00	87.00	88.00	91.00	92.00	93.00	93.00	92.00	87.00	89.00	84.0
1930	85.00	80.00	74.00	73.00	75.00	76.00	68.00	63.00	64.00	62.00	61.00	59.00
931	58.00	56.00	56.00	56.00	52.00	50.00	49.00	48.00	45.00	42.00	40.00	38.00
932	38.00	36.00	36.00	37.00	37.00	37.00	34.00	31.00	31.00	27.00	28.00	27.00
933	26.00	27.00	27.00		ı							

### HORSES (Dollars per head)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct	Nov.	Dec.
910	134	125	136	139	112	133	128	128	125	122	125	115
911	129	120	125	125	122	130	115	121	129	111	115	118
912	105	110	115	118	119	119	117	118	123	115	124	122
913	122	118	122	122	119	120	115	112	116	105	101	105
914	110	108	103	98	102	102	110	105	105	105	103	110
915	111	120	118	114	116	112	114	103	110	120	125	112
916	115	114	119	115	118	113	115	118	119	112	120	125
917	123	121	125	126	125	136	119	126	126	136	126	127
918	137	135	135	134	129	125	124	126	122	124	123	122
919	124	124	123	121	128	120	113	120	109	113	105	112
920	105	125	117	112	112	106	110	119	103	104	95	80
921	71	77	79	82	82	80	81	79	78	68	63	60
922	67	72	72	78	78	80	78	74	67	67	58	52
923	60	64	66	70	70	70	65	67	70	66	60	55
924	54	55	57	58	60	59	60	60	62	58	60	55
925	56	63	70	75	64	62	62	69	66	53	61	58
926	68	67	67	72	71	75	69	71	61	61	59	61
27	60	63	70	69	72	60	65	68	63	65	60	61
328	60	61	60	63	51	65	65	62	61	61	61	56
929	54	55	59	62	57	62	61	63	63	60	56	55
930	55	54	55	57	53	54	46	48	47	46	44	49
931	45	48	48	48	50	45	42	40	40	39	37	37
32	37	37	40	42	42	42	41	39	39	37	37	35
33	37	40	42									

#### CHICKENS (Cents per pound)

ear	Jan.	Feb.	Mar.	April	Мау	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
0	13.0	13.3	13.5	13.4	14.1	14.6	15.0	15.0	13.6	13.5	13.2	12.4
1	12.8	13.2	13.1	12.5	12.4	13.1	13.8	14.0	13.7	13.4	12.3	12.0
2	12.6	12.8	13.1	13.0	12.8	13.1	13.2	13.2	12.7	12.6	12.6	12.5
3	13.0	13.1	13.2	13.1	12.4	12.8	13.4	14.1	13.0	12.2	11.9	12.0
4	11.3	12.7	12.2	12.2	12.6	12.3	15.0	12.5	13.0	12.0	11.4	10.4
5	12.0	11.9	12.3	12.1	12.6	13.2	10.8	11.7	10.6	11.4	12,2	11.4
6	11.5	11.6	11.8	11.6	13.0	12.8	12.6	13.3	13,1	12.1	12.0	11.7
7	12.7	13.2	14.0	15.0	16.3	17.2	14.6	15.5	16.5	17.7	15.5	16.0
8	16.4	19.5	17.9	19.3	20.0	21.0	21.5	22.0	22.1	21.0	19.2	17.4
9	17.6	18.0	20.5	22.5	24.0	22.5	23.0	25.0	33.0	22.0	20.0	20.0
0	20.0	22.0	23.8	24.6	25.4	25.1	26.5	28.0	22.0	22.0	21.0	17.0
l	19.0	19.0	20.0	20.0	19.0	19.0	21.0	21.0	18.0	17.0	17.0	16.0
2	17.0	16.0	17.0	18.0	18.0	18.0	17.0	17.0	16.0	16.0	15.0	14.0
3	15.7	15.0	16.1	16.0	16.0	16.9	19.1	18.0	17.0	17.4	15.5	14.6
4	15.3	15.2	16.3	17.0	18.0	17.3	19.3	18.6	17.8	15.2	15.4	14.9
5	16.3	14.8	17.8	16.9	17.9	18.4	19.0	20.1	17.8	16.8	17.6	17.2
6_ <b></b>	18.5	18.1	19.6	21.3	20.3	20.3	21.7	20.7	19.4	18.5	18.4	18.9
7	18.4	19.2	18.6	20.4	19.7	17.4	19.9	18.5	19.0	18.3	18.4	18.0
8	17.7	17.5	17.7	18.5	20.2	18.7	20.8	18.9	20.0	19.0	19.3	18.7
9	18.7	19.3	19.4	19.9	20.6	21.2	21.0	21.0	20.2	18.8	18.4	16.0
0	17.2	17.2	18.0	18.6	18.0	17.1	14.9	15.2	16.5	15.2	14.0	14.1
1	13.8	13.2	14.1	14.9	13.8	13.3	14.6	14.0	13.5	12.8	12.9	12.0
	12.0	11.1	11.0	12.0	11.0	10.4	10.5	10.5	9.5	9.5	8.5	7.5
	7.7	8.1	7.6									

### BUTTER (Cents per pound)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	83	33	32	28	28	28	28	30	31	32	32	32
1911	32	28	27	26	24	24	24	25	27	28	30	32
1912	33	32	30	29	28	27	26	27	28	30	32	31
1913	31	30	30	28	27	28	28	28	29	31	32	31
1914	31	30	28	28	26	25	25	26	29	30	31	32
1915	82	30	28	27	26	26	24	26	26	28	29	30
1916	80	28	28	28	28	27	27	28	30	32	34	36
1917	36	34	34	36	38	36	36	38	41	43	44	46
1918	46	45	44	42	40	40	40	42	45	51	56	58
1919	58	50	46	52	51	48	50	52	54	57	62	66
1920	63	56	57	59	56	52	53	54	56	57	58	53
1921	46	42	40	40	34	27	29	34	37	40	42	39
1922	32	28	29	30	30	29	29	30	82	86	42	46
1923	45	44	44	42	41	40	38	38	41	43	45	45
1924	45	44	42	40	36	35	88	86	88	88	86	40
1925	40	35	37	36	87	37	38	40	41	43	49	45
1926	50	41	40	42	40	41	89	39	42	42	43	46
1927	45	44	45	45	43	41	40	40	42	45	44	46
1928	47	45	45	45	43	43	42	43	44	46	46	47
1929	47	46	46	45	45	44	43	44	45	45	42	42
1930	38	37	37	37	39	33	31	37	40	38	37	33
1931	29	28	29	29	26	25	24	27	29	33	29	28
1932	23	22	22	20	19	19	18	20	20	20	21	22
1933	22	18	18	21								

#### EGGS (Cents per dozen)

Year	Jan.	Feb.	Mar.	April	Мау	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
1910	86	30	24	22	22	24	24	26	28	31	33	35
1911	34	28	22	18	18	18	20	22	24	27	81	36
1912	86	80	26	22	20	20	21	23	25	29	33	34
1913	32	27	22	17	15	17	19	21	22	29	35	37
1914	38	26	20	16	16	17	20	19	24	24	30	83
1915	32	24	18	16	15	17	17	20	21	27	33	36
1916	32	30	16	15	17	20	20	22	27	30	40	45
1917	40	37	25	27	29	31	29	34	40	40	45	50
1918	46	49	30	29	29	30	32	89	41	47	54	62
1919	59	36	35	88	86	35	36	42	45	53	62	72
1920	60	45	88	36	37	35	39	47	50	56	60	72
1921	59	30	25	20	17	19	25	25	25	88	48	52
1922	34	29	19	17	22	19	19	21	25	33	44	48
1923	87	28	20	19	19	19	20	25	31	37	46	48
1924	39	33	18	19	20	21	23	26	32	36	45	51
1925	53	82	23	24	23	25	27	33	33	87	50	48
1926	36	27	21	23	23	23	25	27	30	87	47	50
1927	37	28	20	19	18	18	21	23	28	86	43	43
1928	39	26	22	20	22	22	24	28	80	35	43	48
1929	35	82	28	22	21	22	25	28	31	87	46	49
1930	85	83	20	20	19	18	18	20	25	29	84	82
1931	21	14	15.5	5.6	11.5	12.6	14.5	17.8	18.7	23.0	28.0	81.0
1932	19.0	14.0	9.0	9.0	9.2	9.9	11.3	14.3	15.0	22.0	26.0	28.1
1933	23.0	10.2	8.7									

#### ALFALFA (Dollars per ton)

Year	Jan.	Feb.	Mar.	April	May	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
910												
911						! <b></b> -						
912							<b>-</b>					
913						<b>-</b>				<b>-</b>		
914						<b>-</b>				6.60	7.70	7.00
915	8.50	7.80	8.30	8.50	9.00	7.80	7.70	7.40	7.50	7.50	8.70	8.10
916	9.00	8.80	9.50	9.70	10.50	11.50	10.20	10.50	9.60	9.70	9.85	11.50
917	12.10	12.60	13.20	14.60	20.10	19.30	13.60	14.80	15.00	15.30	17.40	18.90
918	18.20	18.20	16.80	15.60	15.50	14.50	14.30	15.26	17.00	17.20	17.20	17.40
919	17.90	18.20	20.50	21.00	22.70	20.10	18.20	18.00	18.10	18.10	17.50	19.00
920	19.50	19.90	19.00	20.10	22.60	21.60	18.30	17.20	14.50	14.00	12.50	11.70
921	8.50	8.00	8.80	8.50	8.75	8.50	6.00	5.50	5.00	5.70	5.00	4.70
922	4.40	6.50	7.00	7.50	7.50	7.00	7.00	9.00	9.80	9.80	10.40	11.50
923	12.30	12.20	13.40	13.80	16.00	14.60	12.00	11.00	10.10	10.00	12.40	12.90
924	11.00	11.50	11.00	11.00	11.30	11.00	10.00	10.30	11.00	11.50	11.70	12.20
925	12.50	12.80	12.90	11.40	12.60	11.70	12.20	12.60	12.40	12.00	12.60	13.40
926	13.30	11.80	11.30	12.10	10.80	10.10	9.60	9.80	9.40	9.70	10.00	10.00
927	9.00	8.30	8.50	9.00	8.70	9.50	8.50	9.00	9.10	9.50	9.60	9.30
928	9.10	9.00	10.00	10.20	11.90	11.20	10.20	10.40	11.40	12.30	12.30	13.10
929	13.80	14.30	14.80	14.60	14.50	13.50	12.40	11.70	12.30	12.10	12.10	11.60
930	11.60	11.30	10.30	9.70	9.90	9.50	9.20	9.00	9.80	10.00	9.20	9.50
931	9.00	8.20	7.80	8.00	8.20	7.60	6.80	8.10	7.40	7.20	8.00	8.70
932	8.60	8.60	8.70	9.00	8.50	7.50	6.30	6.50	7.00	6.70	6.70	6.00
933	6.30	5.70	6.00				<b>_</b>					

#### BEANS, DRY (Dollars per 100 pounds)

Year	Jan.	Feb.	Mar.	April	Мау	June	July	Aug.	Sept.	Oct.	Nov.	Dec.
910									4.32	4.50	4.33	4.70
911	4.15	5.08	4.93	4.77	4.87	5.07	5.08	5.27	5.42	4.72	5.13	4.75
912	4.60	4.43	4.42	4.82	4.65	4.25	4.23	3.92	3.83	3.93	3.18	3.00
913	3.50	3.58	2.88	3.00	2.80	3.33	3.33	2.92	3.17	4.08	4.17	4.00
914	3.58	3.42	3.50	3.83	3.75	3.75	3.50	4.17	4.90	3.83	3.33	3.33
915	3.58	4.38	4.43	3.87	4.40	4.83	3.75	3.83	3.33	3.83	3.80	4.12
916	4.73	4.78	4.27	4.87	5.17	5.17	6.33	5.83	7.00	5.00	5.83	6.83
917	7.50	7.50	7.92	9.00	13.67	14.33	13.17	10.50	9.67	8.67	8.00	7.33
918	8.00	8.17	8.33	8.33	8.67	8.67	8.58	7.92	8.00	7.33	7.33	6.67
919	6.67	5.92	5.33	5.00	5.00	5.33	5.33	5.83	6,17	5.50	5.83	6.00
920	6.42	6.33	5.83	5.92	6.17	6.17	6.17	6.17	6.00	5.50	5.25	4.73
921	3.00	3.67	3.75	4.00	3.67	4.33	4.50	4.50	4.50	4.50	4.50	4.58
922	4.50	4.83	5.50	5.58	5.83	6.00	5.83	5.42	5.33	5.42	7.33	7.83
923	7.50	8.67	8.33	8.33	8.08	8.25	7.67	7.83	6.57	7.00	6.17	5.17
924	5.00	4.92	4.92	4.50	4.33	4.50	4.33	4.75	5.00	5.67	5.17	4.83
925	5.33	5.83	6.00	6.33	6.83	6.05	6.33	6.50	4.75	4.98	4.00	4.67
926	3.70	3.98	3.80	3.90	4.20	4.50	5.00	4.70	4.30	4.40	4.80	4.90
927	4.90	4.90	5.00	5.50	5.60	5.80	5.90	6.10	6.15	5.10	4.40	4.55
928	4.95	5.40	5.60	6.10	6.10	6.30	6.20	5.40	4.75	5.00	5.20	5.70
929	5.80	5.95	5.90	6.25	6.05	6.20	6.25	6.25	6.25	5.30	4.90	4.60
930	4.30	4.20	4.30	4.15	4.30	4.30	4.00	4.25	4.40	3.20	2.45	2.15
931	2.15	2.15	2.10	1.95	1.80	1.65	1.60	1.50	1.50	1.30	1.95	1.50
932	1.45	1.25	1.20	1.25	1.20	1.20	1.15	1.30	1.70	1.70	1.50	1.50
933	1.60	1.75	1.95			<b>-</b>			l			

### COLORADO LIVESTOCK

The estimated number of livestock in Colorado on January 1, 1933, compared with January 1, 1932, shows an increase in milk cows and heifers kept for milk, no change in all cattle and calves and a decrease in the number of beef cattle, all sheep and lambs, sheep and lambs on feed, hogs, horses and mules. Colorado livestock January 1, 1933, were valued at \$46,116,000, compared with \$60,242,000 the year before and \$97,815,000 January 1, 1931.

When the number of livestock are combined into units, which allows for difference in size and feed requirements of the several species, the total number of animal units on January 1, 1933, was about 4 per cent less than the number on January 1, 1932. The 4 per cent drop in animal units and a much greater drop in prices have drastically reduced livestock values in Colorado the past year. Feed supplies are very limited as a result of low crop production the past two seasons. On May 1, 1933, farm hay stocks were 12 per cent of the total 1932 production compared with 5.0 per cent a year ago, and 11.3 per cent, the five-year (1926-1930) average.

Cattle—Cattle numbers remained unchanged from a year ago and are estimated at 1,526,000 head. This is a reduction of 231,000 head from the 1,757,000 on hand January 1, 1920. Colorado cattle and calves were valued at \$24,600,000 January 1, 1933, compared with \$34,335,000 the year before and \$58,250,000 January 1, 1931. There has been a gradual increase in milk cow numbers since 1920, and on January 1, 1933, it was estimated there were 269,000 cows and heifers two years old and over kept for milk. This compares with 266,000 January 1, 1932, and is an increase of 67,000 over the 202,000 head on hand January 1, 1920. The number of cattle and calves on feed decreased and on January 1, 1933, was 49,000 head, compared with 81,000 the previous year and 142,000 head on feed January 1, 1931. In 1932, 513,000 cattle and calves were marketed, of which 460,000 were cattle and 53,000 were calves. In 1931, 526,000 cattle and 54,000 calves were marketed.

Sheep—Colorado sheep and lamb numbers January 1, 1933, were 3,055,000 compared with 3,391,000 the year before and 3,351,000 January 1, 1931. Colorado sheep and lambs on hand January 1, 1933, were valued at \$9,000,000, compared with \$10,512,000 a year earlier and \$18,766,000 January 1, 1931. The number of farm and range sheep and lambs was estimated at 1,675,000 January 1, 1933, compared with 1,801,000 on hand January 1, 1932, and 1931. The 1932 lamb crop was 1,093,000 head, compared with 1,230,000 in 1931 and 1,245,000 in 1930. The number of lambs saved per 100 ewes on hand January 1 was 70 for 1932, compared with 82 for 1931 and 85 for 1930. Colorado had 1,380,000 sheep and lambs on feed January 1, 1933, compared with 1,590,000 the year before and 1,550,000 two years before and 2,035,000 head January 1, 1930, which was the largest number on record.

Wool—Colorado wool clip in 1932 was estimated at 11,840,000 pounds or 7.4 pounds per fleece, compared with 13,541,000 pounds or 7.8 pounds per fleece in 1931.

Hogs—Colorado hogs, including pigs, were estimated at 512,000 head on hand January 1, 1933, compared with 624,000 January 1, 1932, and 520,000 January 1, 1931. On January 1, 1933, hogs were valued at \$1,595,000, compared with \$3,245,000 the previous year and \$5,772,000 January 1, 1931. Marketings of hogs in 1932 amounted to 529,000 head, compared with 380,000 head the previous year and 391,000 head in 1930. The June, 1932, pig survey indicated that 90 per cent as many pigs were saved in the spring of 1932 as were saved in the previous spring. The average number saved per litter in the spring of 1932 was 5.4, compared with 5.5 a year earlier. The fall pig survey made in December, 1932, indicates that 84 per cent as many pigs were saved in the fall of 1932 as the fall before, and the average number of pigs saved per litter the fall of 1932 was 5.8, or the same as the fall of 1931. The total number of pigs saved in 1932 numbers 649,000, compared with 740,000 in 1931. The December survey of 1933 as farrowed the previous spring.

Horses and Mules—There has been a gradual reduction in the number of work stock in Colorado during the past ten years or more. The number of horses and colts on hand January 1, 1933, was estimated at 318,000 head, com-

pared with 324,000 and 331,000 on hand January 1, 1932 and 1931, respectively. Mule numbers were estimated at 26,000 head January 1, 1933, and show a decline of about a thousand head each year for the past two years. The value of all horses and mules on hand January 1, 1933, was \$10,921,000, compared with \$12,150,000 the previous year and \$15,027,000 January 1, 1931.

### CATTLE AND SHEEP FEEDING

Cattle Feeding—Cattle feeding is an important part of the agriculture in the irrigated sections of northern Colorado, the Arkansas Valley and the Western Slope. The feeding of cattle provides an outlet for by-products from the sugar beet factories, surplus alfalfa hay, grain and other feeds.

It is estimated that there were 49,000 head of cattle and calves on feed for

market January 1, 1933, compared with 81,000 head on January 1, 1932.

### Estimated Number of Cattle on Feed January 1, by Sections

1933	1932	1931	1930	1929	<b>192</b> 8	1927
Northern Colorado . 40,000 Arkansas Valley 4,000 Western Slope 3,000 Other Sections 2,000	70,000 6,000 2,000 3,000	120,000 9,000 3,000 5,000	105,000 14,000 3,000 3,000	120,000 13,000 3,000 4,000	120,000 12,000 4,000 4,000	130,000 12,000 4,000 4,000
State Total 49,000	81,000	137,000	125,000	140,000	140,000	150,000

Lamb Feeding—Colorado is the leading lamb feeding state and had 1,380,000 lambs on feed January 1, 1933, compared with 1,590,000 January 1, 1932.

On January 1, 1933, Colorado had 26.3 per cent of the lambs on feed in the United States.

Northern Colorado and the Arkansas Valley are the leading lamb feeding areas, with small operations in the San Luis Valley and Western Slope sections.

During the past ten years northern Colorado has averaged about 1,100,000 lambs on feed. Larimer and Weld counties are the most important counties in lamb feeding, each county having fed annually from 400,000 to 500,000 lambs. This is a larger number than is fed in any corn belt state except Nebraska.

Lamb feeding operations have increased during the past few years in the Fort Morgan-Sterling section of northeastern Colorado.

ESTIMATED NUMBER OF SHEEP AND LAMBS ON FEED JANUARY 1 OF EACH YEAR —BY SECTIONS

Year	Northern Colorado	Arkansas Valley	San Luis Valley	Western Slope	Miscel- laneous Sections	State Total
1922	760,000	225,000	30,000	25,000		1.040.000
	1,175,000	235,000	65,000	25,000		1,500,000
1924	1,150,000	170,000	55,000	25,000		1,400,000
1925	1,250,000	265,000	60,000	25,000		1,600,000
1926	1,090,000	285,000	75,000	25,000		1,475,000
1927	520,000	177,000	54,000	19,000		770,000
1928	1,265,000	275,000	30,000	10,000		1,580,000
1929	1,100,000	385,000	22,000	13,000		1,520,000
1930	1,490,000	475,000	45,000	25,000		2,035,000
	975,000	360,000	90,000	80,000	45,000	1,550,000
	1,100,000	375,000	50,000	25,000	40,000	1,590,000
	940,000	330,000	65,000	40,000	5,000	1,380,000

### ESTIMATED NUMBER OF SHEEP AND LAMBS ON FEED JANUARY 1

Year	Colorado Number	Per cent of total in United States	United States Number
1914	1,300,000		
1915	1,116,000		• • • • • • • • • • • • • • • • • • • •
1916	1,150,000		• • • • • • • • • • • • • • • • • • • •
1917	1,250,000		• • • • • • • • • • • • • • • • • • • •
1918	1,135,000		
1919	940,000		
1920	950,000		• • • • • • • • •
1921	1,283,000		
1922	1,040,000		
1923	1,500,000	34.5%	4,351,000
1924	1,400,000	32.6%	4,297,000
1925	1,600,000	39.7%	4,028,000
1926	1,475,000	31.7%	4,646,000
1927	770,000	18.0%	4,284,000
1928	1,580,000	35.2%	4,488,000
1929	1,520,000	31.5%	4,822,000
1930	2,035,000	34.6%	5,886,000
1931	1,550,000	28.6%	5,428,000
1932	1,590,000	25.9%	6,135,000
1933	1,380,000	26.3%	5,239,000

Note-United States estimates were not made prior to Jan. 1, 1923.

#### WOOL PRODUCTION

	COLOR	ADO	UNITED STATES				
Year		Weight	Prod	Weight			
	Production Pounds	Per Fleece	Shorn, Lbs.	Pulled, Lbs.	Per Fleece		
1920	6,266,000	6.5	244,179,000	42,900,000	7.3		
1921	6,325,000	6.7	235,129,000	48,500,000	7.3		
1922	6,138,000	6.6	221,713,000	42,000,000	7.3		
1923	6,486,000	6.9	225,696,000	42,500,000	7.5		
1924	6,486,000	6.9	235,575,000	43,800,000	7.6		
1925	6,956,000	7.4	252,832,000	46,800,000	7.6		
1926	8,132,000	7.6	268,900,000	49,600,000	7.7		
1927	8,877,000	7.3	289,909,000	50,100,000	7.7		
1928	11,300,000	8.1	314,588,000	51,900,000	7.9		
1929	12,269,000	7.8	327,566,000	54,500,000	7.8		
1930	13,446,000	8.1	350,311,000	61,900,000	7.9		
1931	13,541,000	7.8	372,228,000	66,100,000	8.0		
1932	12,000,000	7.5	344,354,000	67,100,000	7.8		

#### STATE OF COLORADO

### ESTIMATED CREAMERY BUTTER PRODUCTION

Year	Colorado Pounds	Per cent of Preceding Year	United States Pounds	Per cent of Preceding Year
1919	13.144.000		868,125,000	
	12,979,000	98.7	863,577,000	99.5
	15,290,000	117.8	1,054,938,000	122.2
1922		107.3	1,153,515,000	109.3
1923		113.5	1,242,214,000	107.7
	18,130,000	97.3	1,356,080,000	109.2
	18,794,000	103.7	1,361,526,000	100.4
	18,255,000	97.1	1,451,766,000	106.6
	20,871,000	114.3	1,496,495,000	103.1
	21,614,000	103.6	1,487,049,000	99.4
	21,924,000	101.4	1,597,027,000	107.4
	22,643,000	103.3	1,595,231,000	97.4
	21,993,000	97.1	1,667,452,000	104.5
	22,385,000	101.8	1,655,248,000	99.3

CORN AND HOG RATIOS FOR THE UNITED STATES, 1910-1933

Number of Bushels of Corn Required to Buy 100 Pounds of Live Hogs Based on Averages of Farm Prices of Corn and Hogs for the Month

Year	January	February	March	April	May	June	July	August	September	October	November	December	Average
	Bus.	Bus.	Bus.	Bus.	Bus.	Bus.	Bus.	Bus.	Bus.	Bus.	Bus.	Bus.	Bus.
1910	12.2	12.0	13,6	14.4	13.3	12.9	12.2	11.7	13.0	14.2	15.1	14.9	13.3
1911	15.3	14.4	13.7	12.1	10.7	9.8	9.4	9.9	9.9	9.3	9.3	9.3	11.1
1912	9.1	8.8	8.6	9.0	8.4	8.1	8.3	9.1	10.1	12.0	13.2	14.1	9.9
1913	13.6	13.9	14.4	14.4	12.7	12.3	12.1	11.1	10.2	10.4	10.5	10.3	12.2
1914	10.8	11.3	11.2	10.9	10.3	9.9	10.1	10.3	10.2	10.0	10.4	10.2	10.5
1915	9.5	8.6	8.4	8.5	8.7	8.7	8.7	8.5	9.2	10.8	10.6	10.1	9.2
1916	9.8	10.5	11.4	11.5	11.4	11.0	10.9	10.6	11.1	10.4	10.1	9.8	10.7
1917	9.9	10.5	11.5	10.3	8.8	8.3	7.4	7.7	9.0	10.1	11.2	12.0	9.7
1918	11.2	10.3	10.1	10.2	10.3	10.0	9.9	10.1	10.8	11.0	11.5	11.3	10.6
1919	11.1	11.3	11.2	11.1	10.8	10.2	10.5	10.2	9.3	9.7	9.2	9.2	10.3
1920	9.3	9.2	8.9	8.4	7.6	7.1	7.8	8.5	10.1	13.0	15.0	13.2	9.8
1921	13.5	13.5	14.3	13.0	12.5	11.6	13.1	14.8	14.0	15.9	16.0	15.2	14.0
1922	15.4	16.5	15.8	15.7	15.0	14.7	14.7	13.7	13.4	13.4	12.8	11.7	14.4
1923	11.1	10.9	10.2	9.8	8.8	7.9	7.5	7.7	8.5	8.8	8.2	9.0	9.0
1924	9.0	8.5	8.6	8.6	- 8.5	8.1	6.7	8.0	7.7	8.7	8.7	7.9	8.2
1925	8.3	8.4	10.6	11.2	10.0	9.7	11.5	11.4	11.6	13.4	14.3	14.9	11.3
1926	15.8	17.2	17.5	17.5	17.8	18.7	17.7	14.7	15.8	16.2	17.3	17.0	16.9
1927	17.1	16.8	16.7	15.9	12.9	9.4	9.8	9.5	10.3	11.6	12.2	10.8	12.7
1928	10.3	9.6	8.7	8.4	8.6	8.5	9.4	10.2	11.7	11.3	11.3	10.4	9.9
1929	10.2	10.2	11.3	11.7	11.6	11.3	11.3	10.7	9.8	9.9	10.5	10.9	10.8
1930	_ 11.4	12.2	12.8	11.7	11.6	11.5	10.9	9.5	10.3	10.7	12.4	11.5	11.4
1931	11.8	11.6	12.0	12.0	11.3	10.6	11.5	12.3	12.6	14.1	11.9	10.9	11.9
1932	_ 11.2	10.9	12.1	11.4	9.8	9.6	14.1	13.4	13.5	15.0	15.7	14.5	12.6
1933	_ 14.0												

### COLORADO LIVESTOCK ASSESSMENTS

	HORS	ES			MULES		RAN	GE CATTL	E
Year 1910	Number	Assessed Value	Aver. Per Head	Number	Assessed Value	Aver. Per Head	Number	Assessed Value	Aver. Per Head
1913	201 704	\$7,506,000	\$30.39	14,277	\$ 524,559	\$36.74	720,297		
1914	270 996	18,028,000	63.99	19,329	1,568,328	81.12	793,957	\$23,912,000	\$30.1
1915	206 269	18,211,000	65.05	19,635	1,669,737	85.03	868,261	30,167,000	34.7
1916	308 069	20.031,000	67.59	23,284	1,991,820	85.54	997,823	87,548,000	37.6
1917	326,002	21,729,000	70.54	26,280	2,303,481	87.64	1,063,153	41,864,000	39.3
1918	352 704	23,837,000	73.12	29,269	2,716,010	92.80	1,147,428	46,533,000	40.5
1919	357 969	26,836,000	76.05	29,838	2,843,990	95.31	1,262,616	55,236,000	43.7
1920	337 002	25,254,000 22,856,000	71.16	30,045	2,660,731	88.56	1,286,547	56,989,000	44.3
1921	322 660		67.65	28,682	2,476,076	86.33	1,187,480	51,334,000	42.3
1922	210 000	18,495,000	55.42	29,539	2,054,836	69.56	1,123,594	31,856,000	28.3
1923	204 269	15,350,168	48.15	31,741	1,787,269	56.31	1,112,299	29,719,000	26.7
1924	200 704	11,901,589 10,722,327	89.12	32,528	1,499,818	46.10	1,060,189	26,084,000	24.6
1925	280,104	10,722,327	36.87	35,325	1,495,797	42.34	972,984	20,619,000	21.2
1926	269 346		86.59	32,939	1,417,710	43.04	905,618	18,023,000	19.9
1927	250,040	9,634,799 8,764,003	85.90	31,653	1,335,301	42.19	828,797	17,095,126	20.6
1928	230.750	8,207,666	85.06	30,306	1,250,836	41.27	804,545	18,212,260	21.9
1929	222,100		34.23	26,189	1,116,295	42.63	796,725	23,622,220	29.6
930	225,600	7,893,333 7.294,217	83.75	25,318	1,072,270	41.92	793,974	27,050,976	34.0
1931	216 811	6,704,193	32.33 30.92	21,994	917,187	41.70	800,198	27,312,372	34.1
				20.588		39.02		23.119.472	26.73
1932	208,790	5,592,084	26.78	19,450	803,274 652,754	33.56	864,846 892,229	14,830,237	
1932	208,790 DAIRY C	5,592,084		19,450	652,754 RANGE OR	33.56			16.6
1932	208,790	5,592,084	26.78	19,450	652,754	33.56		14,830,237	16.6
1932 Year	DAIRY C	5,592,084		19,450	652,754 RANGE OR	33.56		14,830,237	Aver. Per
Year	208,790 DAIRY C  Number 63,671	ATTLE Assessed	Aver. Per	19,450 F STC	652,754  CANGE OR OCK SHEEP  Assessed Value	Aver. Per Head	892,229 Number	14,830,237 SWINE Assessed Value	Aver Per Head
Year 1910	208,790 DAIRY C Number 63,671 73,768	5,592,084  ATTLE  Assessed Value  \$3,324,000	Aver. Per Head	19,450  F STC  Number 1,463,861	652,754  ANGE OR OCK SHEEP  Assessed Value \$ 2,165,838	Aver. Per Head \$ 1.48	892,229 Number 60,871	14,830,237  SWINE  Assessed Value \$ 253,678	Aver Per Head \$ 4.1
Year 1910	208,790 DAIRY C. Number 63,671 73,768 97,732	5,592,084  ATTLE  Assessed Value  \$3,324,000	Aver. Per Head	19,450 F STG Number 1,463,861 1,579,560	652,754  ANGE OR OCK SHEEP  Assessed Value \$ 2,165,838 4,776,626	Aver. Per Head \$ 1.48 3.02	Number 60,871 83,859	14,830,237  SWINE  Assessed Value \$ 253,678 630,919	Aver Per Head \$ 4.1
Year 1910 1913 1914	208,790  DAIRY C.  Number 63,671 73,768 97,732101,037	ASSESSED Value	Aver. Per Head	19,450  F STC  Number 1,463,861	652,754  ANGE OR OCK SHEEP  Assessed Value \$ 2,165,838	Aver. Per Head \$ 1.48	Number 60,871 83,859 112,342	14,830,237  SWINE  Assessed Value \$ 253,678 630,919 883,609	Aver Per Head \$ 4.1 7.5 7.8
Year 1910 1913 1914 1915 1916	Number 63,671 73,768 97,732 110,298	5,592,084  ATTLE  Assessed Value  \$3,324,000 4,994,869 5,786,218 6,727,172	Aver. Per Head \$45.06 51.10	19,450 F STC Number 1,463,861 1,579,560 1,555,165	652,754  ANGE OR  OCK SHEEP  Assessed  Value \$ 2,165,838 4,776,626 4,853,413	Aver. Per Head \$ 1.48 3.02 3.12	Number 60,871 83,859 112,342 163,143	14,830,237  SWINE  Assessed Value \$ 253,678 630,919 883,609 1,183,742	Aver Per Head \$ 4.1 7.5 7.8 7.2
Year 910913914915916917	208,799  DAIRY C.  Number 63,671 73,768 97,732101,037110,298124,342	5,592,084  ATTLE  Assessed Value  \$3,324,000 4,994,869 5,786,218 6,727,172 7,919,512	Aver. Per Head \$45.06 51.10 57.26	Number 1,463,861 1,579,560 1,555,165 1,157,544	652,754  AANGE OR OCK SHEEP  Assessed Value \$ 2,165,838 4,776,626 4,853,413 4,032,950	Aver. Per Head \$ 1.48 3.02 3.12 3.48	Number 60,871 83,859 112,342 163,143 181,169	14,830,237  SWINE  Assessed Value \$ 253,678 630,919 883,609 1,183,742 1,359,799	Aver Per Head \$ 4.1 7.5 7.8 7.2 7.5
Year 910	208,799  DAIRY C  Number 63,671 73,768 97,732101,037110,298124,342137,126	5,592,084  ATTLE  Assessed Value  \$3,324,000 4,994,869 5,786,218 6,727,172 7,919,512 9,449,630	Aver. Per Head \$45.06 51.10 57.26 60.99	Number 1,463,861 1,579,560 1,555,165 1,167,544 1,044,380	652,754  ANGE OR OCK SHEEP  Assessed Value \$ 2,165,838 4,776,626 4,853,413 4,032,950 5,092,433	Aver. Per Head \$ 1.48 3.02 3.12 3.48 4.88	Number 60,871 83,859 112,342 163,143 181,169 165,829	14,830,237 SWINE Assessed Value \$ 253,678 630,919 883,609 1,183,742 1,359,799 1,630,154	Aver Per Head \$ 4.1 7.5 7.8 7.2 7.5 9.8
Year 910 913 914 915 916 917 918	208,799  DAIRY C.  Number 63,671 73,768 97,732101,037110,298124,342137,126137,126	5,592,084  ATTLE  Assessed Value  \$3,324,000 4,994,869 5,786,218 6,727,172 7,919,512 9,449,630 0,170,007	Aver. Per Head \$45.06 51.10 57.26 60.99 63.69	Number 1,463,861 1,579,560 1,555,165 1,157,544 1,044,380 1,033,168	652,754  ANGE OR OCK SHEEP  Assessed Value \$ 2,165,838 4,776,626 4,853,413 4,032,950 5,092,433 7,182,427	Aver. Per Head \$ 1.48 3.02 3.12 3.48 4.88 7.16	Number 60,871 83,859 112,342 163,143 181,169 165,329 194,676	14,830,237 SWINE Assessed Value \$ 253,678 630,919 883,609 1,183,742 1,359,799 1,630,164 2,768,632	Aver Per Head \$ 4.1 7.5 7.8 7.2 7.5 9.8 14.2
Year 910 913 1914 1916 916 917 918 919 920		5,592,084  ATTLE  Assessed Value  \$3,324,000 4,994,869 5,786,218 6,727,172 7,919,512 9,449,630 10,170,007 10,169,207	Aver. Per Head \$45.06 51.10 57.26 60.99 63.69 68.91 71.06 70.56	Number 1,463,861 1,579,560 1,555,165 1,157,544 1,044,380 1,003,168 1,164,411	Assessed Value \$ 2,165,838 4,776,626 4,553,413 4,032,950 5,092,433 7,182,427 12,659,415	Aver. Per Head \$ 1.48 3.02 3.12 3.48 4.88 7.16 10.87	Number 60,871 83,859 112,342 163,143 181,169 165,829	Assessed Value \$ 253,678 630,919 883,609 1,183,742 1,359,799 1,630,154 2,768,632 2,955,440	Aver Per Head \$ 4.1 7.5 7.8 7.2 7.5 9.8 14.2 15.1
Year 1910 1913 1914 1916 1917 1918 1919 1919 1919 1919	208,799  DAIRY C.  Number 63,671 73,768 97,732110,298124,342137,126143,106143,106143,081145,070	5,592,084  ATTLE  Assessed Value  \$3,324,000 4,994,869 5,786,218 6,727,172 7,919,512 9,449,630 10,170,007 10,169,207 7,981,591	Aver. Per Head \$45.06 51.10 57.26 60.99 63.69 70.56 70.56	Number 1,463,861 1,579,560 1,157,544 1,044,380 1,103,168 1,164,411 1,089,037	Assessed Value \$ 2,165,838 4,776,626 4,853,413 4,032,950 5,092,433 7,182,427 12,659,415	Aver. Per Head \$ 1.48 3.02 3.12 3.48 4.88 7.16 10.87 10.46	Number 60,871 83,859 112,342 163,143 181,169 166,329 194,576 199,988	14,830,237  SWINE  Assessed Value \$ 253,678 630,919 883,609 1,183,742 1,359,799 1,630,154 2,768,632 2,955,440	Aver Per Head \$ 4.1 7.5 7.8 7.2 7.5 9.8 14.2 15.1 12.0
Year 1910	Number 63.671 73.768 101.029 110.298 124.342 137.126 143.981 145.070 149.119	5,592,084  ATTLE  Assessed Value  \$3,324,000 4,994,869 5,786,218 6,727,172 9,449,630 10,170,007 10,169,207 7,981,591 7,295,697	Aver. Per Head \$45.06 51.10 57.26 60.99 63.69 70.56 55.02 48.92	Number 1,463,861 1,579,560 1,157,544 1,044,380 1,164,411 1,089,037 915,394 855,873 816,714	652,754  ANGE OR OCK SHEEP  Assessed Value \$ 2,165,838 4,776,626 4,853,413 4,032,950 5,092,433 7,182,427 12,659,415 11,386,972 9,230,084 3,216,728 3,441,985	Aver. Per Head \$ 1.48 3.02 3.12 8.48 7.16 10.87 10.46 10.08	Number 60,871 83,869 112,342 163,143 181,169 166,329 194,576 199,888 182,097	Assessed Value \$ 253,678 630,919 883,609 1,183,742 1,359,799 1,630,154 2,768,632 2,955,440	Aver Per
Year 910 913 1914 1915 1916 1917 1918 1919 1920 1921 1922 1923		5,592,084  ATTLE  Assessed Value  \$3,324,000 4,994,869 5,786,218 6,727,172 7,919,512 9,449,630 10,170,007 7,981,591 7,295,697 6,245,287	Aver. Per Head \$45.06 51.10 57.26 60.99 63.69 71.06 70.56 55.02 48.92 48.92 48.92	19,450  R ST6  Number 1,463,861 1,579,560 1,555,165 1,157,544 1,044,380 1,063,168 1,164,411 1,089,037 915,394 855,873 815,714 830,483	Assessed Value \$ 2,165,838 4,776,626 4,853,413 7,182,427 12,659,415 11,386,972 9,230,084 3,216,728 3,441,985 4,390,920	Aver. Per Head \$ 1.48 3.02 3.12 3.48 4.88 7.16 10.87 10.46 10.08 3.76	Number 60,871 83,859 112,342 163,143 181,169 166,829 194,576 199,988 182,097 176,064	Assessed Value \$ 253,678 630,919 833,609 1,183,742 1,359,799 1,630,154 2,768,632 2,955,440 2,129,493	Aver Per Head \$ 4.1 7.5 7.8 7.2 7.5 9.8 14.2 15.1 12.0 9.3
Year 1910 1913 1914 1915 1916 1917 1918 1919 1920 1921 1922	Number 63.671 73.768 97.732 110.298 124.342 137.126 143.106 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 149.425	5,592,084  ATTLE  Assessed Value  \$3,324,000 4,994,869 5,786,218 6,727,172 7,919,512 9,449,630 10,170,007 10,169,207 7,981,591 7,295,697 6,245,287 6,038,086	Aver. Per Head \$45.06 51.10 60.99 63.69 70.56 70.56 48.92 43.62 40.40	Number 1,463,861 1,579,560 1,155,165 1,157,544 1,044,380 1,083,168 1,164,411 1,089,037 915,394 855,873 815,714 830,483 809,784	652,754  ANGE OR OCK SHEEP  Assessed Value \$ 2,165,838 4,776,626 4,853,413 4,032,950 5,092,433 7,182,427 12,659,415 11,386,972 9,230,084 3,216,728 3,441,985 4,390,920 4,691,228	Aver. Per Head \$ 1.48 7.16 10.08 3.76 4.88 4.88 7.16 4.22	Number 60,871 83,859 112,342 163,143 181,169 166,329 194,576 199,988 182,097 175,064 209,017	14,830,237  SWINE  Assessed Value \$ 253,678 630,919 833,609 1,183,742 1,359,799 1,630,154 2,768,632 2,955,440 2,129,493 1,619,404 1,882,647	Aver Per Head \$ 4.1 7.5 7.8 7.2 7.5 9.8 14.2 15.1 12.0 9.3 9.1
Year 910 918 916 916 917 918 9199 921 922 923 924 925		5,592,084  ATTLE  Assessed Value  \$3,324,000 4,994,869 5,786,218 6,727,172 7,919,512 9,449,630 10,170,007 10,169,207 7,981,591 7,295,697 6,245,287 6,038,065 6,789,318	Aver. Per Head \$45.06 51.10 57.26 60.99 68.91 71.06 70.56 55.02 48.92 48.62 40.40 39.27	Number 1,463,861 1,579,560 1,565,165 1,157,544 1,044,380 1,164,411 1,089,037 916,394 856,873 816,714 830,483 809,784 860,600	652,754  ANGE OR OCK SHEEP  Assessed Value \$ 2,165,838 4,776,626 4,853,413 4,032,950 5,092,433 7,182,427 12,659,415 11,386,972 9,230,084 3,216,728 4,391,920 4,691,228 6,188,636	Aver. Per Head \$ 1.48 3.02 3.12 3.48 4.88 7.16 10.87 10.46 4.28 3.76 4.25 5.57	Number 60,871 83,859 112,342 163,143 181,169 165,329 194,676 199,988 182,097 175,064 209,017 259,917	14,830,237  SWINE  Assessed Value \$ 253,678 630,919 833,609 1,183,742 1,359,799 1,630,154 2,129,493 1,619,404 1,882,647 2,211,060	Aver Per Head \$ 4.1 7.8 7.2 7.5 9.8 14.2 15.1 12.0 9.3 8.6
Year 1910 1913 1914 1916 1917 1916 1917 1918 1919 1920 1921 1922 1923 1924 1925 1926 1926 1926 1926 1926 1926 1926 1926	208,799  DAIRY C.  Number 63,671 73,768 97,732 110,298124,342137,126143,106143,106143,163149,119143,163147,411147,176	ASSESSED Value  ***ASSESSED Value  ***3,324,000 4,994,869 5,786,218 6,727,172 7,919,512 7,919,512 7,949,630 10,170,007 7,981,591 7,295,697 6,245,287 6,038,056 5,789,318 5,795,961	Aver. Per Head 51.10 57.26 60.99 63.691 71.06 70.56 55.02 48.92 40.40 39.27 39.38	Number 1,463,861 1,579,560 1,565,165 1,157,544 1,044,380 1,003,168 1,164,411 1,089,037 915,394 855,873 815,714 830,483 809,784 860,600 1,014,931	Assessed Value \$ 2,165,838 4,776,626 4,553,413 7,182,427 12,659,415 11,386,972 9,230,084 4,301,228 6,188,636 7,421,145	Aver. Per Head \$ 1.48 3.02 3.12 3.48 7.10 46 10.08 4.22 5.57 5.79	Number 60,871 83,859 112,342 163,143 181,169 166,829 194,576 199,988 182,097 175,064 209,017 259,917 246,163	14,830,237  SWINE  Assessed Value  \$ 253,678 630,919 833,609 1,183,742 1,359,799 1,630,154 2,768,632 2,955,440 2,129,493 1,619,404 1,882,647 2,211,060	Aver Per Head \$ 4.1 7.5 7.8 7.2 7.5 9.8 14.2 15.1 12.0 9.3 9.16 7.2
Year 1910 1913 1914 1915 1916 1919 1919 1920 1921 1922 1923 1924 1925	Number 63.671 73.768 101.0298 124.342 137.126 143.198 143.198 143.163 147.176 147.176 162.268	5,592,084  ATTLE  Assessed Value	Aver. Per Head 51.10 57.26 60.99 68.91 71.06 55.02 48.62 40.40 9.27 39.38	Number 1,463,861 1,579,560 1,157,544 1,044,380 1,164,411 1,089,037 915,394 855,873 816,714 830,483 809,784 860,600 1,014,931 1,212,716	Assessed Value \$ 2,165,838 4,776,626 4,853,413 4,032,950 5,092,433 7,182,427 12,659,415 11,386,972 9,230,084 3,216,728 4,391,920 4,691,228 6,188,636 7,421,145 9,028,761	Aver. Per Head \$ 1.48 3.02 3.12 3.12 4.88 7.16 10.08 3.76 4.22 5.57 5.79 7.19	Number 60,871 83,859 112,342 163,143 181,169 166,329 194,576 199,988 182,097 175,064 209,017 259,917 246,163 183,176	14,830,237  SWINE  Assessed Value \$ 253,678 630,919 883,609 1,183,742 1,359,799 1,630,154 2,768,632 2,955,440 1,129,493 1,619,404 1,882,647 2,211,060 1,794,677 1,450,864	Aver Per Head \$ 4.1 7.5 9.8 14.2 15.1 12.0 9.3 9.1 8.6 7.2 7.9
Year 1910 1913 1914 1916 1916 1917 1918 1919 1920 1921 1922 1923 1924 1926 1927 1928		5,592,084  ATTLE  Assessed Value  \$3,324,000 4,994,869 5,786,218 6,727,172 9,449,630 10,170,007 7,981,591 10,169,207 7,981,591 6,245,287 6,038,056 5,789,318 5,795,961 6,467,821 7,390,272	Aver. Per Head \$45.06 51.10 57.26 60.99 63.69 70.56 55.02 48.92 43.62 40.40 39.88 39.88 49.78	Number 1,463,861 1,579,560 1,565,165 1,167,544 1,044,380 1,003,168 1,164,411 1,089,037 915,394 855,873 815,714 830,483 809,784 860,600 1,014,981 1,212,716 1,260,863	Assessed Value \$ 2,165,838 4,776,626 4,853,413 4,032,950 5,092,433 7,182,427 12,659,415 11,386,972 9,230,084 3,216,728 3,441,985 4,390,920 4,691,228 6,188,636 7,421,145 9,028,761 10,234,087	Aver. Per Head \$ 1.48 3.02 3.12 8.48 4.88 7.16 10.87 10.46 10.08 3.76 4.22 5.57 5.79 7.19	Number 60,871 83,859 112,342 163,143 181,169 165,329 194,676 199,988 182,097 175,064 209,017 259,917 246,163 183,176 140,768	14,830,237  SWINE  Assessed Value \$ 253,678 630,919 883,609 1,183,742 1,359,799 1,630,154 2,768,632 2,965,440 2,129,493 1,619,404 1,882,647 2,211,060 1,794,677 1,450,864 1,246,258	Aver Per Heac \$ 4.1 7.5 7.8 7.2 7.5 9.8 14.2 15.1 12.0 9.3 8.6 7.2 7.9 8.8 8.9 9.9
Year 1910 1913 1914 1915 1916 1917 1918 1919 1920 1921 1922 1923 1924 1925 1926 1927 1928	Number 63.671 73.768 97.732 110.298 124.342 137.126 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.163 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.173 143.	5,592,084  ATTLE  Assessed Value	Aver. Per Head \$45.06 51.10 57.26 60.99 63.69 63.69 70.56 55.02 43.62 40.40 39.27 39.38 49.78 49.78	Number 1,463,861 1,579,560 1,1555,165 1,157,544 1,044,381 1,084,383 1,164,411 1,089,037 915,394 855,873 815,714 830,483 809,784 860,600 1,014,981 1,212,716 1,260,863 1,436,385	Assessed Value \$ 2,165,838 4,776,626 4,853,413 4,032,950 5,092,433 7,182,427 12,659,415 11,386,972 9,230,084 3,216,728 3,441,985 4,390,920 4,691,228 6,188,636 7,421,145 9,028,761 10,234,087	Aver. Per Head \$ 1.48 3.02 3.12 3.48 4.88 7.16 10.87 10.46 10.08 7.19 7.19 7.31 7.45 8.12	Number 60,871 83,859 112,342 163,143 181,169 166,329 194,576 199,988 182,097 175,064 209,017 259,917 246,163 183,176 140,768	14,830,237  SWINE  Assessed Value \$ 253,678 630,919 630,919 1,837,42 1,359.799 1,630,154 2,768,632 2,955,440 2,129,493 1,619,404 1,882,647 2,211,060 1,794,677 1,450,864 1,246,258 1,637,001	Aver Per Head \$ 4.1 7.5 7.5 9.8 14.2 15.1 12.0 9.3 9.1 8.6 7.9
Year 1910 1913 1914 1915 1916 1919 1919 1920 1921 1924 1925 1926 1927 1928 1929 1929 1930 1930 1930 1930 1930 1930 1930 193	Number 63,671 73,768 97,732 101,037 110,298 124,342 137,126 143,106 143,163 145,070 149,119 143,163 147,176 147,176 162,268 147,382 171,382	5,592,084  ATTLE  Assessed Value  \$3,324,000 4,994,869 5,786,218 6,727,172 9,449,630 10,170,007 10,169,207 7,981,591 7,295,697 6,245,287 6,038,056 5,789,318 5,795,961 7,390,272 8,505,865 8,092,468	Aver. Per Head \$45.06 51.10 57.26 60.99 63.69 63.69 63.69 64.02 43.62 40.40 39.27 39.38 39.27 39.38 47.82 47.22	Number 1,463,861 1,579,566 1,1579,566 1,157,544 1,044,380 1,164,411 1,089,037 915,384 856,873 816,714 830,483 809,784 860,600 1,014,931 1,212,716 1,260,863 1,436,385 1,436,385	Assessed Value \$ 2,165,838 4,776,626 4,853,413 4,032,950 5,092,433 7,182,427 12,659,415 11,386,972 9,230,084 3,216,728 4,390,920 4,691,228 6,188,636 7,421,145 9,028,761 10,234,087 10,644,538	Aver. Per Head \$ 1.48 3.02 3.12 3.12 4.88 7.16 10.87 10.46 10.08 3.76 4.22 5.57 5.79 7.31 7.31 7.31 7.31 7.6 8.12 7.41	Number 60,871 83,859 112,342 163,143 181,169 166,329 194,576 199,988 182,097 175,064 209,017 259,917 246,163 183,176 140,768 164,058 172,209 184,530 178,906	14,830,237  SWINE  Assessed Value \$ 253,678 630,919 883,699 1,833,742 1,359,799 1,630,154 2,768,632 2,955,440 1,212,493 1,619,404 1,882,647 2,211,060 1,794,677 1,450,864 1,246,258 1,637,001 1,675,270 1,802,999 1,746,068	16.6 Aver Per Heac \$ 4.1 7.5 9.8 14.2 9.3 9.1 12.0 9.3 9.7 9.9 9.7 9.7 9.7
Year 1932  Year 1910 1913 1914 1915 1916 1917 1918 1920 1921 1922 1923 1924 1925 1926 1927 1928	208,790  DAIRY C.  Number 63,671 73,768 97,732 110,298 124,342 137,126 143,106 143,106 143,106 143,106 143,163 144,119 143,163 147,176 162,268 147,856 171,382 118,487	5,592,084  ATTLE  Assessed Value	Aver. Per Head \$45.06 51.10 57.26 60.99 63.69 63.69 70.56 55.02 43.62 40.40 39.27 39.38 49.78 49.78	Number 1,463,861 1,579,560 1,1555,165 1,157,544 1,044,381 1,084,383 1,164,411 1,089,037 915,394 855,873 815,714 830,483 809,784 860,600 1,014,981 1,212,716 1,260,863 1,436,385	Assessed Value \$ 2,165,838 4,776,626 4,853,413 4,032,950 5,092,433 7,182,427 12,659,415 11,386,972 9,230,084 3,216,728 3,441,985 4,390,920 4,691,228 6,188,636 7,421,145 9,028,761 10,234,087	Aver. Per Head \$ 1.48 3.02 3.12 3.48 4.88 7.16 10.87 10.46 10.08 7.19 7.19 7.31 7.45 8.12	Number 60,871 83,859 112,342 163,143 181,169 166,329 194,576 199,988 182,097 175,064 209,017 259,917 246,163 183,176 140,768 164,058 172,209 184,530	Assessed Value \$ 253,678 630,919 883,609 1,183,742 1,359,799 1,630,154 2,768,632 2,955,440 2,129,493 1,619,404 1,882,647 2,211,060 1,794,677 1,450,864 1,246,258 1,637,001 1,675,270	Aver Per Head \$ 4.1 7.2 7.5 15.1 12.0 9.3 9.1 8.6 7.2 9.8 8.8 9.9 9.7

Note: The discrepancy between census and assessors' figures is less than appears from the totals, as enumerations are made at different seasons and not on an identical basis. In 1913 Colorado's assessment basis was raised from one-third of actual value to full value, accounting for the large increase in 1913 values.

CAT	CATTLE FED IN TRANSIT					
Year	Number	Assessed Value	Number	Assessed Value		
1916	47,292 77,211 78,651 84,907 73,163 77,813 82,430 83,248 85,829 92,357 96,495 122,462	\$ 927,860 1,149,145 1,447,860 1,643,400 1,286,830 1,077,590 685,285 581,495 760,645 928,495 1,156,285 1,239,890 1,839,000	767,468 946,156 806,560 656,455 666,810 1,029,242 762,872 1,187,389 1,187,349 1,370,479 1,311,481 678,984 1,392,985 1,582,282	\$ 591,870 929,660 1,420,495 1,151,155 929,150 679,600 780,806 1,115,046 1,185,710 1,485,635 1,270,847 883,156 1,660,625		
1930 1931 1932	123,823 136,268	1,274,889 1,576,450 527,460	1,863,330 1,302,892 1,308,929	1,424,824 997,090 784,766		

Note: Assessment made on April 1. Cattle Fed in Transit covers cattle in feed lots after January 1. Sheep Fed in Transit covers sheep and lambs in feed lots after January 1 and also some sheep on summer range.

### STOCKYARDS RECEIPTS OF LIVESTOCK FROM COLORADO\*

# SHEEP AND LAMBS† (Number of Head)

MONTH	1926	1927	1928	1929	1930	1931	1932
nuary	170,690	65,858	150,706	189,086	232,928	131,753	165,137
bruary	295,756	90,911	425,693	328,893	381,263	271,120	306,571
arch	518,824	278,440	515,871	401,271	624,761	494,331	426,293
oril	415,676	308,161	445,345	443,237	607,367	536.617	484,443
3Y	135,790	95,345	90,624	247,337	238,165	207,353	213,033
ne	18,709	19.637	13,985	42,926	15,891	10,586	13,162
	28,562	17,098	38.272	20,708	20,697	10,677	10,253
ly	49,991	52,419	58,690	47.280	46,132	48,632	30,535
gust	290,935	238,242	289,489	245,997	304.553	290,428	248,089
tober	397,272	493,764	584,920	492,127	444.945	403,409	464.303
	93,019	122,274	110,833	115,765	130,233	128,602	71,392
vember	51,974	75,100	65,263	70,479	68,353	112,046	31,632
Total	2,467,198	1,857,249	2,789,691	2,645,106	3,115,288	2,645,554	2,464,843

# CATTLE (Number of Head)

- DOWN	36,071	55,566	49,754	44.856	44.553	34,305	36,364
bruary	24.073	43,742	32,689	23,999	29,933	24,547	26,504
arch	42,269	46,279	35,956	44,521	49,664	37,000	37,699
oril	37.514	40.950	44,566	47,698	42,769	46,339	40.168
8y	32,794	43,940	28,890	43.182	36,801	53,790	30,826
ine	22,983	17.699	18,256	22,388	27.181	40.049	22,063
ily	14.052	10.279	13.958	20,410	14,890	30,207	26,651
agust	16,766	17,777	16,925	16.801	12.110	24,925	23,498
ptember	41.541	32,721	42,622	37,162	30.848	33,437	39,379
tober	81,706	117.551	95,378	94.258	66,681	68.017	84.839
ovember	101,461	100,513	92,206	88,951	63,023	98.293	65,948
cember	39.712	40.531	54.516	44,372	39,160	34.946	26.217
		10,001	51,010				
Total	490,942	567,548	525,716	528,598	457,613	525,855	460,156
	100,015	001,010	020,110	020,000	10.,010	1,	1

## CALVES (Number of Head)

nuary	4,617	4,809	6,728	6,535	5,834	5,858	4,345
bruary	3,072	3,224	3,376	2,779	3,487	2,300	2,917
arch	3,903	3,315	3,188	3,778	4,024	2,945	2,850
pril	3,443	3,393	4,447	5,302	3,297	3,507	2,517
ау	4,777	3,543	3,394	4,268	2,943	3,971	2,673
ine	3,600	2,955	2,570	3,220	2,854	2,942	2,180
ily	2,262	2.117	2,392	2,705	2,034	2,480	2,415
ugust	3,605	3.256	2,729	2,741	1,867	3,424	3,212
ptember	4,375	3,119	3,397	3,038	2,509	4,327	4,632
:tober	5,009	9,602	11.804	6,031	7,061	6,404	10.016
ovember	7,173	10,223	9,457	10,235	8,569	10,762	10,658
æember	3,189	3,160	4,636	4,530	5,034	5,172	4,118
Total	49,025	52,716	58,118	55,162	49,513	54,092	52,533

#### HOGS (Number of Head)

inuary	27,836	84,695	44,572	57,733	47,997	39,582	46,224
ebruary	27,703	33.984	44.919	49.897	44.382	35,781	59,035
arch	36.124	37.934	40,940	46.125	38,581	31,312	58,061
pril	33,736	26,656	35,468	42.897	41,505	29,908	48,950
ay	24,102	31.112	32,107	39.845	37.425	34.980	48,222
ine	21,434	25,147	29,534	32.575	33,320	34,298	46.354
тра	13,138	15.578	24,138	31,733	26,941	81,496	40,636
ugust	18,813	15,975	16,589	28,034	20,030	29.889	37,139
ptember	16,911	14,737	21,737	28,035	24,529	25,334	32,764
ctober	11,707	14,739	27.429	30,306	24,792	30,055	35,322
ovember	21,064	21,470	30,626	26,969	23,289	27,612	34,526
ecember	23,727	24,071	89,492	37,230	28,630	29,894	42,085
Total	275,795	296,098	387,551	451,379	891,421	380,141	529,818

<sup>\*</sup>Some duplication between markets has been eliminated. The figures include all stockyards receipts Colorado livestock, whether shipped to Colorado stockyards or to yards in other states. †Receipts include some New Mexico, Wyoming and Utah sheep shipped from Colorado points.

### ESTIMATED NUMBERS AND VALUES OF LIVESTOCK ON FARMS JANUARY 1

### ALL CATTLE AND CALVES

		COLORAD	00			UNITE	D STATES	
	Nun	nbers	Value	Values, Dollars		Numbers		es, Dollars
Year	Per Cent Prec'd'g Year	Total Number	Per Head	Aggregate	Per Cent Prec'd'g Year	Total Number	Per Head	Aggregate
1910 1920 1921 1922 1923 1924 1925 1926 1927 1928 1929 1930 1931 1932 1933	155.5 95.8 99.8 96.1 95.4 95.1 96.0 100.0 97.9 103.2 106.0 99.0	1,130,000 1,757,000 1,683,000 1,684,000 1,614,000 1,465,000 1,405,000 1,406,000 1,406,000 1,407,000 1,411,000 1,454,000 1,526,000	\$27,50 49.70 36.90 29.40 28.30 27.70 26.00 32.00 36.20 46.70 55.30 50.90 37.80 22.50 16.10	\$31,075,000 87,323,000 62,103,000 49,392,000 45,676,000 42,658,000 38,090,000 44,992,000 64,306,000 78,581,000 78,581,000 58,324,000 34,335,000 24,569,000	113.8 97.6 100.0 98.1 97.7 95.9 95.0 95.9 98.6 102.1 103.2 102.7 103.9	61,803,000 70,325,000 68,663,000 68,663,000 65,832,000 63,115,000 59,977,000 56,701,000 57,528,000 59,738,000 60,987,000 62,656,000 65,129,000	\$ 24.50 52.67 39.10 30.41 31.69 32.14 31.77 36.94 40.11 50.81 58.77 56.69 39.30 26.63	\$1,513,063,000 3,703,895,000 2,683,246,000 2,087,807,000 2,115,710,000 2,005,351,000 2,215,400,000 2,307,401,000 2,880,802,000 3,401,534,000 3,386,010,000 2,396,731,000 1,668,742,000

### COWS AND HEIFERS 2 YEARS OLD AND OVER KEPT FOR MILK

1910 1920 1921 1922 1923 1924 1925 1926 1927 1928	158.6 101.7 102.6 102.1 102.0 102.4 100.0 100.4 100.0	145,000 230,000 234,000 240,000 245,000 256,000 256,000 257,000 257,000	\$86.00 69.00 56.00 52.00 49.00 44.00 49.00 56.00 69.00	\$19,780,000 16,146,000 13,440,000 12,740,000 12,250,000 11,264,000 12,544,000 14,392,000 17,733,000	104.0 99.9 101.8 101.3 100.9 101.0 99.1 99.3 99.9	20,625,000 21,445,000 21,440,000 21,822,000 22,099,000 22,288,000 22,311,000 22,159,000 22,159,000	\$ 35.29 81.51 61.20 48.69 48.68 49.94 48.38 54.73 59.24 73.47	\$ 727,856,000 1,748,820,000 1,312,100,000 1,062,478,900 1,075,752,000 1,113,127,000 1,221,113,000 1,312,673,000 1,322,575,000
1929	100.4	258,000	77.00	19,866,000	100.9	22,330,000	83.99	1,875,538,00
1930	100.4	259,000	72.00	18,648,000	102.6	22,910,000	82.80	1,875,011,00
1931	100.4	260,000	56.00	14,560,000	102.9	23,576,000	57.11	1,346,119,00
1932	102.3	266,000	36.00	9,576,000	103.8	24,469,000	39.57	968,274,00
1933	101.0	269,000	25.00	6,725,000	102.7	25,136,000	29.15	732,749,00

### HEIFERS 1 TO 2 YEARS OLD BEING KEPT FOR MILK COWS

1920		46,000	 		4,420,000		
1921	102.2	47,000	 	94.2	4.164,000		
1922	102.1	48,000	 	95.4	3,972,000		
1923	102.1	49,000	 	104.6	4.155,000		
1924	102.0	50,000	 	99.7	4.143.000		
1925	110.0	55,000		100.7	4.171.000		
1926	100.0	55.000		97.0	4,045,000		
1927	100.0	55,000		100.1	4.048,000		
1928	101.8	56,000	 	102.7	4.158.000		
1929	101.8	57,000	 	105.9	4,404.000		
1930	100.0	57.000	 	106.7	4,700,000		
1931	100.0	57.000	 	101.6	4.775.000		
1932	103.5	59.000	 	98.1	4,685,000		
1933	101.7	60,000	 	99.1	4,641,000		

### ALL SHEEP AND LAMBS, INCLUDING SHEEP AND LAMBS ON FEED

1910	100.5	1,426,000	\$ 4.80	\$ 6,845,000		52,488,000	\$ 4.12	\$ 216,030,000
1920	137.7	1,964,000	9.10	17,872,000	77.4	40,643,000	10.45	424,644,000
1921	114.4	2,247,000	5.40	12,134,000	96.9	39,378,000	6.27	246,744,000
1922	86.3	1,940,000	4.70	9,118,000	93.5	36.821.000	4.79	176,447,000
1923	126.2	2,449,000	7.40	18.123.000	99.7	36,695,000	7.49	274,993,000
1924	95.0	2,327,000	7.40	17.220.000	100.9	37,020,000	7.88	291,840,000
1925	110.2	2,565,000	10.30	26.420.000	103.7	38,392,000	9.68	371,639,000
1926	100.0	2,565,000	10.50	26.933.000	104.7	40.183.000	10.48	421,086,000
1927	80.0	2.051,000	9.40	19,279,000	105.3	42,302,000	9,67	409,184,000
1928	147.2	3.020.000	9.60	28,992,000	106.7	45.121.000	10.22	461,193,000
1929	103.3	3.118.000	10.60	33.051.000	106.9	48,249,000	10.59	510,869,000
1930	120.3	3,750,000	9.00	33,843,000	106.5	51,383,000	8.94	459,208,000
1931	89.4	3.351.000	5.60	18.766.000	102.4	52,599,000	5.36	281,806,000
1932	101.2	3,391,000	3.10	10.512.000	101.4	53,321,000		181,051,000
1933	90.0	3,055,000	2.90	9.000.000	96.8		3.40	101,001,000
1000		0,000,000	2.50	3,000,000	90.0	51,630,000	2.90	149,544,000

### ESTIMATED NUMBERS AND VALUES OF LIVESTOCK ON FARMS JANUARY 1

#### SWINE, INCLUDING PIGS

		COLORAD	00			UNITE	D STATES	
	Nun	nbers	Value	s, Dollars	Nu	mbers	Valu	es, Dollars
Year	Per Cent Prec'd'g Year	Total Number	Per Head	Aggregate	Per Cent Prec'd'g Year	Total Number	Per Head	Aggregate
1910 1920 1921 1922 1923 1924 1925 1926 1927 1928 1929 1930 1931 1932	251.4 92.0 109.9 130.1 97.1 85.7 89.8 100.0 114.8 198.0 90.0 105.0	179,000 450,000 414,000 455,000 592,000 575,000 493,000 443,000 599,000 550,000 495,000 524,000	\$ 8.75 17.80 12.20 9.50 10.40 9.40 10.90 13.60 16.00 12.10 12.10 12.00 11.10 5.20	\$ 1,566,000 8,010,000 5,051,000 4,322,000 6,157,000 5,405,000 6,025,000 7,088,000 6,668,000 6,655,000 5,772,000 3,245,000	103.4 98.0 101.5 115.8 96.1 83.8 93.4 106.5 111.4 95.2 94.1 98.4 108.6	58,186,000 60,159,000 58,942,000 59,849,000 69,304,000 55,770,000 52,085,000 55,468,000 61,772,000 58,789,000 54,399,000 59,078,000	\$ 9.17 20.00 13.63 10.58 12.29 10.30 15.66 17.19 13.17 12.94 13.46 11.36 6.14	\$ 533,309,000 1,203,052,000 803,544,000 633,313,000 851,838,000 685,574,000 953,495,000 813,639,000 760,695,000 744,308,000 618,077,000 362,511,000

#### HORSES AND COLTS

1910		- 1	294,000	\$93.13	\$27,380,000		19,	833,000		\$108.00	\$2,141,964.000
1920	143.1		421,000	79.00	33,259,000	101.3	20.	092,000	1	96.48	1,938,447,000
1921	100.0	- 1	421,000	63.00	26,523,000	96.4	19.	366,000		84.54	1,637,181,000
1922	98.6		415,000	56.00	23.240,000	96.9	18.	760,000		71.05	1,332,822,000
1923	96.4		400.000	48.00	19.200.000	96.6	18.	123.000	1	70.51	1,277,873,000
1924	96.3		385,000	45.00	17,325,000	95.8	17.	365,000	٠	65.42	1,135,967,000
1925	95.3	i	367,000	43.00	15,781,000	95.8	16.	640,000		64.28	1,069,654,000
1926	98.1	1	360,000	47.00	16.920,000	96.6		067,000	÷	65.32	1,049,442,000
1927	96.1	1	346.000	44.00	15.224,000	95.6	15.	368,000	1	63.74	979,509,000
1928	99.1	- 1	343,000	43.00	14.749,000	96.0		768,000		66.68	984,763,000
1929	100.0		343.000	47.00	16.121.000	96.2		203,000	i	69,63	988,953,000
1930	98.5		338,000	44.00	15.023,000	96.3		684,000	i	69.86	955,964,000
1931 :	97.9	- 1	331,000	41.00	13,571,000	96.2		169,000	i	60.42	795,725,000
1932	98.0		324,000	34.00	11.016.000	96.0		641,000	1	53.37	674,611,000
1933	98.0		318,000	31.00	9,902,000	96.2		163.000	1	54.13	658,684,000

#### MULES AND MULE COLTS

1910	1		1	14,700	\$122.03	\$ 1,794,000		4,210,000	\$120.20	\$ 506,042,000
1920	1	210.9		31,000	102.00	3.162.000	134.3	5,656,000	148.25	838,530,000
1921		103.2	!	32,000	91.00	2.912.000	102.1	5.772.000	117.37	677,475,000
1922	:	106.3	!	34.000	70.00	2,380,000	101.0	5,827,000	88.99	518,558,000
1923	-	105.9	i	36,000	62.00	2,232,000	101.2	5,895,000	86.86	512,067,000
1924	i	105.6		38,000	61.00	2,318,000	100.2	5,908,000	85.89	507,435,000
1925	!	100.0		38,000	57.00	2,166,000	100.2	5.918.000	82.91	490,668,000
1926		97.3		37,000	59.00	2,183,000	99.7	5,903,000	81.51	481,153,000
1927	1	94.6	ł	35,000	55.00	1.925.000	98.3	5,801,000	74.50	432,181,000
1928	:	91.6	i	32,000	56.00	1.792.000	97.3	5,647,000	79.79	450,585,000
1929		96.9		31.000	58.00	1.798.000	97.3	5,496,000	82.39	452,825,000
1930		96.8	i	30,000	57.00	1.721,000	97.6	5,366,000	83,76	449,480,000
1931	- 1	93.3	i	28.000	52.00	1.456.000	97.4	5,226,000	69.19	361,562,000
1932	1	96.0	- 1	27,000	42.00	1.134.000	97.4	5,089,000	60.64	308,617,000
1933		96.0		26,000	39.00	1,019,000	97.9	4,981,000	60.31	300,391,000

### TOTAL VALUE OF ALL LIVESTOCK JANUARY 1

	Colorado	United States		Colorado	United States
1910 1920 1921 1921 1923 1923 1924 1924 1926	\$ 68,660,000 149,626,000 108,723,000 88,452,000 91,388,000 84,926,000 87,831,000 \$ 97,053,000	\$4,910,408,000 8,108,569,000 6,048,190,000 4,748,947,000 5,052,481,000 4,736,825,000 4,670,532,000 \$4,982,493,000	1927 1928	94,413,000 116,507,000 136,206,000 130,515,000 97,617,000 60,258,000 45,888,000	5,081,770,000 5,590,982,000 6,114,876,000 5,994,970,000 4,450,708,000 3,195,532,000 2,661,985,000

### HORSES IN COLORADO, 1931 AND 1932 (From Reports of County Assessors to State Tax Commission)

		1932 -			1931	
COUNTY	Number	Assessed Value	Average Per Head	Number	Assessed Value	Average Per Head
AdamsAlamosaArapahoeArchuleta	4,976 1,415 2,479 1,231	\$ 167,880 64,475 69,885 38,395	\$33.74 45,57 28.19 31.19	5,669 1,460 2,646 1,275	\$ 186,290 81,795 85,705 38,345	\$32.86 56.02 32.39
BacaBent	6,906 3,978	114,105 90,680	16.52 22.80	7,167 4,207	135,745 110,765	30.08 18.94 26.33
BoulderChaffeeClear Creek	3,274	116,100	35.46	3,591	129,120	35.96
	834	27,900	33.45	893	32,680	36.60
	2,167	48,695	22.47	2,370	60,395	25 49
	229	6,510	28.43	210	7,515	35.79
Conejos Costilla Crowley Custer	2,069	82,440	39.85	2,146	90,660	42.25
	1,320	45,120	34.18	1,885	47,190	25.03
	2,258	61,505	27.24	2,597	87,515	33.73
	1,143	30,472	26.66	1,092	31,730	29.06
Delta Denver Dolores Douglas	3,648	119,105	32.65	3,975	129,345	32.54
	529	25,270	47.77	556	24,510	44.08
	490	8,340	17.02	415	9,985	24.06
	1,547	53,120	34.34	1,591	83,125	52.24
EagleElbertEl Paso	2,131	66,142	31.04	2,297	78,040	33.97
	5,155	136,355	26.45	5,454	173,096	31.74
	4,846	108,480	22.39	4,987	140,600	28.19
Fremont	1,343	33,978	25.30	1,299	37,685	29.01
Garfield	5,308	175,205	33.01	5,316	193,995	36.50
Gilpin	125	3,465	27.72	130	4,130	31.77
Grand	1,948	41,445	21.28	1,859	48,700	26.20
Gunnison	3,115	84,510	27.13	2,523	93,900	37.22
Hinsdale	180	2,765	15.36	196	4,590	23.42
	1,808	48,583	26.87	1,819	51,085	28.08
Jackson	3,138	54,530	17.38	2,862	58,430	20.41
	2,879	57,480	19.97	2,921	79,950	27.37
Kiowa	804	24,120	30.00	957	38,280	40.00
Kit Carson	9,054	194,690	21.50	7,622	234,091	30.71
Lake La Plata Larimer Las Animas Lincoln Logan	154	4,630	30.00	150	6,225	41.50
	2,677	59,860	22.36	2,856	71,400	25.00
	7,838	215,540	27.50	7,452	250,540	33.62
	6,100	122,240	20.03	6,310	126,091	19.98
	4,783	95,235	19.91	4,945	114,790	23.21
	8,905	246,710	27.70	9,503	295,280	31.07
Mesa Mineral Moffat Montezuma Montrose Montgan	4,749	144,730	30.48	5,325	185,150	34.77
	205	7,575	36.95	280	8,395	29.98
	4,123	69,850	16.94	4,571	88,320	19.32
	2,424	55,735	22.99	1,725	65,355	37.88
	3,250	107,855	33.19	3,703	130,990	35.38
	7,277	212,570	29.21	7,598	239,010	31.46
Otero	4,906	128,990	26.29	5,204	160,990	30.93
	625	15,625	25.00	600	16,800	28.00
Park Phillips Pitkin Prowers Pueblo	1,656	51,850	31.31	1,774	60,760	34.25
	2,794	85,870	30.74	3,283	106,215	32.35
	778	18,775	24.13	822	21,320	25.94
	8,329	142,827	17.09	8,515	175,085	20.56
	4,263	114,530	26.87	4,244	141,180	33.27
Rio Blanco	2,520	71,430	28.35	2,465	81,760	33.17
Rio Grande	1,841	64,535	35.05	2,196	85,075	38.74
Routt	5,280	118,390	22.42	5,399	190,990	35.38
Saguache San Juan San Miguel Sedgwick Summit	1,817	58,570	32.23	2,100	71,020	33.42
	32	1,180	36.88	37	1,785	48.24
	713	21,980	30.83	609	24,925	40.98
	2,188	61,475	28.10	2,399	90,515	37.73
	435	12,445	28.61	449	15,655	34.10
Teller	614	18,760	30.55	664	21,560	32.47
Washington	8,038	180,857	22.50	8,378	202,935	24.22
	19,547	657,940	33.66	21,071	791,850	37.58
Yuma	7,602	222,280	29.24	8,197	253,240	30.89
State	208,790	\$5,592,084	\$26.78	216,811	\$6,704,198	\$30.92

### STATE OF COLORADO

### MULES IN COLORADO, 1931 AND 1932 (From Reports of County Assessors to State Tax Commission)

		1932			1931	
COUNTY	Number	Assessed Value	Average Per Head	Number	Assessed Value	Average Per Head
dams	308	\$ 11,300	\$36.69	329	\$ 12,565 8,200	\$38.20 71.93
lemosa	115	5,875 5,760	51.09 35.12	114 214	8,345	39.00
ranahoe	164 47	1,265	26.91	58	1,875	32.33
rchuleta		· .	04.00	878	22,445	25.56
aca	633 455	15,585 14,445	24.62 31.75	440	16,165	36.74
ent	406	19,030	46.87	335	16,270	48.57
1	17	575	33.82	21	840	40.00
haffee	209	5,075	24.28	242	7,365	30.43
lear Creek	1	40	40.00 50.16	262	12,870	49.12
oneios	248 100	12,440 3,340	33.40	84	4,020	47.85
rowley	382	11,905	31.16	399	15,755	39.48 29.08
uster	27	785	29.07	33	960	23.00
)elta	324	13,130	40.52	341	13,650	40.03
OeltaOenver	32	1,170	36.56	53 55	1,660 1,620	31.32 29.48
olores	40 72	1,020 2,395	25.50 33.26	86	4,280	49.76
ouglas		3,380	38.85	95	4,415	46.47
Elbert	87 604	17,815	29.50	720	25,090	34.8
Paso	1,142	31,700	27.76	1,119	36,260	32.40
Fremont	193	6,385	33.08	141	5,360	38.02
Sarfield	260	10,390	39.96	270	12,220	45.26
Gilpin				1	25 495	25.00 35.30
Grand	14 216	400 8,045	28.58 37.24	14 256	10,110	39.4
Gunnison		1	10.00	2	30	15.00
HinsdaleHinsdale Huerfano	217	8,590	39.59	215	9,575	44.5
	29	600	20.69	27	730	27.0
Jackson	115	3,105	27.00	111	4,175	37.6
Kiowa Kit Carson	136 1,006	4,080 26,450	30.00 26.29	171 911	6,840 30,550	40.0 33.5
	1,000	20,400				
Lake La Plata	124	3,440	27.75	167	4,195	25.1
Larimer	634	25,350	39.98	660	27,240	41.2 59.8
Las Animas	650 582	15,822 13,340	24.34 22.92	860 611	51,485 17,805	29.1
Lincoln	686	25,725	37.50	700	28,460	40.6
Mesa	320	11,080	34.63	302	11,920	39.4
Mineral	14	700	50.00	15	740	49.3
Moffat	158	4,940	31.26 26.18	137 249	4,140 11,020	32.1 44.2
Montezuma Montrose	246 250	6,440 8,180	32.72	253	8,690	84.2
Morgan	687	26,470	38.53	783	30,780	41.9
Otero	994	40,470	40.71	964	45,740	47.4
Ouray	40	665	16.63	36	900	25.0
Park	73	2,900	39.73	74	3,220	43.5
Phillips Pitk'n	353 25	13,430 655	38.00 26.20	389 12	16,010 380	31.6
Prowers	767	19,377	25.26	1,049	29,364	27.9
Pueblo	417	14,485	84.74	398	18,190	46.2
Rio Blanco	225	7,030	31.24	172	6,480	37.6
Rio GrandeRoutt	400	14,325	35.81 28.35	432 36	19,555 1,440	45.2 40.0
	91	2,580	7	211	8,065	38.
Saguache San Juan	202 39	6,885 1,250	34.08 32.05	30	940	31.3
Mignel	41	1,200	29.27	24	920	38.
Sedgwick	232	8,395 60	36.19 30.00	251	11,935	47.1 35.
TD >=	1			1	ľ	41.
	42	1,580	37.62	84	1,420	- 1
Washington	1 944	12,505	26.28	2,030	16,160 88,780	20. 43.
,	1,944	79,160	40.72	ļ		
Tuma	1,136	38,230	33.65	1,156	42,200	36.
State	19,450	\$652,754	\$33.56	20,588	\$803,004	\$39.

# RANGE CATTLE IN COLORADO, 1931 AND 1932 (From Reports of County Assessors to State Tax Commission)

		1932			1931	
COUNTY	Number	Assessed Value	Average Per Head	Number	Assessed Value	Average Per Head
Adams Alamosa Arapahoe Archuleta	6,845	\$ 127,060	\$18.56	6,087	\$ 167,290	\$27.48
	7,313	118,520	16.21	7,314	198,775	27.18
	5,456	97,875	17.94	5,676	154,900	27.29
	9,519	154,497	16.23	10,076	263,526	26.15
Baca Bent Boulder	24,633	398,143	16.16	24,153	633,508	26,23
	15,287	244,990	16.03	14,214	363,055	25,54
	7,014	140,120	19.85	6,084	164,700	27,07
Chaffee Cheyenne Clear Creek Conejos Costilla Crowley Custer	4,364	104,655	23.98	5,350	150,375	28.11
	20,378	314,415	15.43	18,351	469,845	25.60
	259	4,920	19.00	371	9,575	25.81
	9,781	158,295	16.18	10,192	265,465	26.05
	1,705	26,890	15.77	1,806	46,195	25.58
	9,824	178,705	18.19	8,000	207,480	25.94
	6,777	107,465	15.86	6,529	169,740	26.00
Delta Denver Dolores Douglas	17,763 3,420 15,274	286,755  54,740 265,770	16.14 16.01 17.40	17,830  3,973	477,225 108,360	26.77 27.27
EagleElbertEl Paso	16,849 21,037 21,160	280,130 347,737 414,080	16.63 16.53 19.57	14,677 18,186 22,235 20,399	456,950 499,940 588,235 610,720	31.13 27.49 26.46 29.94
Fremont	8,702	141,581	16.27	8,384	227,460	27.13
Garfield	28,956	478,770	16.53	27,458	730,720	26.61
Gilpin	499	10,160	20.36	938	24,274	25.88
Grand	11,944	209,110	17.51	11,997	333,480	27.80
Gunnison	30,797	487,770	15.84	30,413	792,860	26.07
Hinsdale	1,756	27,390	15.60	1,320	34,505	26.14
	10,941	210,480	19.24	11,158	297,450	26.66
Jackson Jefferson	30,497	515,240	16.89	28,841	810,740	28.11
	9,511	158,950	16.71	9,650	271,110	28.09
KiowaKit Carson	13,476	220,240	16.34	12,506	342,305	27.37
	20,631	363,033	17.60	19,286	506,406	26.26
LakeLa PlataLarimerLas AnimasLincolnLogan	397	10,175	25.63	403	13,990	34.71
	13,637	209,600	15.37	12,577	320,605	25.49
	20,303	424,500	20.91	19,983	557,420	27.89
	49,708	770,926	15.51	44,388	1,128,320	25.42
	27,767	469,320	16.90	25,201	669,035	26.55
	22,665	355,990	15.71	20,595	538,435	26.14
Mesa Mineral Moffat Montezuma Montezuma Montrose Morgan	34,569	554,120	16.03	33,825	905,480	26.77
	1,291	22,220	17.21	1,139	30,695	26.95
	13,779	225,635	16.38	14,274	385,700	27.02
	10,208	161,645	15.84	9,976	267,760	26.84
	17,599	283,205	16.09	17,157	441,370	25.73
	12,002	192,170	16.01	11,893	302,690	25.45
OteroOuray	10,954	183,735	16.77	10,805	287,170	26.58
	7,167	114,245	15.94	7,085	182,800	25.80
ParkPhillipsPitkinProwersPueblo	14,005	259,620	18.54	12,679	378,130	29.82
	4,158	68,565	16.49	3,666	101,430	27.67
	5,636	91,815	16.29	5,090	140,200	27.54
	19,597	302,160	15.38	16,564	423,951	25.58
	19,091	324,305	16.99	20,620	549,405	26.64
Rio Blanco	30,845	490,920	15.92	30,140	795,170	26.38
Rio Grande	8,437	131,865	15.63	9,271	235,490	25.40
Routt	29,595	517,080	17.47	28,913	813,470	28.13
SaguacheSan JuanSan MiguelSan MiguelSedgwickSummit	23,184	359,184	15.49	25,316	662,728	26.18
	236	3,555	15.06	195	4,983	25.55
	5,883	94,675	16.09	5,471	139,900	25.57
	5,267	92,780	17.62	5,945	155,470	26.15
	3,073	58,155	18.92	3,021	77,930	25.80
Teller	4,711	75,815	16.09	4,400	131,965	29.99
Washington	25,078	387,211	15.44	23,510	599,031	25.48
Weld	27,440	454,360	16.56	25,336	680,620	26.86
Yuma	31,579	492,200	15.59	31,954	820,960	25.69
State	892,229	\$14,830,237	\$16.62	864,846	\$23,119,472	\$26.73

# DAIRY CATTLE IN COLORADO, 1931 AND 1932 (From Reports of County Assessors to State Tax Commission)

		1932			1931	
COUNTY	Number	Assessed Value	Average Per Head	Number	Assessed Value	Average Per Head
AdamsAlamosaArapahoeArapahoeArapahoeArapahoeArapahoeArapahoeArapahoeArapahoeArapahoeArapahoeArapahoeArapahoeArapahoeArapahoeArapahoeArapahoeArapahoeArapahoeArapahoe	7,110	\$ 195,690	\$27.52	6,661	\$ 270,525	\$40.61
	1,174	31,895	27.17	1,116	48,775	43.71
	4,770	141,770	29.72	4,511	204,115	45.25
	828	25,070	30.28	806	40,380	50.10
3aca	1,645	34,686	21.09	1,759	55,981	31.83
3ent	1,592	41,880	26.31	1,616	59,010	36.52
3oulder	6,215	157,650	25.37	5,774	211,320	36.60
Chaffee   Cheyenne   Cheyenne   Cheyenne   Cheyenne   Cheyenge   827	24,705	29.87	864	31,075	35.97	
	930	18,550	19.95	978	29,690	30.36
	67	2,540	37.91	71	3,260	40.92
	1,830	55,020	30.07	1,749	73,675	42.12
	462	11,535	24.97	225	11,190	49.73
	1,200	31,595	26.33	1,230	47,200	38.37
	893	23,180	25.95	808	34,170	42.29
)elta	5,023	133,005	26.48	4,899	197,190	40.25
	599	20,750	34.64	337	17,410	51.66
	199	4,750	23.87	172	6,295	36.60
	4,439	133,460	30.07	4,541	229,735	50.59
lagle	1,218	36,540	30.00	1,210	48,400	40.00
Blbert	5,093	153,135	30.07	3,845	155,000	40.31
B Paso	10,008	238,400	23.82	8,153	310,020	38.03
remont	1,324	34,771	26.26	1,436	64,865	45.17
Jarfield	3,640	111,345	30.59	3,481	158,200	45.45
Jilpin	44	1,305	29.66	38	1,600	42.11
Jrand	1,220	24,490	20.07	1,307	39,420	30.16
Junnison	1,187	28,580	24.08	1,232	48,955	39.74
Hinsdale	43	1,300	30.23	76	3,080	40.53
	1,634	40,695	24.91	1,667	58,985	35.38
lacksonlefferson	707	21,210	30.00	681	27,240	40.00
	4,944	130,195	26.33	4,672	205,070	43.89
Git Carson	498	14,950	30.02	516	25,800	50.00
	7,600	167,351	22.02	5,083	194,064	38.18
.ake .a Plata .arimer .as Animas .incoln .ogan	185	5,565	30.08	161	8,075	50.16
	2,096	59,765	28.51	2,523	101,640	40.29
	6,835	188,970	27.65	6,230	292,600	46.97
	2,996	84,129	28.08	2,344	101,475	43.29
	2,891	61,350	21.22	3,278	109,550	33.42
	7,605	167,190	21.98	7,349	236,655	32.20
viesa  vioral  viorat  viorat  viontezuma  viortose  viorgan	5,724	172,920	30.21	6,023	253,990	42.17
	82	2,525	30.79	84	3,620	43.10
	1,306	31,160	23.86	1,266	46,090	36.41
	2,922	58,440	20.00	2,767	101,235	36.59
	3,065	82,790	27.01	3,529	132,455	37.53
	6,144	148,490	24.17	5,836	201,960	34.61
Otero	3,579	86,545	24.18	3,232	119,415	36.95
	459	13,065	28.46	479	17,370	36.26
Park Phillips Pitkin Prowers Pueblo	688	21,070	30.63	731	30,350	41.52
	3,086	62,950	20.40	2,992	100,810	33.69
	415	8,300	20.00	442	13,280	30.05
	4,015	86,262	21.48	4,209	138,129	32.82
	4,481	130,845	29.20	4,454	178,470	40.07
Rio Blanco	717	26,720	37.27	719	31,690	44.08
Rio Grande	1,290	45,245	35.07	1,296	57,090	44.05
Routt	3,333	84,840	25.45	3,033	122,330	40.33
Saguache San Juan San Miguel Sedgwick Summit	650	13,580	20.89	681	27,150	39.87
	31	990	31.94	42	1,975	47.02
	679	17,335	25.53	728	28,230	38.78
	2,320	53,560	23.09	2,208	84,850	38.43
	260	7,800	30.00	308	12,320	40.00
Feller	678	21,095	31.11	549	22,730	41.40
Washington	3,398	88,580	26.07	4,157	152,540	36.69
	21,074	585,190	27.77	20,962	774,540	36.95
Yuma	6,046	124,140	20.53	4,361	134,510	30.84
State	178,013	\$4,633,404	\$26.03	168,487	\$6,548,819	\$38.87

### SHEEP IN COLORADO, 1931 AND 1932 (From Reports of County Assessors to State Tax Commission)

COUNTY	1932			1931			
	Number	Assessed Value	Average Per Head	Number	Assessed Value	Average Per Head	
Adams Alamosa Arapahoe Archuleta	2,520	\$ 6,760	\$ 2.68	3,412	\$ 11,965	\$ 3.51	
	12,555	28,110	2.24	13,998	51,980	3.71	
	4,722	10,625	2.25	7,850	27,500	3.50	
	27,770	55,831	2.01	32,765	114,680	3.59	
Baca	7,458	15,350	2.06	7,520	26,320	3.50	
Bent	10,135	20,270	2.00	13,949	48,820	3.50	
Boulder	4,309	9,720	2.26	3,800	13,600	3.58	
Chaffee Cheyenne Clear Creek Conejos Costilla Crowley Custer	4,527 10,424 150 82,334 18,198 7,675 3,829	15,315 20,850 380 167,240 36,405 15,350 7,640	3.38 2.00 2.53 2.03 2.00 2.00 2.00	6,394 9,755 846 85,130 25,150 7,270 4,058	23,185 34,215 2,960 305,725 88,045 25,755 14,210	3.63 3.51 3.50 3.60 3.50 3.54	
Delta Denver	69,009	142,755	2.07	56,435	200,765	3.56	
Dolores	21,640	43,280	2.00	22,559	100,510	4.45	
Douglas	3,012	6,205	2.06	5,980	21,815	3.64	
Eagle	24,445	61,128	2.50	26,721	106,884	4.00	
Elbert	9,801	24,445	2.49	11,320	41,247	3.64	
El Paso	5,311	10,990	2.07	6,657	26,300	3.95	
Fremont	2,615	6,104	2.34	2,850	10,248	3.60	
Garfield	104,832	263,865	2.52	101,097	355,035	3.51	
Gilpin				41	145	3.54	
Grand	10,918	26,495	2.43	13,409	47,755	3.56	
Gunnison	56,445	124,350	2.20	56,534	199,020	3.52	
Hinsdale	3,070	7,675	2.50	4,980	17,430	3.50	
	21,471	47,470	2.21	23,819	84,366	3.64	
Jackson Jefferson	33,265 1,529	66,530 5,850	2.00	29,343 1,705	103,030 6,410	3.51 3.76	
KiowaKit Carson	8,900	18,080	2.03	6,078	21,275	3.50	
	4,163	9,786	2.35	3,511	13,210	3.76	
Lake La Plata Larimer Las Animas Lincoln Logan	250	500	2.00	400	1,400	3.50	
	31,110	62,220	2.00	30,470	106,645	3.50	
	15,577	38,470	2.47	14,794	51,780	3.50	
	81,384	164,772	2.03	82,107	287,365	3.50	
	11,350	24,545	2.16	11,423	40,040	3.51	
	3,042	6,510	2.14	2,711	9,500	3.50	
Mesa Mineral Moffat Montezuma Montrose Montrose	70,748	141,500	2.00	63,470	230,800	3.64	
	11,420	23,835	2.09	13,096	45,870	3.50	
	94,645	189,290	2.00	91,845	329,900	3.59	
	35,512	71,700	2.02	32,364	153,865	4.75	
	76,111	154,275	2.03	74,757	259,900	3.50	
	1,650	3,300	2.00	2,837	9,720	3.43	
OteroOuray	31,321	64,330	2.05	30,079	105,275	3.50	
	17,312	34,624	2.00	14,414	50,450	3.50	
Park Phillips Pitkin Prowers Pueblo	47,068	97,235	2.07	48,903	189,895	3.88	
	334	740	2.21	303	1,115	3.68	
	15,934	34,860	2.19	11,447	40,065	3.50	
	10,390	20,779	2.00	9,101	31,854	3.50	
	10,445	21,085	2.02	10,234	36,530	3.57	
Rio Blanco	70,524	176,060	2.50	71,247	249,450	3.50	
	40,150	80,300	2.00	45,560	159,600	3.50	
	72,027	163,620	2.27	76,165	291,430	3.83	
Saguache San Juan San Miguel Sedgwick Summit	69,233	138,466	2.00	74,361	262,994	3.54	
	9,864	19,729	2.00	10,874	38,061	3.59	
	40,291	82,980	2.06	38,352	134,325	3.56	
	378	755	2.00	437	1,530	3.50	
	1,338	3,010	2.25	2,817	9,862	3.50	
Teller				330	1,170	3.55	
Washington	12,683	25,365	2.00	18,206	64,890	3.56	
Weld	27,457	55,190	2.01	28,518	99,820	3.50	
Yuma	1,943	4,340	2.23	2,117	7,410	3.50	
State	1,488,523	\$3,179,239	\$ 2.13	1,508,675	\$5,446,916	\$ 3.54	

#### SWINE IN COLORADO, 1931 AND 1932 (From Reports of County Assessors to State Tax Commission)

		1932		1931			
COUNTY	Number	Assessed Value	Average Per Head	Number	Assessed Value	Average Per Head	
AdamsAlamosaArapahoeArchuleta	12,766	\$ 60,300	\$ 4.72	11,020	\$ 101,375	\$ 9.20	
	993	6,615	6.66	1,176	13,535	11.51	
	1,982	10,685	5.39	1,890	17,370	9.19	
	498	2,162	4.34	564	3,415	6.05	
Baca Bent Boulder	10,530	36,025	3.42	6,921	53,125	7.68	
	2,244	9,710	4.33	2,550	21,570	8.46	
	1,980	10,810	5.46	1,802	17,590	9.76	
ChaffeeCheyenne	1,080	4,330	4.01	1,277	9,190	7.20	
	3,221	12,040	3.73	3,066	22,685	7.40	
Clear Creek	2,451	14,930	6.09	2,215	25,330	11.44	
	1,175	5,505	4.69	1,800	12,425	6.90	
	2,296	7,755	3.38	1,675	16,470	9.84	
	463	1,726	3.73	394	2,765	7.02	
Delta	2,493	9,865	3.96	2,341	17,280	7.38	
Dolores	100	535	5.35	107	875	8.18	
	1,187	4,865	4.10	833	8,310	9.97	
EagleElbertEl Paso	505	1,779	3.52	506	6,072	12.00	
	7,932	27,370	3.45	4,196	42,439	10.11	
	4,076	18,670	4.58	3,617	31,490	8.21	
Fremont	1,420	6,425	4.52	1,297	10,830	8.35	
Garfield	3,077	14,610	4.75	2,724	23,935	8.79	
GrandGunnison	105	790	7.52	91	900	9.89	
	134	590	4.40	167	1,205	7.22	
Hinsdale	489	2,510	5.13	436	3,480	7.98	
Jackson	40	200	5.00	72	720	10.00	
Jefferson	1,119	5,940	5.31	779	7,795	10.00	
Kiowa	1,101	6,810	6.19	1,198	11,620	9.70	
Kit Carson	20,051	77,842	3.88	15,207	132,752	8.73	
Lake La Plata Larimer Las Animas Lincoln Logan	1,233	5,685	4.61	1,679	12,895	7.68	
	3,237	17,780	5.49	2,619	24,950	9.52	
	1,489	7,946	5.34	1,150	9,828	8.55	
	6,816	27,990	4.11	5,786	49,625	8.58	
	18,000	65,440	3.64	14,000	124,185	8.87	
Mesa Mineral	2,670	17,225	6.70	3,154	29,865	9.47	
Moffat Montezuma Montrose Morgan	813	2,530	3.11	792	7,140	9.02	
	1,896	6,355	3.35	828	7,660	9.25	
	2,245	13,445	5.99	2,812	22,500	8.00	
	8,422	35,920	4.27	7,401	66,180	8.94	
Otero	6,481	23,090	3.56	4,138	35,685	8.62	
	366	915	2.50	220	1,320	6.00	
Park Phillips Pitkin Prowers Pueblo	49	240	4.90	64	485	7.58	
	7,658	30,960	4.04	8,454	75,645	8.95	
	189	825	4.37	220	2,250	10.23	
	8,784	31,416	3.58	5,655	49,544	8.76	
	3,026	10,845	3.58	2,958	21,725	7.34	
Rio Blanco	246	2,250	9.15	298	2,740	9.19	
Rio Grande	1,612	9,432	5.85	2,094	26,360	12.58	
Routt	1,300	6,230	4.79	1,609	14,850	9.23	
Saguache	679	2,186	3,22	835	9,493	11.38	
SedgwickSummit	127	650	5.12	135	1,120	8.30	
	4,587	21,355	4.65	4,563	51,650	11.32	
	40	280	7.00	29	348	12.00	
Teller	86	475	5.52	67	535	7.99	
Washington	15,482	55,475	3.58	13,182	113,535	8.61	
Weld	11,378	58,100	5.11	11,593	114,550	9.88	
Yuma	20,050	77,070	3.84	18,127	159,370	8.79	
State	214,469	\$893,504	\$ 4.17	184,383	\$1,652,581	\$ 8.96	

# FOXES AND GOATS IN COLORADO, 1932 (From Reports of County Assessors to State Tax Commission)

		FOXES, 1932		GOATS, 1932		
COUNTY						
	Number	Assessed Value	Average Per Head	Number	Assessed Value	Average Per Head
Adams	15	\$ 480	\$32.00			
AlamosaArapahoe	54	1,400	25.92	93	\$ 515	\$ 5.54
Archuleta				1,011	1,897	1.88
Baca	39	975	25.00			
BentBoulder	388	9,680	24.95			
Chaffee	10	300	30.00	43	140	3.26
Cheyenne	 10	250			180	
Clear Creek			25.00	18		10.06
Crowley	20	500	25.00	130 13	270 60	2.08 4.62
Custer	60	1,500	25.00	15	30	2.00
Delta				61	195	3.20
Denver Dolores						
Douglas	243	5,575	22.94	545	925	1.70
Eagle	44	1,100	25.00 25.00	4	10	2.50
El Paso	50 788	1,250 19,710	25.01	320	1,870	5.84
Fremont				80	225	2.81
Garfield	134	3,350	25.00			
GilpinGrand	38 20	890 500	23.42 25.00			
Gunnison	79	1,905	24.11	186	275	1.48
Hinsdale	20	500	25.00	243	460	1.89
Jackson	18	360	20.00	4	40	10.00
Jefferson	1,290	31,760	24.62	365	1,405	3.84
Kit Carson	<del>-</del>			57	133	2.33
LakeLa Plata		2,675	25.00	611	635	1.04
Larimer	178	4,450	25.00	46 3,410	140 5.680	3.04 1.67
Las Animas Lincoln				5,410	<b>5,000</b>	
Logan						
Mesa	6	150	25.00	4,950	5,175	1.05
Moffat	20	500	25.00	103	210	2.04 2.03
Montezuma	82 60	2,050 1,550	25.00 25.83	111	225	
Morgan	63	1,590	25.24			
Otero						
Ouray	86	2,100	24.42	41	175	4.27
Phillips						3.00
Pitkin	34	850	25.00	· 10 · 82	30 144	1.76
Pueblo	32	800	25.00	311	1,400	4.50
Rio Blanco	140 146	3,500 3,650	25.00 25.00			
Rio Grande Routt	42	720	17.14			
Saguache						
San Miguel	8	400	50.00			
Sedgwick	30	1,500 100	50.00 25.00			
Summit	100	1,750	17.50	80	60	2.00
Teller		1,100	11.00			
Washington						
Yuma				18	80	2.31
State	4,458	\$110,320	\$24.75	12,906	\$ 22,534	\$ 1.75
Duate	_,			1	,	

#### STATE OF COLORADO

# POULTRY (DOZEN) IN COLORADO, 1931 AND 1932 (From Reports of County Assessors to State Tax Commission)

	1932			1931			
COUNTY	Number	Assessed Value	Average Per Head	Number	Assessed Value	Average Per Head	
AdamsAlamosaArapahoeArchuleta	6,770	\$ 28,480	\$ 4.21	7,958	\$ 42,940	\$ 5.40	
	821	3,780	4.61	782	3,910	5.00	
	7,132	29,705	4.17	7,878	40,095	5.09	
	711	3,874	5.45	698	4,580	6.56	
BacaBentBoulder	5,865	24,725	4.22	6,697	33,935	5.07	
	3,856	15,910	4.13	4,605	23,350	5.07	
	5,863	23,990	4.09	6,279	31,950	5.09	
ChaffeeCheyenneClear CreekConejosCostillaCrowleyCuster	300	1,200	4.00	571	2,865	5.02	
	2,348	9,950	4.28	2,567	13,015	5.07	
	37	150	4.02	59	295	5.00	
	1,064	5,110	4.80	1,150	5,800	5.04	
	727	3,310	4.55	744	3,865	5.19	
	2,384	12,665	5.31	2,854	17,210	6.03	
	552	2,225	4.03	543	2,715	5.00	
Delta	3,381	17,390	5.14	4,174	23,720	5.60	
Dolores Douglas	274	1,370	5.00	250	1,250	5.00	
	1,998	9,065	4.54	2,125	11,465	5.41	
EagleElbertEi Paso	777	3,108	4.00	785	3,970	5.06	
	4,294	18,334	4.27	4,897	24,952	5.10	
	6,468	26,280	4.00	6,880	34,890	5.07	
Fremont	4,766	19,507	4.09	4,800	24,014	5.00	
GarfieldGilpin	2,609	14,540	5.57	3,113	17,185	5.52	
GrandGunnison	314	1,570	5.00	333	1,665	5.00	
	383	1,815	4.74	498	2,625	5.27	
Hinsdale	882	4,245	4.81	1,109	5,565	5.02	
Jackson	112	450	4.02	297	1,480	5.00	
Jefferson	9,947	41,370	4.16	11,560	59,295	5.13	
Kiowa	1,7 <b>41</b>	9,705	5.58	2,770	13,850	5.00	
Kit Carson	8,2 <b>34</b>	35,173	4.27	8,954	47,022	5.25	
Lake La Plata Larimer Las Animas Lincoln Logan	1,917	13,200	6.89	2,525	15,120	5.99	
	7,595	31,150	4.10	8,412	42,060	5.00	
	1,731	8,093	4.68	2,040	10,654	5.22	
	5,740	23,695	4.13	6,248	31,240	5.00	
	9,901	40,770	4.12	10,760	53,800	5.00	
Mesa	7,956	35,715	4.49	10,867	54,335	5.00	
Mineral	59	270	4.58	59	295	5.00	
Moffat	1,328	5,870	4.42	1,362	7,430	5.46	
Montezuma	2,209	10,535	4.77	2,203	11,015	5.00	
Montrose	3,098	14,165	4.57	3,715	18,565	5.00	
Morgan	6,577	27,190	4.13	6,831	35,400	5.18	
Otero	5,558	28,495	5.13	6,442	37,690	5.85	
Ouray	2 <b>75</b>	1,155	4.20	255	1,350	5.30	
Park Phillips Pitkin Prowers Pueblo	530	2,120	4.00	512	2,560	5.00	
	3,884	16,215	4.17	4,744	24,105	5.08	
	231	925	4.00	242	1,210	5.00	
	7,265	33,755	4.65	7,414	41,725	5.63	
	5,845	25,455	4.36	6,260	32,925	5.26	
Rio Blanco	614	3,110	5.07	694	3,490	5.03	
Rio Grande	820	3,280	4.00	683	3,415	5.00	
Routt	2,053	8,940	4.35	2,206	11,030	5.00	
San Juan	643	2,572	4.00	700	3,500	5.00	
San Juan San Miguel Sedgwick Summit	324 1,916 58	1,620 8,100 232	5.00 4.23 4.00	342 2,893 60	1,710 14,780 800	5.00 5.11 5.00	
Teller	201	825	4.10	155	845	5.45	
Washington	8,09 <b>3</b>	34,100	4.21	9,419	49,035	5.21	
Weld	17,588	73,470	4.18	18,134	91,450	5.04	
Yuma	8,207	34,150	4.16	9,936	51,930	5.23	
State	196,826	\$ 858,168	\$ 4.36	222,043	\$1,152,437	\$ 5.19	

# BEES (STANDS) IN COLORADO, 1931 AND 1932 (From Reports of County Assessors to State Tax Commission)

COUNTY		1932		1931			
	Number	Assessed Value	Average Per Stands	Number	Assessed Value	Average Per Stands	
AdamsAlamosaArapahoeArchuleta	1,180 1,173 398	\$ 3,540 3,590 1,195	\$ 3.00 3.06 3.00	2,452 1,847 663	\$ 7,355 5,896 2,015	\$ 3.00 3.19 3.04	
Baca Bent Boulder	1,615 1,743	4,845 5,230	3.00 3.00	2,146 2,445	6,440 7,370	3,04 3.01	
ChaffeeCheyenne	50	150	8.00	90	270	3.00	
Conejos Costilla Crowley Conejos	1,727 45 1,985	5,270 180 5,990	3.05 4.00 3.02	1,927 90 2,490	5,780 270 7,485	3.00 3.00 3.00	
Delta	65 2,581	196 7,740	3.00	53 3,122	160 9,665	3.00	
Denver Dolores Douglas	253	760	8.00	 392	1,175	3.00	
EagleElbertEl Paso	85 20 283	260 65 890	3.06 3.25 3.14	120 77 803	360 255 1,260	3.00 3.31 4.16	
Fremont	825	1,255	3.86	662	1,984	3.00	
Garfield Gilpin Grand	2,894	8,885	3.07	3,808	10,240	3.10	
Gunnison							
Huerfano	19	65	8.42	32	150	4.69	
Jefferson	830	2,495	3.01	1,418	4,405	3.11	
Kit Carson							
La Plata Larimer Las Animas Lincoln	1,692 2,620 359	5,650 7,860 1,077	3.34 3.00 3.00	2,399 2,520 505	7,250 7,560 1,780	3.02 3.00 3.52	
Logan	553	1,660	3.00	728	2,185	3.00	
Mesa Mineral Moffat Montezuma	4,080  36 2,215	12,245 	3.00 3.06 3.00	5,036 	15,110  120 7,925	4.00 3.84 3.00	
Montrose Morgan Otero	4,135 677 3,782	12,415 2,030 11,420	3.00 3.00 8.02	4,160 1,133 4,368	12,480 3,410 13,105	3.01	
OurayPark	283	850	8.00	225	900	4.00	
Phillips Pitkin Prowers Pueblo	26 652 1,180	105 1,968 3,535	4.00 3.02 3.00	1,376 1,422	4,228 4,645	3.07	
Rio BlancoRio GrandeRoutt	311	935	8.00	605	1,816	3.00	
SaguacheSan JuanSan Miguel	120  150	360 550	3.00 3.67	356 	1,070 	3.00 3.67 3.19	
Sedgwick	136 	410	3.02	298	950		
Teller							
Weld	2,528	7,610	8.01	4,144 40	12,490 2 120	3.01	
Yuma	42,806	\$130,036	\$ 8.05	55,194	\$170,229	\$ 3.08	